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Preface

This book is for students preparing for the Writing Test in the Academic Module of the International English
Language Testing Systemn (TELTS), which is administered by the British Council, the University of Cambridge
Local Examinations Syndicate (LWCLES) and TELTS Aunstralia,

The book is aimed at those candidates aiming to achieve a Band Score of 6 or more in the Academic Writing
component in IELTS. The book contains six sections: Section 1 Writing Practice for Task 13 Section 2:
Writing Practice for Task 2, Section 3: Checking and Editing, Section 4: Practice Writing Tests; a Key; and
an Appendix,

All the praphs and the texts in this publication have been created by the author with the exception of the
drawings in Section | Bxercise 20, -

The spelling in the book is British English.
All of the names in the publication are fictitious.

The book may be used as a supplement to A Book for JELTS by McCarter, Easton & Ash, JELTS Reading
Tests by McCarter & Ash, o book on writing by Sam MceCarter, or as a supplement to a courss book, or for
self-study.

S0 that you may repeat the exercises in this book, I would advise you to avoid marking the text.

Sam MeCarter
Turee 22

5 Samn MioCarer v
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Introduction

The IELTS Academic Writing Section
The academic writing test in the IELTS exam lasts fol 60 minutes.

The writing test contains two compulsory tasks, namely Task I and Task 2. In Task 1, you are asked to
describe graphs, bar charts, pie charts and diagrams and in Task 2 you are given an essay title on a fairly
general subject.

Task 1 assesses your ability to analyse data objectively without giving an opinion, whereas Task 2 usually
requires a subjective piece of writing on a fairly general topic. In addition, it is worth noting that the exam is
not testing knowledge of English language, but rather competence in using English. In-other words, it is not
testing memeory. Awareness of this might help reduce some of the problems that many candidates have in the
IELTS exam.

Word length and timing

In the exam, the minimum word limit for Task 1 is 150 words and you are advised 1o spend 20 minutes on
this part of the test, For Task 2, the minimum word limit is 250 words, on which you are advised to spend 40
minutes. In both Tasks, there is no upper word limit.

Candidates frequentiy excesd the minimum amounts by a very wide margin, which creates several problems.
Rather than concentrating on producing a good essay, candidates write beyond what is necessary, thinking
that they will gain extra marks by writing more. This is usually not the case.

It is very important that you aim for the respective word limits, and perhaps write just a little maore, You
could write between 150 and 180 words for Task 1 and 250 and 300 for Task 2. While practising for the
IELTS exam count the number of words you write per line and then work out how many lines you need o
reach the 150¢250 word limite. It may surprise you how little you have to write! You could draw a line
mark the word limits when you are writing your homework. This will help train you 1o keep to the limits and
help you to focus on where you are going and what you are aiming for.

One important reason for writing just a lile more than the word limit is to give yoursell enough time to
check your work for mistakes.

Task 1 or Task 2 first? Students frequently ask whether they should do Task 1 first or Task 2. This obviously
depends on the individual. It is probably wise, however, o do the shorter task first as then you have the
satisfaction of having completed one task.

Note that the value of the marks given to each Task is reflected in the time. Task 2 carries twice the number
of marks as Task 1.

Note also that you cannot go below the waord limits as this will probably affect your score band.

5 Sam MoCartir
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Aim of the publication

The aim of this book is to help make stodents flexible and competent in their writing so that they can write
on any subject in the exam. There are many texts in the book, both essays and paragraphs, but rather than
leamn these by heart it is better if you can learn the mechanisms, so you can apply them in any situation.

Contents of the book

Section | contains 20 practice exercises for Task 1, which gim to make you more flexible when you are
writing under pressure. Section 2 contains 25 exercises aimed =t increasing your flexibility in writing for
Task 2, focusing first on connections within the sentence, then between sentences and then in a paragraph.
Section 3 contains a number of exercises on checking and editing. These are skills often neglected by candidates
in the exam, OFf the 20 minutes for Task | and the 40 minutes for task 2, you should be leave yourself two or

phepga sriafas e .nn..'\-l-l l'n.-r!l.r ) .rli'lu:l.ﬂﬁ' ﬂn-'l welif v wonrl Thie § IS oo Fomon apibves v b Ll st ssiera sbunecas
e e llllllul.w A e BARNE YUl Wihib. diiis RiLie: Beoalin H‘ll" J-uu St PRk WieE Goeivs

| 507250 words.

The fourth section contains 10 practice writing tests, some of which have sample answers in the Key. In
somme cuses, there are several sample answers for & task with different possible scores.

The last Section contzins the Key and the Appendix contains an example of the answer sheet which is used
in the exam.

Model and sample answers for the Writing Tesis

Many students preparing for the IELTS examination learn model or sample answers by heart. They then go
inte the exam and either re-produce these answers, usually with lots of mistake, or they try o (10 theny into
their essays. Some students leam, for example, a model about technology and then try 1o fit it into o simikr,
but ditferent question in the exam; or do not even bather 1o try to fititin, they just regurgitate it. Unfortunasely,
with the mistukes and the fact that the answer does not quite fit, candidates end wp with a score lower than
they are capable of achieving,

It is bemer to learn the mechanisms that will increase your competence and flexibility in writing and use the
maodels or samples as standards against which you can messure your own writing.

B _ & Sam MeCarter
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Section 1

Writing Practice for Task 1

£ Bam Melaner
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Exercise 1: language for graphs
This exercise focuses on some basic language, which you need to describe graphs. Look at the grapl
below, which shows the number of visitors to Tabard Towers Theme Park each month last vear, Followin)

the graph, there are 15 statements about the data. Decide which sentences are tree or false according to th
diagram, More than one sentence may describe the same data,

Mode that the sentences are not in any particular order and that they do not form a full exe

Tabard Towers Theme Park
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Exercise 2: graph jumble

This exercise gives you more practice with basic language for graphs. Read the text below carefully. Then look at the
10 mini line graphs A - J and decide the sequence of the graphs. Note that there are 11 mini graphs in the sequence
and (hat there is one mini graph which you wifl not use. You may use any graph more than once. The first graph in
the sequence is A,

elimb I.l. :

. et 3._“-3 .‘F?":'.- 5 .. ol
s =LARTISE T
(iR, £ 5
1] yafan o
s

T wip . WSy "

400 -
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100 4

' & Samy McCarior
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Exercise 3: missing data

In arder to understand how to interpret data in a graph or chart, you need to be able to interact wi
diagram. The exercise with the bar chart below will help you to do so.

The bar chart below shows the number of houses built per decade in two neighbouring towns, Farkl
and Newtown, during the last century, Look at the chart and then study the text which follows.
information (A-S) has been left out of the text. Can you add it in the correct place? You may use eact
once only. '

Examples: 1. C 2. Q

The number of houses built per decade in the towns of
Farkletown and Newtown over the last century

380
360
340 i
320 “lon aRAT

ggg aae o
gl - v

240
220
200
180
160
140
120
100

Sy
Fre s Herks

Mumber of Houses

s

g ULk b
Pora

60

-

o33

1900 1810 1920 1930 1840 1950 1960 1970 1880 1-990
Decades
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The bar chart shows the number of houses built per decade in two villages, Farkletown and
Newtown, in the last century.

Orverall, the number of houses that were erecled in Farkletown exceeded the quantity
constructed in Newtown. The trend for the former was decidedly upwards, with Farkletown
experiencing a steady rise from ___" 1 inthe first 2 of the century, to
just under 120 during the Thirties. 3 . new house construction in Farkletown

remained constant atjust under 4 This is in sharp contrast to ___5 of
the century when the number of houses that went up in Farkletown I;log‘. first to i

and then to 7 .

House building in Mewtown, by comparison, was much more 8 . In the
9 of the century, more houses were erected in Newtown than in Farkletown,
Dwring the 10 , however, construction declined to 11 . Orver the next
12 . house numbers rose steadily, only to drop _____13 in the
14 . There was then a dramatic surge in the 15 with 16
being buoilt. While 17 saw house building in Newtown plummeting to
18 , in the 90s the number of new houses rocketed to 270, 19 on the
previous decade.

+ evected = I:;;,mﬂ’?‘ 2 e AVl ioe, |

e o .

19
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Exercise 4: interpretation guestionnaire
Drata, which are presented in a more complex form, tend to make students panic. However, when you realise
that everything has a pattern, you can learn (o control this panic. Look at the chart below and answer the

questions, which follow,

The bar chart describes the results of a survey carried out on a sample of 1,000 adulis aged 25+ 1o assess
what makes modern life siressful.

Factors that eause stress in modern day life

.

704"

60

30+

40

Yo

What malkes the nature of the presentation of the data different from a graph?
Wht is the relationship between the borizontal and vertical axes?

Why does the scale only go up to 80 per cent?

What possible groups could you put the factors into?

Why would you use these groupings?

How would you compare Moving howse with the other factors?

How would you compare Problems with neighbours with the other factors?
What other synonyms could you use for the word factors?

REIENYTY PR

3 T B Ssmias
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9. Look at the following sentences:

a)  Worries about own future cited by just less than 20% of those sampled as a contributing fuctor
I SIress,

b)  Thirty percent of the sample gave Work related worries a factor contributing to their stress,
¢l Acconding to the bar chari, Getting to work induced siress in 40 per cent of sampled.

What is missing in each sentence?
10, What are the differences between the three sentences below?

al  According to the bar chart, 30% of thoae questioned cite worries about the future of thelr chifdren
s @ Cause af Siress.

by According ro the bar chart, worries about the future of their children caused stresy to 30% of
those questioned.

o) According to the bar chart, 30% of the sample suffered siress ar a result of concerns abou! the
freture of their children,

1. Complete the following sentence:

According fo just under 30% of the sample, concerns about thelr children’s future

12, 'When you describe ber charts like this, what makes them more difficult to describe than graphs?

e A :1
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Exercise 5: which month?

This exercise also aims to make vou look carefully at data. The chant below shows the number of vis
each month to two exhibitions, namely an exhibition on Modern Sculpture and one on 20th Century Ephen
over the past year. Below the chart, llrerve:_aje [§ semtences. In each sentence, the months have been omi

S Ep—— i | PRI B L wagerery = me

[ ST P, [N — A o N 1. ’ e o —all sl o L
-'_ILLLH.||| LHIC LT Ersd Jing L d.l.ll.ﬂ Hp.l TN TEHALINRES: EAA LEIE ERLA IS, .'ﬁl_ml,;l,;b.

Visitors to two exhibitions

160 1
140 -
120 4
100 +
[75]
—
=
0 -
J F M A M J J A s Q M D
lesii Moderm Sculpture —+— 20th Century Ephemera
Sentences

1. While the number of visitors to the Modem Sculpture Exhibition fell in
75%, attendances at the Ephemera Exhibition rose 50% to 60,000 people.

2 Despite some poor figures from to il et . the attendance trend at
Madern Sculpture Exhibition was upward.

3. Whereas, on the one hand, the number of visitors to the Sculpture Exhibition hoversd ano
the 20 to 25,000 mark from to____ ., atihe Ephemera Exhibition vis

numbers continued to rise.

e e Bl
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& I . . the number of people visiting the Ephemera Exhibition fell hack considerably
before surging to a new peak of 150,000 visitorsin . Atthe Sculpture Exhibition,
. meanwhile, attendances, although erratic, hit a new peak of 150,000 in

5.  Numbers at the Ephemera Exhibifion, despite impressive attendances, ended the year not

e ks tha laxral
TERLeigl oy Laic i e

6.  From o . the number of people visiting the Ephemera Exhibition
monthly increased by 125%, with attendances at the Modem Sculpture Exhibition during
the same period plunging 75% in | _ and then remaining at around the 25,000
mark Lill

7. During . visiior numbers surged at the Modemn Sculpture Exhibition with a

- el Pl v (R —ae .. TR

R = I — ot i B o ae skl PRl . S Ty
L, WILLL a L0 A0 ALDLE BI dl B IR LGl LU DA elield ATRIEHLIUEL.

8. attendances at the Modern Sculpture Exhibition fell back dramatically with
a 40% fall, but by contrast the Ephemera Exhibition witnessed a dramatic turnaround
which lasted through to when visitor numbers hit a peak of 150,000,

9, In the last four months of the year attendances at the Ephemera Exhibition fell off
substantially, whereas the number of people coming to visit the Modern Sculpture

Exhibition, while erratic, climbed o their _ peakin and remained
there in

10, While the visitor numbers at the Ephemera Exhibition plunged by two thirds, from 150,000
to 50,000, between and , the number of visitors to the Modem
Sculpture exhibition rose erratically to more than 150,000,

1. Until o . the trend for the 207 Century Exhibition was upward, but thereafter
visitor numbers fell steeply.

 Sam McCacter 23
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Exercise 6: comparison - no trends

The dlata in this exercise are presented in a way which is more like Exercise 4 than the other exercises: there
are no dates and no progression. and no trends, The chart shows the results of a survey in percentage terms
comparing the participation in variots home sctivities among young people aged 11 to 16 in four countries.

Study the chart and match the items in the lefi-hand column (1-11), which are in the correct order, with those
on the right (A-K), which are jumbled, in order to create a text, The fiest two items (1 and I}, which continue
the opening sentence, are given to you in bold. The closing part of the text is also given after the two
colummns,

Home activities among young people

==
=
—
1
==
—
—
—T
=%
—
]
===
=
mazm
—T
—
—
=" |
azam
===1
=]
—
—
—_—
=y
—
—F
—
—1

AT ORI

e

MR RO

iE Computer Games 8 Reading I:I_E-i.nard Gamaé L1 Watching TV |

24 & Sam MoCareer
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Jumbled text

The bar charl shews the results of a survey on the number of young people aged 11 - 16in ...

1. Emgiand, Scotland, Treland and Wales
who
2. Computer Games, Reading, Watching TV

3. As can be seen clearly, the most striking
feature of the chart is that in all

4. In England, for example, more young
peaple

5. than any other activity with 20% of young
people participating in Reading,

6. A similar pattern is repeated in Ireland,

7. playing Computer Games is higher

£ at 10%, Board Games at 20% and
Waitching

9. Scotland as well with a 40 per cent
participation rate, but, nnlike

10k 15 greater at 25% as opposed to 20% and
10%:

-«. four countries at under 10% with Watching TV and Board Games equal at 30%.

© Somy Mol aper pLt
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Exercise 7: looking at data with more complex presentation

‘The data in this exercise are presented in a more complex form. However, as in the other exercises, there an
patterns, Look at the figure below and answer the questions, which follow.

The graph below shows the writing activity of four writers throughout their lifetime. The vertical scal:

shows their writing activity and the horizontal scale shows their age. Any writing activity above 50 led t
publication.

Writing activity of four authors

&l

a0

Al

Writing activity

10 -

20 an 40 a0 Gl i &0 a0 100

l—

— — Academic 1 - » - - Academic 2 — - —Novelist —&— Sci-fi writer

(Juestions

At what age did the four writers start writing?

When did the sci-fi writer first have his work published?

What age was the sci-fi writer when he died?

During which periods of his life did the sci-fi writer publish his work?
When did Academic | have his first work published?

What did Academics | and 2 have in common?

Which wriler had the shortest publishing period?

What did Academic 1 have in comemon wilh the sci-fi writer?
What four factors distinguished the novelist from the other three writers?
What possible groups conld you put the four writers inta?

Why would you use these groupings?

eel— ol e Bl L

==

4 £ Sam McCares
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Exercise §: label the diagram

The graph, pie charts and exercise below give you more practice with looking at data, The graph shows the .~
daily sales figures in “000s of euros for three shopping complexes in different parts of the country for the
first 12 days of January 2002, The shopping complexes are called TewkesMart, ThamesMart and FineMart.
Below the graph is a pie chart showing the sales in percentage terms in various departments in one of the
complexes.

Following the charts, there is a text, which describes the data in the diagrams. Use the text 1o label the charts.
You may write vour answers in the table (A - O) below,

E. at three shopping complexas
500 -
450 - R
400 4
350 -
| F00 4 R
'
250 - 3 o
!
o f
200 4 ﬁx. !
F o~ /
150 4 F \?j- _ﬂ
104 4
50
D L] —r T T T T ¥ : L] T T T 1
ist 2nd 3rd 4th Sth 6Gth 7Fth 8th  Sh 10h 71th 12th
Dates
——A —a—B —A— C ]

% Bam MeCarter 27
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SagiesinF. ___ ieTms

Cthers 1. Goods

Ly T
ACAlL

Between 1 and 3" January, sales in each of the three complexes fell back by approximately Rt
per cent, There was, however, a marked improvement on the 4" for ThamesMart, where the figur
rose to 300,000 curos. This advance was followed by five days of quite wild fluctuations witl
takings falling to just over 250,000 euros on the %, ThamesMart, however, still maintained its lead
finishing the period at 350,000 ewros. The sales figures for both TewkesMart and FineMart wen

oy wa| i e u.-- th the former rigine frogmn :-'n.n.nrhil. alee of | '*'u!'l () eveos to absout .:"."'i. TS the end
L] ELALNIS: FFrauin l.I.I'L- FRFL NRRL F 4 l'll'b ‘-' TS, LR A T R RALFLTREE Em A LW W W

of the twelve days. FineMart, by contrast, ended only 50,000 up at 150,000 on 12" January.

The pie chart shows the sales figures in percentage terms for TewkesMart over the period. Electnica
Goods, Computer Hardware and Toys made ip the bulk of the sales with each accounting for 20 pe
cent of the total, Food represented 13% and Clothes came in at 10 per cent. As for Others, the)
represented 17 per cent of the total.

Clearly, the trends For the daily sales in all three shopping complexes were upward over the twelve
day period, albeit by varying degrees.

Complete the table below

A G L s
B H M

C | N

E J O

F _ K

] & S Rrd
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Exercise 9: following the chart

This exercise is the reverse of the previous one, The chart below shows the sales figures in "000s of euros for
three shopping complexes, FinGroup Ltd, Man Lid and Bluebird Lid, in different pants of the country cach

romnth lest year.

Below the diagram there is a text, which describes the data, Look at the chart and read the text through
carefully, You can see that in the text most of the names relating to the three complexes have been omitted,
Use the chart to complete the text.

For example the answer to number | is FinGroup Lid.

Sales figures

1800 —
1600 -
14007
1200)
10080 e

B0

"00s of euros

a0

4

0 -

J J A S 0 N D

BB FinGroup Lid  [———IManltd =X Biuebird Ltd

The zales trends in the three shopping complexes followed very different patterns over the past year with

RN | aml 2 onanupward trend and 3______indecline. Whereasat _____ 4
monthly takings rose over the period by 433%, from approximately 300,000 euros in January to just under
1.6 million euwres in December, those at S climbed only 70% o over 1.5 million euros. For
6 the year began with sales of one million euros, but then they fell back o just aver 100,008
euros in each of the next three months, In May, sales figures at ___ 7 picked up, exceeding
I . but st]l well beloar _ @
InJune, 10 . with a figure of 1.4 million exaros, and _ 1T L owith 750,000 curos, overtook
12 forthe first ime. For the rest of the year 13_ s sales climbed steadily, whereas af
14 the amount of money taken proved rather ematic. Excluding October and November, however,
15 'ssalesoutstripped thoseof _____16___ for most of the period. Bluebird Lid continved its

decline, ending the year with sales of 400,000 in Deccmber.

]

£ Samm Wlet"aner
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Exercise 10: building flexibility

This exercise focuses on increasing your flexibility in using the language for graphs. Look at the chart be
about the number of computers sold at VH Warehouse Lid over a three year period and the sentences, wh
fial by

Rewrite each sentence using the words given. Note that there may be more than one way of rewnting
SENIENCES,

Look at the following example:
In the fowrch gquarter of 1999, sales dropped 1o 6,000 computers.

drop
Tt the fovirch quarier of F999, there was a drop in sales to 6,000 computers.

V H Warehouse Lid
160 -

sy 2ad Qe lpdOtr O Bige  IdQw ledQur 4O lscer  2pdQir 3rd Qir Ao Qur
10ag 000 2L

1. In 2001, personal computer sales fluctuated wildly at ¥V H Warehouse Lid.
In 2001, wild .
2. Dwring the three-vear period, the trend was obviously downward.
During the three-vear period, there
3 Sales picked up again in the first quarter of 2000, rocketing by more than 100%.
| rocketed by more than 100%.
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4 Computer sales improved markedly in the first quarier of 2000 when they surged more than
1.

There __ — with

5. From the first quarter of 2000 through to the first quarter of 2001, the number of computers
eold partarle fall .I"Hr ot lamet 1 000

SAFILE 1.|uu.|.|.'\.-l.1._1' LAl L R b

From the first quarter of 2000 through to the first quarter of 20001, ___ afall

ramer

e

&.  The decline in PC sales during the first three guarters of 1999 was gradual. .

declined

7. The gm;lusl] fall in quarterly computer sales from 14,000 to approximately 6.000 in the first
four quarters was followed by a 3ham increase in the first guarter of 2000 to 12.000.

After falling __

8  Between the first quarter of 2000 through to the first quarter of 2001, the decrease in sales
was at a much slower pace than in 199%.

Between the first quarter of 2000 through to the first quanier of 2001, decreased

Q, Generally speaking, over the period as a whole, the decrease in computer purchases was
significant.
Generally speaking, over the year as a whole, there
10, Inthe third quarter of 2001, the volume of sales jumped dramatically.
In the third quarter of 2001, there

Il Inthe second quarter of 2001, there was a dramatic decline in computer sales to under 2,000
machines, followed by a sudden leap to 8,000 in the third quarter,

Declining in the second quarter of 2000, .
12, In the first quarter of 2000, purchases soared and then fell back again the following month.
After .

B Sem McCarser H
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Exercise 11: projection in the past

The chart below shows the number of passengers on & new ferry link in its first year of operation and the
estimated number of passengers over the same period, You can see that the chart is incomplete. Read the text
fellowing the chart and complete the Jline graph and bar chart

260

e s SC Y
s inle TR
240 5
S i
"y = 4
- [
P PP I AR i F
T Fo L Sy s A
200+,
Lo ey R H 'y -\- L

180 +

140 4.,
120 T

100 4 ig=—"T""

Number of passengers in '000s

J J A = o M D

a C actual nuimbers ——Estimated numbers

The bar chart and graph show the actual number and the estimated number of passengers using a new ferry
link during its first year of operation,

Generally speaking, except for three months in the middle of the year, namely, June to Avgust inclusive, the
aciual number of passengers fell short of projections. While it was forecast that passenger wmbers would |
‘rise gradually from | G60.000 in January to approximateiy |15.000 in April, the actuzl number was $0,000 a
the beginning of the year falling in.equal steps to 60,000 in April. In May, ectusl numbers rose 1o meet
expectations.

From June to August, the actual number of passengers, exceeded expectations, hitting a peak of 170,000 in
August iisell and overshooting the target by 20,000 in each of the three months. in September, numbers
declined, plunging shasply to 60,000, half the figure of 120,000 estimated for the month.

In the last three months of the year, actual numbers were a quarter below projection, but by December they
had exceeded the August peak to stand at 180,000 passengers.

32 2 Sam McCaner
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Exercise 12: compare and conirasi

The table and exercise below give you more practice with the language of comparing and contrasting, The
table shows the average number of telephone calls received in two sections of an office In one working day
from 08.00 until 17.00 hours. The calls were rounded up to multiples of 10 (W00FF0N. Afier the table there is
a pie chart, showing the staffing ratio of the two sections,

Srudy the data bedow carcfully.
MEEREE SRR AT
P Y MR
W OTHTEERE SRR R
I ' R WY
AR SRR MU G
) MR I
JNEE R A ]
IR RS 2 R R
SN A : SR T
MR Oiffice closed
ST SARRETET AR ST B Wl
T SIOGERERET RO N
FECARTAIAT FRRieaY ST R NrSeesn
i MENER BTN
ST ST NI
SRR SR
MRS _ i
M
40 350

Now read the texi below. You can see that the verbs are missing and that there are 21 blank spaces. Put the
verbs from the list on the right into the approprate place. You may use each item from the verb list only
once, Please note that there are more blank spaces than there are verbs so you will have to leave some of the
Spaces empty. Remember to try to avoid repesting words close to cach other.
Please note that the verbs include verbs in the -ing form and past participles.

Percentage of lotsl staff

a7 | e,

=y =

[ Wsesion 4 Cisecticay |
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Two of the verbs have been inserted as examples

Text ' Verbs

The table shows the average number of lelephone calls received
in two sections of an office in one working day from 08.00 wntil
17.00 hours. The calls 1 to multiples of 10 (#0800,
Theplechan _ . . -2 . the staffing ratio of the two sections.

Despita 3 only 45% of the total staff 4
as against 55% for Section A, Section B 5 mare in-

——

coming calls overall 6 at350perday T
in comparizon to 240 for the other section. For example, while
the average number ol calls 8 by Section A
9 zero in the first half-hour 10 betweaen
8 and B.30 am, Section B 1 on average 30 calls.
Moreover, Seclion B 12 its 100th call by 10.30,
whereas 13_____ this point 14 in Section A
until after 11.30.

The anly limes 15 during the day that the number of
in-coming calls 16 by Section A 17 those

18 with by Section B 19 between 8,30

and 9 am and 12.30 and 13.00. By contrast, Section B

20 more calls than Section A in nine of the periods,

in spite of 21 for half an hour between 12.30 and
13.00. .
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Exercise 13: pie charts

The pie charts below show the market share over a decade, of 2 new washing machine introduced by Dyton
in 1990, The bar chart shows the results of a survey on whether customers would consider buying the new
Dyton washing machine over the same period

Market share in 1920 Market share in 1995

g

BMMCLtd ECorr Ltd |-nmmc Lid ECor Lid
LI Dyton 1 Obecalp | DDyion (i Obecaip

Market share in 2000

Popularity Survey

50 1
40 - -
30 -
20 i
10 -
0 =0 : ; .

1990 1995 2000 B MMC Ltd [ Corr Ltd

Years [J Dyton O Obecalp

B Sam MicCaster 35
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Lock at the deseription of the data below. You can see that there are some words and phrases missing, Ad
waords and phrases from the list following the text to compleie the description,

oy I Ve o :_. T _:_'.'.s:_.

Eer SR S
:.-.._._.-_| "-' ,-r-.-"l"j'I .Q. ..::-' \..:- E

1 Th&pmchaﬂ&stmﬂfﬂﬂmﬂmtshmafwashmgmmﬂfﬂmmnmmm&me
. period 1990 to 2000 and the results nfasuwe:,rmsmnlmma[d ﬂﬂl‘lﬂﬂiﬂhll}ﬂngthe
i nawDymnwashmgm&Ehm&ﬂverthesamepam}d Y
' Dmng&ﬂﬁﬁtqufﬂﬂiﬁﬂfﬂiﬂm%ﬂmnﬂmﬂi?ﬂﬂ,gﬁﬂﬁfkﬂf sha{a}!
- percent 60 percent for the MMIC product, 20 for the Corr wash “i‘ﬁﬁ":hiﬁéfhﬂd 18
. for Obecalp .In 1995, however, MM{“Ltdlt&ihrcﬁnﬂia‘mmpeﬁtor& While' Corr .
Ltd and Obecalp Ltd bﬁﬂiuﬂh’ﬁm&ﬂﬂlﬂrmﬂ]ﬂi Ehﬂreh}' ﬂmpﬂmmgepamtm
l!] 1?95 Mmmﬂﬁfﬂﬂmmm ; i

Thﬂbﬂll'ﬁhal.{'t Ehﬂ“’ﬁﬂl&tﬂtﬁnﬁunmiﬂhmﬂtﬁpﬂpu]ml}?mmgmﬁﬁﬂhy&ﬂ, nﬁmg
Smtggimmpﬁmﬁ&mywjﬂm etk
“"-"Itﬂcir:arﬁ*nmﬂ]ﬂdﬂ[&ﬂﬂtﬁlﬁ&ﬂfﬁwﬂmﬂumqhmgmm&mwemmﬂww”:

ettt AT :
. ﬂ*’ﬂ’ﬂlﬂpemd. AR T Sl TR R S
i3 'r_-- ; S R R R B R e e : - ’

Vord and phrase list

made by

on whether
lost ground fo
stood at

exceeded 1. respectively
at the expense of 11. that of

captured
arise of

as opposed to

i

oo sl mLh

k1 ' 0 Sam MoCar
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Exercise 14: language jigsaw

The bar chart below shows the resulis of & survey on the general public’s attitude towards different professions.

after the chart, there is a sample text, which has been broken up into sections A - R in paragraph 1 and
sections 3 — Y in paragraph 2. The parts of et have then been jumbled. The beginning of the text has been
done for you as an exampie.

Put ihe jurmbied items in the correct order 1o create the text. The punctuaticn and the grammar will help you.

opularity of different professions

=2 I8 BB o SR LRl Wl =

Actors Actresses

Pop Stars

Computer Engineers

Politicians
Traffic Wardens

Bankers

Foothallers

Estate Agents

Murses

Daoctors

Teachers

20 100 0 10 200 30 40 50 60 0 B0 80

© S8m MeCaner £
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Paragraph 1
The bar chari shows the result of a survey on the general public’s ...

-

s

mm g N0 W

followed closely

each with a score of %0.

The second most popular occupation
and those which have a negative rating.
attitude towards different professions.
o two categories,

Footballers and Computer Engineers,
The first group is the

The jobs can be divided

by Actors/Actresses and Pop Stars,

K. Daoctors are slightly more popular ths
Teachers at 48 and 45% respectively,
among which the two most popular a
is Nurses with 70,

who each have a positive rating

"o ZEZ ™

namely those which have a positive

ol g

=

larger of the two with seven oceupatio

Sl s i ]_:*- AT

3
e P

Estate Agents are rated more

with a score of minus 20.
Traffic Wardens are the most
unpopular

-
b

[l
=] 2

S s Tl e
o '-r'.'!'fé-"l?;'-"e.'.: R L e KEEEY

W. whereas Bankers, by contrast, are the k

X. unpopular, with a score of minus 5.

Y  unpopular than Politicians at minus 1!
and 10 respectively,

O Bam MeC
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Exercise 15: prediction choices

This exercise gives you practice with the future and avoiding repetition, Study the chart below, which shows
two forecasts about the yearly growth in the number of people in Reamington, a new, dormitory town.

Forecasts for population growth

5000-
A0
w3000
T 2000
& =3
§ =
I'= =
.

1000 4

i

i

RifibA

LN

§

-]

s " :I..-: L T e ey i A e LA T
E elelfil o

= .

2009 2010 2011 2012 2013 2014 2015 2006 2017 2018

& Local Authority OF4casts Lid

Below is the first sentence of a description of the bar chart,

The chart shows two predictions of population growth in the dormitory town of Reamington.one by
the local authority and the other by an independent firm of forecasters, called Fcasts Lid,

Choose an alternative to continue the text at each stage below. As you make vour choices, try to avoid
repetition, Remember repetition inchides using the same structures and viocabulary close together and phrases
in the same position, especially at the beginning of sentences.

The first answer is marked for yvou in italics. Why is it the best answer?

© Sam McCarter -
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I+ % FS

Daw

A

= O

il

Aceording 1o the former, from 2007 wniil
20 inclusive,

According to the predictions of the local
authority, from 2007 up to and including
2009,

From 2007 until 2009, the prediction is that
The former shows thas

the town is expected 1o experience negative
population growin

Reamington will lose people

numbers will deop down

Reamington's population is in for 2 fall

with a decline of 1000 people in 2007 and
again in 2008

and the population is expected to
experience @ decling by 1000 people in
2007 and 1 2008

and there is expected (o be negative growth
in the population of 1000 people in 2007
and 2008

and the decline is expected to be 1000
people in 2007 and in 2008

and after that there will be a tinier decline
of 500 people in 2009,

and after that the decline will be smalier
at 500 people in 2009,

and a drop of 500 people in 2009,
followed by a smaller drop of 500 in 2009,

Fram 20180, the prediction is that

[t 15 forecast that, from 20010 onwards,
From 2010 opwards, there 1z a prediction
that

It is also expected that

the number of people will grow up
population growth will enter positive
terribory

things will go up

the growth trend will be on the way ap

and then it will rfise from approximately
1000 people in 2010 to almost 4000 in the
year 2018,

guadrupling to almwost 4000 people in the
vear 2018 from 1,000 in 2010

10,

H.

]

PO E e

(=

7

L

ielfsdinhluc.vn

with a rise of approximately 1000 people
in 2010 to almost 4000 in the vear 2018,
and it 15 forecast that the rise will be
approzimately 1M people in 2010 to
almost 4000 by the year 2018,

Fdcasis Lid, by contrast, predict

F4casts Lid, by contrast, have forecest
Fdcasts Lid, on the conlrary, say

As regards Fdcasts Lid, their prediction
15

the people of Reamington will expand
an expansion in the population of
Feamington

the papulstion growth of Reamington will
be expanding

the population of Reamington will be on
ihe up '

nising by 2500 people in 2007,

initially at the spesd of 2500 people in
20007,

going up by 2500 people in 2007,

by 2500 people in 2007,

increasing to 5000 i the year 2000,
rising o 3000 an 2010,

after which it will increase to 3000 in the
year 2000,

and then there will be a rise 1o 3000 in the
year 2010

However, after that Reamington’s growth
will slow down,

Thercafter, however, the population
growth in Reamington is anticipated to be
slower,

Thereafter, however, growth is anticipated
to slacken a bit,

However, the population is predicted to
slow up,

to drop in stages (0 500 ve yple by the year
2018

with drops in stages to 500 people by the
vear 2018,

with droppings in stages to 500 people by
the vear 2018,

and fall in stages o 500 people by the year
28,

£ Sy MoCarter
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Exercise 16: something wrong with the prediction

This exercise also looks at talking about the future, Study the bar chart below, which shows the profits for
three companies for next vear,

Profit projection for next year
1200 -

1000

600 -

400 -

'000s of euros

3

=200 -

-400 -

B Finenet Lid B Marifirst Ltd [0 Tardy Ltd

Text

Mow look at the text below, There is something wrong with the description - none of the mistakes
are connected with grammar or spelling, but with vocabulary and data. How many can you find?
The first one is the word preswmed in line 1. It is not suitable here — predicted, perhaps?

The bar chart shows the presumed profits for next year in thousands of dollars for three companies,
twa of which will not start trading until May,

Tardy's profits are forecast to come in at the 200,000 level in January and are then expected to
remain there until May, following which it is estimated that they will shoot up twofold in one
month, to 700,000 euros in June. After a modest rise in May to 800,000 euros, profits are set to
remain erratic for the rest of the year.

-—

& Sam MoCarter 41
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Similarly, it is projected that the profit for Martfirst will operate at a loss of 100,000 euros in
first month of trade in January. Thereafter, however, there is anticipated to be a steady increas
profits, which will climb at the rate of 100,000 euros per month until they reach 800,000 euro
August, Profits will then remain steady for the rest of the year.

As :n::Ha.rux Finenet Lid, @ 1083 af 300,000 eu

from May to October, profits will climb quickly
in the subsequent three months,

5 first o rranth nFlrnHlnu hllr [}
A1, L

| rillion euros, before falling back considers

Lt =4
PR ﬂ

L]

As can be seen, the overall trends for the three companies are upward.

The bar chart below shows the results of *360-degree testing’ as part of a performance assessment Ca
out by colleagues and subordinates of four managers, Those who participated in the assessment were a3
1o rate the performance of the four managers on a percentage scale, Below the chart is a model answer

100 -
Management assessment

804 —

T

50 < .
) e

g

"y 4 fﬁ Yy

B Mr Forrest O] Mrs Monroe [l Mrs Whitbread Bl Mr Chandra

423 1 Sam Me
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Model answer

Sy the chart &s quickly as you can and add the 1elevant percentages to the model below.

The bar chart shows the results of a performance assessme by the colleagues
= cniFAardinstas  af fa0 0 panasaare o HRa nnr-n.--.-uu-.q..«.-.; [P SiTance S Y R JE—.
ALY Sl i Eiisra W T il ol el . il e as55a855Ment, ||= PENOFmance o e 1oL

managers was rated on a percentage scale.

One of the most striking features of the chart is the ratings scored by Mr Chandra,

who consistently achieved {(1)_ . or above In all categories with
the hghesl being the Aﬂf!x{v fo mw;rmndmspacrat (2)_ and the
lowast, Management fair, at ______ (3)_____ . Mr Chandra also came oul

top in seven out of the eight categories

IMr Fomrest, however, was at the opposite end of the scale. Out of the eight categories,

he scored only (4) in five, managing to gain higher ratings in

only three categories, of which the top was (5) for General

gopearance, For the other two, Puncivalfvand Sialf management, Mr Forrest gained
(6) and (7) respectively.

Of the other two managers, Mrs Monroe's scores ranged from (B) .
her highest rating, for Funcfuaiifyto (9) for General Appearance,
the lowest of all four managers in this category. Likewise, Mrs Whitbread scored in
the range of {10)___ for Organisational abiity to

(11) for Staff management

EEL——

Guided writing

Mow without looking at the model, complete in your own words the text below and then compare it with the
KEY.

iy _ the results of a performance assessment by the colleagues and subordinates
of four managers. In the assessment, the performance of the four managers was
i (2

(3 of the chart is the ratings scored by Mr Chandra, who consistently achieved
T0% or above in all categories (4) being the Ability to command respect at 90%
and the lowest, Management fair, at 7T0%. Mr Chandra {5y inseven out of the
eight categories

Mr Forrest, however, was at the (6) : q’?j the mght categorics,
he scored only 10% in five, (8) higher ratings in only three categories, of which
the top was 50% for General appearance. For the othar two, Punctuality and Staff management,
Mr Forrest (9 30% and 15%, (10)

Of the other two managers, Mrs Monroe's scores : (11} from B0%:, her highest
tating, for Punciuality to 5% for General Appearance, the lowest of all four managers in this
Category. (12)_ . Mrs Whitbread scored in the range of 70% for Orpanisational
abiliry to 30% for Staff management.

—_—

B Bam Mooy a%
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Exercise 18: describe the changes

Thiy exercise gives you practice with describing changes and with flexibility in your language, but this time
with diagrams rather than chans, Diagram A below shows Sorrel Cottage and the surrounding land in [980.

Diggram B shows the changes that took place from 1980 10 2002 followed by a Key.

Diagram A: Serrel Cottage and Garden 1980
__) "
-Cottage
Iy - I

Crarden

[T *"I"}*“"E'.'_'

‘\h.
e
i l\'!
i

|

|
I {
i A
I

.
- I3
Laseraareriven | .
otad
L L L L L LT



http://ieltsdinhluc.vn/

; DOL ENGLiSH ieltsdinhluc.vn

Model texi

Diagrams A and B show the changes that m&gﬁ‘ﬂiﬁ“m' Coitage between 1930 and 2002. The garden
was considerably enlarged by the purchase of ¥o plots of land: one adjacent to the southemn border, which
was bought in 1983 and which is almost equal in size to the original garden; and the other plot on the eastern
border, which was bought in 1985, and which effectively doubled the area of the garden apain.

Between 966 and 1988, an extension was built on to the southemn side of the collage and in the following
year an orchard was plapied in the northern part of the land acquired in 1985, The year 1990 saw vwo
additions to the mgp:lﬁf‘i’ﬁ'fginu:nﬁgiul garden and a vegetable garden om the other side of the garden
from the orchard. A'!i.ﬁe._nl trees was planted along the southern edge of the garden and another one above
the orchard in 1996,

Between 2000 and 2001, &n open-air swimming pool was built in the land purchased in 1983,

Textual transformation

Now use the text above 1o help you complete the text below, while making as few changes as
possible to the original text. For example, for |:_lmlhul" I below the answer is: of changes took place.

15
-
y § 19k

1"!?'. . : :1 ..-__. = . i .“
e B.’.i%i‘.:%m S
s
F :'IH;I T '

© Sam MeCarter 43
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Exercise 19: a table

Look at the table below, which shows the percentage participation of women in senior management in three
companies between 1960 and the year 2000, You can see that some of the data are missing. Read the
description, which follows the table, and §ill in the missing information.

-5 ——
113 e o Bk J_-\.'._._ er,

: il i
LT q.:,%'-‘; 1,- il ‘.-_! "1|.

v ﬂgﬁf?'-' ﬁ?q".'_ai} f\-....:-;-\.:& il
jﬁ-_.:i:;&; %‘h\. ."""' _'.E-:é.".“'h"‘".- PR .' "

-“i

s

_ézﬂv*w:ﬁ%w

The table shows the percentage of women in senior management positions in three companies from 1960 to
2040,

While more women were in senior positions at Eastman Ltd than the other two companies in 1960
at 15 %, the trend was fairly erratic with a 2% drop to 13% in 1963, followed by a rise of 1% five
years later. In 1975, women held 7% more top management jobs than in 1970. After a slight drop
back to 19% in 1985, by 2000 25% of top posts were filled by women.

By contrast, at Macrohard Lid women fared much better. In 1960, 2% of senior posts were occupied
by women with no change five years on. By 1970, the figure had increased to 13%, doubling to 26
per cent in 1975, Ten years afterwards, there was a 6% increase in female senior management jobs
with a near twofold jump in 2000 to stand at 63%, the highest for the three companies.

The situation was lesdremarkable at Barnes Lid then the other two firms except for the year 2000.
In 1960, the percentage of senior posts held by women was 8% climbing at the rate of 2% in each
subsequent period until 19835, afier which it leapt to 45%

From the data, it is clear that women dominated senior posts at Macrohard by 2000

46 & Sam MeCarer
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Exercise 20: a life-cycle

Look at the text and the jumbled pictures (A-J) below about the life-cycle of a ladybird, In the texi, there are
seven places where you have to choose one correct alternative to continue the text. Once you have done this,
put the jumbled pictures in the order they are memtioned in the text. The first picture is I.

The dia-gnrnr.':

T e w
e e s L B R g e
D A A A e e T e e 2 e T

approximately two hours. The female ladybird ...

About a week after the ladybird has laid its eggs, depending on the temperature they became darker and

larvae hatch.

! &':_:.:Lir-:_.ﬁ.{.".\_,:p?r...#. W
%ﬁéﬂ&?ﬁhumr ﬁf
i

B new-
W.:&l ':-":-::P :. ]
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The larvae feed on aphids, which are their favourite prey. After & period of ...

s
S ﬁﬁﬁf%ﬁ

CE Ty |

e .-'.-.‘-'"':;"..' R R e P 3
554:&”3 A woskc o 70 st ady
ez outofs
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A. Eggs darken B. Pupa C The new-born larva

A

F. Adult ladybird

& Sam McCarber
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Section 2
Writing Practice for Task 2
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Exercise 1: the functions of sentences

When you reach a certain stage in writing you need to learn not just about words, but about what sentences
mean and how they are connected. Of course, people who write fluently are not conscious of this. However,
if you want o learn to be a competent writer, you need to know how information and ideas fit together.
Gireater awareness of the meaning of sentences may at first slow you down. This is & natural process, which
occurs in learning any skill. Gradually, however, your fluency, flexibility and competence in writing will
TCTEESE.

In this exercise, you are going to look at the meaning of individual sentences. Read the sentences below,
each of which contains one idea, and choose the function of each seatence from the alternatives given. Note
that in some cases there may be more than one correct answer.

If you find the cxercise difficult, check your answers with the Key and try the exercise again later.

The functions of three exampies have been marked for you in italics,

—

F-0

KL

L i

k]

k -5 ]
it g r
-

‘lm -\.;_;#‘} ..;|.||_ L 11 . Sy . :

el e ek (B e

e l-...-_!'i L 5 ___ - '
T A A e e e ' TS

MNow choose the appropriate function(s) for each of the sentences below.

-

Copper is a good conductor of electricity,
(a) a fact (b) an opinion () a proposal (d) a reservation
2. The new moterway may be built in the near future,
{a) a fact (b) a possibility (¢} permizsion (d) a solution
3. The new motorway can be built in the near future.
{a) a fact {b) & possibility {c) permission (d) 4 solution
4. Anew bypass around the town should be built underground.
(a) a fact (b) a possibility (c) permission (d) a suggestion
5. Inthe UK, the population growth is set to rémain flat.
() an opinion (b) a possibility (¢) a prediction (d) a result
6. Population growth is increasing in most countries.
(a} a reservation (b) a measure {¢) a fact (d) a gencral statement
7. The measure cannot be implemented,
() an opinion (k) an impossibility (¢) a measure (d) a result
8. The climate changes in the future should make politicians sit up and take notice.
{2} a fact (b) a possibility (c) an expectation (d) a measure
g, There oughtn't to be any problems after this,
{a} a fact (b) a possibility (c) a probability (d) a measure
10, The use of mobile phones while driving should have been banned a long time ago.
(a} & measure (b) a non-fulfilment (c) an improbability (d) a recommendation -
1. Local neighbourhoods could be allowed to employ their own security guards to patrol the streets,
(a) a fact (b) a possibility () a probability (d) an example
12, If only the government had acted sooner.
{a) a measure (b) a regret (c) a probability (d) a proposal

54 0 Bam MeCanter
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They might have increased the chances of winning the prize!

() a fact (b) a possibility (c) a probability (d) a criticism

As a result, the programme will not work.

(a) a result (b} a tentative result (c) a recommendation (d) a conclusion
On the spot fines for hooligans are totally unacceplable. «3lu 2 ..
{2) an opinion (b) a result (£) a tentative result (d) a measure

On the spot fines for hooligans are totally unacceptable o many people.
{a) an opinion () a result (c) a gencral statement (d) a suggestion
Crime rates are imcreasing around the world.

(@) a conclusion (b) a result {c) a general statemment (d) an opinion

The measore shouldn't be implemented. -

{a) an opinion (b) & result () a negative suggestion {d) a reservation

In rich countries, not providing adequate accommodation for all members of society is a criminal act.
{a) an opinion (b) a result {c) a general statement (d) a conclusion

Exercise 2: functions in mere complex sentences

The range of meaning in sentences is very wide, but the way in which you need 1o combine senlences as you
answer Task 2 in the TELTS exam is fairly limited. Look at your own essays, and your friends’. How wide is
the range of functions you use? Do you express each function in the same way each time? You will see that
the information and the ideas are combined with a limited range of functions.

The sentences below combine two ideas in one sentence. Decide what meaning the part of the senlence in
ftalics expresses and choose the approprise function, or functions, from the altemnatives (a-d). Note that
there may be more than one answer in cach case. When you have finished this exercise, compare the sentences

and the functions with the previous exercise.

55
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Exercise 3: more function pairs
This exercise is a development of Exercise 2. Each text below contains two ideas, which are exprassed by
two functions. Some of the ideas are combined in one sentence and others are in two sentences linked
together. Decide what the function of each part of fhe text is. For each text put the functions in order,
When vou have finished this exercise compare the sentemces and the functions with the previous exercise,

Hﬂeﬂmm:hpmuf“naemmcc may have more thas one funciion.

i e e R R R e e
%'.:: i s o ﬂiﬂrﬂ : .515_\5'_'.:1

s

-
T

LTl e h::-“:ﬂ'lj 'ﬁ& ““-c%“ P
L) o Ao ¥ 4
t_e?r@_'\.-.- 3 ._. i

3 5L Lo

e

'.'Ll;f-:'

3
S

."::!

5 .3-'3*:. S

: )mnptm;:-ﬂ{b}ﬂ it @‘a@%ﬁ: ;
4 Am:m;ﬁﬁmﬂﬂhéu?mﬂmmuﬁ{ufi

' R
s a tenta =sult (d)
1% ';;I. _5% \ _._.'!_t- _-" ";;:- T



http://ieltsdinhluc.vn/

; DOL ENGLiSH ieltsdinhluc.vn

'\-“ e T .--'\-'.fr.;'.-f vt
" o)

ﬂ@mthmhhmhﬂaMcm:_'

=

5 -,.;ti?}:a'_ﬁ._. bes

A T i :

\ )
S i e,
. {

. ey _.-I.:_.;.‘
'ﬂlﬂnilmbg'ﬂf ym:gpmplei awm}g i
- there s sl a serious shortage of skilled people, 0 n T e
(a) s contrast (b) a concession () a resutt (d) amauﬂmﬁf“ﬁ 2 proba -
IEF Hmmgmmmmgmmwwmam \zei-a_f"mtmm” Sr:yif{ hié i
ﬂ'l&m 1 ‘ i b LS

'l.-!-'

iy llﬂmmﬂﬂhmmumm ] ‘
- (a) 4 contrast (b) an effect (c) & resul
-_::*--]2 J*M'm'eﬂmt thm:h:[ﬂ] 111 -JJ‘!: ¢ 1 SN
mmﬂtﬂﬂﬂﬂlﬁﬁﬂ f ! -"‘:'“3 :-ﬂ'.'- :
. {8)a renson (b} & catise (c) an expectation (d) an o
13 T]ii'i'lﬂ‘ﬁ']llhﬂmnﬂdmblﬂ "'*ﬁum -
{ﬂ}ﬂmm(h}aﬂ el ‘_-‘ cha s
14 The munbers of people on anti-degn

ﬁmm‘!ﬂm sﬂi'n*\u.u-'nr_'r.r’l.uﬂrtlI-u.lnlrall'l'I-|rEM ks

AL AT adia

{a}an Eﬂplmuhnn () 5 g
., The

i

Sam MeCarer 57


http://ieltsdinhluc.vn/

; DOL ENGLiSH ieltsdinhluc.vn

Exercise 4: common or logical 9. many workers will lose their jobs
combinations L sothat they are preserved for future generations
J« $§g}f%~:{re LI. because it is now much too expensive for
. ﬁim?ﬁuﬁ'_}ltéﬂﬁ certain key workers o afford
M@?@gﬁtﬁ@ﬁﬁr - tdaether 12, nothing whatsoever is being done

13, knowing the extent of the problem

14, thus decreasing the over-emphasis on academic
subjects

15. areas of the world like Antarctica should be
left untouched

16, in fact membership has gone up quite

impressively
I7. unless productivity is increased
18, imdustrial owtput will increase dramatically
19, we should all be avoiding junk food
20, although the sitwation is desperate
21. the sttuation needs to be tackled now

22, 1t is obvious that in

" 1
— BLEL] SECIL EEEEE

encourdged

Lo if more money is invested in  management
fraining

2. another possibility would be to make practical
subjects like woodwork compulsory in all
schools

3. the government needs to take action against
football hooliganism soon

4. the costof housing for essential workers living
in city centres cught Lo be subsidised

otherwise it will deteriorate rapidly

6. but it must not be confused with change for
change's sake

1. being more aware of the benefits of a healthy
diet than ever before

8. the number of people joining teaching unions
has increased

L1 & Sam McCarter
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Exercise 5: flexibility in combining sentences

s
Most stndenis of writing can tell you many connecting words, but they are limited in their use of these
words, or they use the same words again and again without realising it. However, when writing you need to
be as fexible as possible.

hum&muppmpnmmmngmrdsmﬂphuesﬁﬂm the list below into the pairs of sentences, which
follow. Keep the meaning of the sentences in each pair the same. You may use some of the items from the list
more than once and in some cases there may be more than ene answer,

Connector list
i otherwise X although ...ver ... Xk,  in owder to
ii.  muchas ' xi. however XX, 5055 Ot

&0 xi. 8o much so0 #xi.  nevertheless
v,  Oonce Kill. moreover ixil.  while
v.  so... that ... RV, EVER 50 - xalil, despite
vi  although av. 5o that xxiv. Take ... This ...
vil.  therefore avi but xxv. For example
wviil. having ®vil. as well as
ix. as xviii. though

Example:

The answer for 1A is Moreover. The second sentence gives additional information. For 1B, the answeris ar
well ax. Mote the verh in the -ing form afier the preposition,

o - A -
T gf,“i?" o

s

e ik By
= e o el s
e R o
Bt U T "'i?'in- i Ecrease dra
A o T S e e
pribvedsithe Proe M
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Exercise 6: directed connections within sentences

students generally have ideas and information about 2 topéc, but they find it difficult to connect the ideas
together. For example, a writer may have the following iwo pieces of infarmation:

*  The rudes were introduced,
¢  The rules decreased traffic congestion immedigiely.

It is possible to join these in the following ways:
& The riles were introduced and they decreased irgffic congestion immediately.
% The rules were introduced and, ag a result, they decreased traffic congestion immediately,
& The rules were introduced. As a resull, they decreased traffic congestion immediarefy.

Linking information within sentences rather than across sentences is usually quite different. A frequent
way of linking the ideas above is using the verb + ing for the second verb:

¥ The rules were introduced, decreasing traffic congestion immediarely.

B Barn W arter
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The latter part of the sentence is possible, because the two verbs in the original two scatences are in the
same tense and have the same subject, (hher ways that zre common for connecting information and ideas
are:

¥ the use of with + moun instead of a verb & turning verbs into nouns and using the infinitive,
¢ the wse af with + verh + ing ¢ rthe use of relatives

& the use of by + noun &  the use of while/since plus verb + ing

#  the use of by + verb + ing

Mow look at the exercise below and combine the information in each case into one sentence. If you cannot
do a particular sentence, leave it and go on to the next. Then check the Key. The important thing is that you
learn to combine the information this way, Repeat the exercise several times and think about the mechanism
rather than just learning the sentences by heart,

& 3 Ry - i Ly i
e

'l
FE . R

1. The government plans to help poorer countries. It plans to cancel all third world debt, (Remove the
repetition and use by)

2. The rules were introduced. The rules increased congestion immediately. (Put the word Immediately at
the beginning of the sentence)

3. Government officials have constantly been denying charges of corruption. The government officials
have secretly been accepting bribes from businessmen and lobbyists alike, (Use while)

4. The government has plans to boost renewable energy generation. The plans will be announced today.
The plans will be announced by Geofl Healey. This is his first pelicy move since he became envirenment
minister. { Remove the repetition in the first three sentences; then use in and then since + verb + ing)

5. The destruction of historic buildings for whatever reasons is repeilent to many people. It is a crime
against humanity. (Use verb + ing)

6. Charges for entering city centres will be introduced shortly. The charges will raise the cost of motoring,
{Use verb + ing)

7. The local authority is knocking down old tower blocks. The local authority wants to improve the area.
{Remove the repetition and use by)

£ The project is opposed by both big companies and government departments. The project aims to
regenerate all slum areas in the next decade. (Use a relative clause without which/thar or an auxiliary
verh)

9. The decision marks the beginning of real competition in the electricity market. The electricity market
wis a monopoly for more than a hundred years, New rules took effect in January. The rules will allow
ElectCom to license competition. (Use whick/untilfverb + ing)

10. All car companies are now expected (o face stiff competition. This follows a damning report from the
EU Competition Commission. (Use verb + ing)

11. The fares have risen substantially over recent years, The fares put peaple off public transport. (Remove
the repetition and use verb + ing).

12. Companies need to play on their strengrhs. Companies need to put more effort inte successful arcas.
Companies need to reduce investment in failing ventures.

{Remove the repetition, use verb + ing and while + verb « ing).

13. The government could force through the construction of cheap houses for essential workers.

It conld purchase all the brown-field sites in major cities, (Use by + verb + ing or by + noun)

:
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Exercise 7: connections undirected

This exercise gives you further practice in conmecting ideas and information, This time, however, there are
no guidelines about how you should connect the text, Note that there may be more than one way to link the
sentences and you may also be able to think of other ways, which are not in the Key,

1.

14,

i1.

Mr Forest is president of the company. The president has upset the vice president and the directors. He
has proposed to sell the firm to one of their rivals in the field, The sale will allow the president to keep
hiz job, but will remove the other directors.

The drop-in centre offers counselling. The drop-in centre is supported by the local church. The drop-in
centre is 2 lestamment to the povernment’s weakness. The charch s outdoing it in providing contraception.
Mrs Dunn is chairperson of the committee. The chairperson has alarmed othier members. She has bid to
change the constitution of the commitee. The change will allow the chair more powers.

The government plans 1w exiend a proposed renewable energy scheme. It will include development of
all new hydro projects. This plan may upset environmentalists. The environmentalists claim that larger
projects damage eco-sysiems and threaten wildlife,

The government is expected to face stiff opposition to its proposal. [t proposes to han smoking in all
public places. This is for the first time and from the avtumn. It follows a report by health experts. The
report damns present government policy,

The licences to provide the rail service will last 10 years. The licences are intended to help rail companies
to secure financial backing. The rail companies will improve punctuality and the standard of service.

- The government has refused w accept responsibility. The government is trying to smooth things out

behind the scenes

Charges for entering all museums and ant galleries will soon be dropped. This will hopefully lead to an
increase in visitor numbers,

The report stated that hospitals should fighten up their appointimest procedures. This is a proposal that
15 strongly supported by patients and medics.

Some people think that pollution will be reduced. They think recycling materials like botiles
will help. _

The government had plans to boost voting in elections. The plans were announced last week, The plans
were annovnced by the Home Office Minister. He made the announcement immediately after he ook
up office.

—1 - -

;.
=
'EI

Exercise 8: transformation for fexibility 1

This exercise and the next one show you how flexible you can be in your writing in the IELTS exam. Use
the words after each sentence below to change the way the information in the sentences is combined, while
keeping the meaning of the original sentence. Note you should make as few changes as possible.

Example:

The system will deteriorate rapidly and so people will be further delayed.

e thus delaying

Answer: The system will deteriorate rapidly thus delaying people furiher

wEEE X DR

Mote that some changes have been made, but that the meaning is the same. Now change the sentences below
and then check your answer with the Keay.

i

2 Sars McoCarter
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Exercise 9: transformation for flexibility 2

This exercise is 4 variation of Exercise 8. There are 10 pairs of sentences below. Keeping the same meaning,
add words to the second sentence in each case to complete the connection.
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This move has angered environmentalists by destroying rather than preserving the pristine woodland,
This move has angered environmentalists, it has destroyed rather than preserved the
pristine woodland,

2. The govemment, who were initially planning to build a series of new hospitals, finally pulled owt of the
venture,

— initially to build a series of new hospitals, the government finally pulled out of the
vieniire.

3. The man took the money and ran away.

— the money, the man ran away.
4. The government made sure that the opposition was crushed and then introduced the bill,
sure that the opposition was crushed, the government then introduced the hill.

5. The proposals may be unacceptable to a large section of the community, but they still need to be adopted.
Unacceptable . the proposals may be to a large section of the community, they still need
tor be adopted.

6. Although the proposals are coming in for some heavy criticism, they must be supporied.
. COming in for some heavy criticism, the proposals must be supported.

7. Should this measure be adopted, it will have serious repercussions on the world economy.

this measure is adopted, it will have serious repercussions on the world economy.
8. The manoeuvre should be disguised so that it will not upset anyone.
The manoeuvre should be disguised b0 upset anvone,

9. If boxing is not banned or strictly controlled, more fighters will be seriously injured or killed,
Boxing needs to be banned or sirictly controlled: . more fighters will be
seriously injured or killed,

10, As soon as the fuss about animal-to-homan transplanis has passed over, there will be another dilemma
for people 1o get worked up about.

the fuss about animal-to-human transplants has passed over, there will be another dilemma
for people to get worked up about.

) & Sam MoCarter


http://ieltsdinhluc.vn/

’DOL ENGLiSH ieltsdinhluc.vn

Exercise 10: simple and effective connections in a paragraph 1

Students often have the main points of what they wanl to write in their heads. However, they frequently find it
diffecudr to combine the individual pieces of information to form a complex paragraph,

Look at the sentences in the left-hand colommn htil‘l'-l-"'lrr:ru can see that each sentence containg a main point. Use the !

crmpscting wards 8 rl-..a- el o the plahit I fha srdeme flhme s fo cosein o b s [ = N1 -
CUTIELE Lify BT il ELTRLALINGE SHR AR REREE AN BLTh RALMA-L Lo WML LWL LR @ Padakl I].'.Hl S EMEIVE deL I.HIHP.-'.T-&bﬂL]'

repetition, You will have 1o change the punctuation and remove some words. For example, you nesd to remove the
words in bobd in number 2 to in order to use the word Jike, You also need to remove the full stop after couniry a1 the
el of the firs sentence,

Sentences Connecting words
1. Money needs to be invested in the infrastructure Uniess
of the country.
2. An example is the transport system. like
3. A number of problems will arisa.
4. The transport system will wear out, For exampia,
5. The transpor system will break down. and
B. The breaking down of the ranspori systam will verb + ing

cause serious inconveniance fo tha travalling
pubdic.

7. The break down in the transport system and This
inconvenience to the travelling public will have a

knock-on eifect.

8. Itwill have a knock-on eflect on the economy in [Remove repetition])
general.

3. More people will tum to cars. with + verb + ing

10. The roads will become congested, and + verb + ing

11. The congested roads will slow the economy which, in turn,
down.

3 Sam MeCarter L]
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Exercise 11: simple and effective connections in g paragraph 2

This exercise gives you more pructice with putting ideas into a texe. This time, however, there are no hints as 1o how
you should connect the texi. The final puragraph is very similar to the Key to the previous exercise.

You can study the previous exercise and the Eey. but when you do the exercise try nod Lo look at either. You coukd try
ta do the exercise in your head, before you wrile it out. Remember thar writing i 25 much, if not more, 2 mental as it
i% a physical exercie,

Sentences
hEriE Mm&puhlln I'undsmmany Aﬁ-:;ﬁgtem__ccﬁnhlgs need to be invested Fl'laii:ﬂl thrtaﬂas
In certain areas. e e S SRR S T R
2. An iaxampl; Istaég:lﬁ iﬁining andtﬁ-ac:l'ﬁng e
3. There wil besﬂﬂmmﬂﬂhﬂ s
'_ 4. The sducatienal s:;n'steﬁt mudm futther.
5. The education syutem m‘ﬂshmfym!hnse | | | | |
8. The collapse of ﬁmaﬁmahnnmiam ';'.'rill mﬁaus'f;f affect tho uirhf;'m:'! aof aqdét;t' : _
7. The collapse of the adur.-aﬂm system wlii.h&v& sanious mﬁa&quancea,
8. The colizpsa nfﬂjé adu::aimn system will have s'ahl;ta mnéﬁﬁuanﬂas for mmpaniaﬁ
8. The mmpanlmwﬁl 1.'-;.IrTI to elher counbries whars thers ana.nr:u skilis shortages o laq:f up
belaiv: AT | i§
10, In my home munh‘yiar:tm‘raﬁ are being built In arees whare here e o surpius of skjlﬂrcl
compiting staff. - &Lt vl

11, Governments Inmuna developed mﬁnh‘lﬂﬁ will hava less money from faxes to fund
training. : -

el & Sam MeCarier
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Exercise 12: functions in 2 text
This exercise gives you more practice with fitting information together. Look at the following ext:

Sport has a wide range of benefits. It encourages people from different cultures wo
ams dowa == m T I

come mto contact with cach other It helps to break down bammiers beiween different
countries, Sport furthers international cooperation.

The text above is comrect grammatically and there i3 some connection. However, the writer does not show
how the sentences relate to each other, Below is a passage with 14 sections, In the column on the right, there
is & list of functions {A-J), which describe the text, Match the functions to the texts marked 1-14. Note that

you can use a function more than once. The first one has been done in bold as an example.

Text Functions
I. Sport has a wide range of benefits. 2. First, at an A. a possibility and an
international level, it encourages people fn::nm different advantage
cultures to come into contact with each other, 3. which
then helps 1o break down bamiers between different B. aconclusion
countries. 4. and furthers international cooperation. 5.
Take amateur sports meetings between schools and Clasemy
universities in different parts of the world. 6. Many :
- D. an example
countries arrange contacts of this kind 7. so that people
at different levels in their respective socieiles develop = o
- E. an advaniage
closer bonds, &. just as happens with cullural exchanges
or trade links, 9, “ﬂﬂ‘jﬂ“_ﬂf of mu _ i ko F apu
all concemed. = -
e

- (i. an explanation
10. While some people are reluctant to take up any kind
of activity that involves exertion, 11, playing sport can H. & reservation
have a very posilive effect on health. 12, All physical
exercise improves coarlination and, at the same time, L. acompanson

increases well-being. 13. In fact, it helps fight against
disease, 14. thereby ephanging the quality of people’s

li%

2 focus sentence

A


http://ieltsdinhluc.vn/

’DOL ENGLiSH

Exercise 13: text jigsaw

ielfsdinhluc.vn

" The jumbled text below gives you practice with predicting the grammar and the function of a paragraph as
you write. Write oot the 14 pieces of jumbled text in the correct order.

Remember to use grammar as well as meaning to belp you.

The first piece of text has been marked for you in bold,

of a nation depends on natural
resoucas, but

gcanamic, bul also the social
developneant of & counlry suiffers.

nations izl fo imvest suificient funds, for
NS FE3son or anotfier;

Unioriunaiely, many
skiled and healthy workiorce.
in their health sysiems.

For example, the manufacturing
indusing needs haalifiy workers

8.

e,

13.

14.

as g e fnancial and seniices seciors.
Otherwise, not only the

A lack of investmant in health cars,
fenvever,

health plays an equally important rofe.
Every

it is often said that the wealth

GO requires a

1w suifer frovm a workiorce hat cannol

maans that these courlries

Lt

1) Sam Ml arer
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Exercise 14: writing by question

Ihis exercise looks at the organisation of writing a paragraph in a different way: by asking yuum:ll‘qumum
Look at your own éssays. Do the sentences in each paragraph yoo write follow a logical series of questions?

1p m opartean ~f erearbioeme Emprerak blhaca oo cato o B o s o e aEl

U b Lafd  thoare PR
Wil MR PR there is & sones of UESLIONG, ANSWE Woss LJUESLILLES ITUHEE IO SlEEEIEILYES T L T ERI-ERaiel

:olumn to create a text on poverty and crime.

Questions Answers

=

Poverty appears to be increasing rather than decreasing even though
people generally are becoming richer.

Poverty is the state where people earn less than the average income.
Poverty will always be with us.

The most important cause is poverty.

Many people feel that poverty will be wiped out in the future.
Some people are of the opinion that poverty and crime are closely
related. :

Many people think crime is related to poverty.

Many people believe poverty is the main canse of crime.

but [ think it is a big mistake.

bt they are entitled to their own opinions.
bui I believe that they might be righ

bant T believe that they are serionsly mistaken.

For a start, there are more poor people than rich people.

More poor people than rich people appear (o be caunght committing
SErIOLS Crimes.

This misconception arises simply because poverty is getting worse.
Poor people annoy rich people,

It is not true, because it takes time.

It is not true, because poverty is with us always.

So statistically there is a good chance of there being more crimes
which are commitied by poor people.

Poor people have just the same rights as the rich.

There are always other reasons.

Further, there are many criminals around who come frmath:nu:l':
or upper-classes, but they can employ people to help them avoid
being caught.

Further, poverty will always be with us.

And I can think of many other reasons.

T O nNEx ON W ODOoEx O @S CoOo®

So, the fact that poverty is the main cause of erime is not a fallacy.
5o, the fact that poverty is the main cause of crime is a fallacy.
If only the povernment had more money to tackle the problem.
The government will introduce a raft of new measures to tackle

the problem.

ocaow OO0

B e B ™ e e a—
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Exercise 15: more guestions for guided writing

In this exercise you are going to create a paragraph frem jumbled sentences with the help of questions.
Look at the two columns below. On the left, there is a series of questicns. On the right, you can see that
some of the questions have been answered, but most are blank. Use the list of answers (a - - j) below to
complete the text. Thers are more answers than questions, so you will pot use all of them,

“*“ ~:~.~

e '. R
{':qe; ”’ékaw*n -'Ff._:.-*
PR e T

ok """-':'\--\.-'ln.
PR il -?'!-cuh_iIL P ‘...-: 7 ﬁaﬁ:

L ]

seme people think that it is & basic fight like food

and waters,

2

Fersonally, | believe that education should be totally

Frese,

Further, they can improve thzmselves as
invdividuals.

mn

[ 3 LT T Y e
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List of answers

a) by giving people a toal with which thev can improve their lives.
b} Asaconsequence, the progress of entire countries, nod just iqdividuals, is being held up.

¢} Education is not free for everyone in the world. '
di - Conversely, a lack of education limits all members within a society,
e} First of all, education gives an individual freedom

f)  The curreni shu:rnagt of IT skills, even in developed countries, is a good example. I

R} while others believe that some payment should be made for education,

1 Individuals can, for instance, improve their job prospects if they gain qualifications.
¥ As a consequence, the progress of entire countries, not just individuals, will benefit.

e B L e o T e o e e Ty TR T o oo o

Exercise 16: text from a semi-jigsaw

n the exercise below, the sentence beginnings in the column on the left ars in the correct order. To complate
b sentences and create a paragraph, match the jumbled semtence ends in the column o the right.

(0w can use =ach text on the right only orce, The first complete sentence has heen done for you in bold.

- Planting more trees incity centres ... 4} can also help to make the m.rlmnmwt in
. The irees, as wall a5 ... i _-;_.c-ilesmurﬂ a,upaaling
LTH h} watching water as a form of escape. f'n:ﬂ'n
. There ... " the stresses of %
. Any green space, “‘c} isa-very good emample T :
w The ity of London, where there are many d}' T;h;r?ﬂm Tmam E:E'EE": t':'
e _ E}I s very restiul.
wIn mary other cities, lines of tress .. ﬂ haweqer small, pr:mde:s wa!mm raila‘r
' - from the andless concrete.

Moreover, ihe leaves ...
Lo Along with trees, fountaing in public
places ...

3' u'_i s ;tﬁh,annther ‘way to mni-:e .thn

'-.lﬂ,n'n‘undlngu attractive. . oo

Zih) aha plantaﬂm streets to prwm'.ahadaln
e the smhmhrpedemnans and workers,

. The sound of falling or flowing water .., ,] . contribute to.making the air fresher.. -,
0. Many people, for Instance, j} {:Eﬁainly nothing more aliractive than
enjoy ... . g ‘ greanary.in p:ar!:s ar. gardeﬁs Emnn‘drah
Eﬂ&r Strlﬁﬂts-" y ""'.:'.-.' ._'\.- -' L '-ﬁ.:". Ha iy -\M. _:5-""

Sam MeCanes T
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The jigsaw in this exercise is slightly more complex than in the previous exercise. You can see that thers are
three columns, Choose an item from each column to make seven sentences, which, vou then put in arder w
form a paragraph on solving congestion in city centres. You may use each item only once.

The paragraph contains the following 7 functions:

a sofution, a résull, a réaction, an explonation, a reswlt, g fsecond] result and a conclusion.

Use these functions to help you put the sentences in order. The first sentence, g solution, has been

marked for you in ifalics.

1. A further deterrent
1s that the restriction

o people’s

movenments

2. What people will
object to most

3. Without doubt, the
restrictions

4. Yet, conscious of
the cost, car owners

5. The best solution

6. The initial public
reaction. however,

7. Such charges

necessary.

charging for
private cars
ERfEring cliv cenlre
A rens,

. going into the

central zone.

extra revenue which
which can be spent
on public transport.

not difficult to
imagine.

the extra money.
their attifudes and

the congestiom in
city centres.

T

£ Szm cCaner
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Exercise 18: speed ordering

By now you should be much faster at putting texts together. In the exercise below, the texts between senfences
1 and & are jumbled and one of them is irmelevant. The texts between 6 and 14 are also jombled, but four are
irrelevant.

As quickly as you can, put the sentences into the correct order to create a paragraph

When you have checked your answer with the Key, try to write your own text on Hmmmhjmtusiug.
sentences 1, 0 and 14 as a guide,

1. Many people are pressing for more and

- -

& People forget about the peirol required
te tramsport the waste in large lorries and
the exhaust fumes from the vehicles,

14, But then we will have something else to
be anxious about! -

i Sam McCarter T3
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Exercise 19: mixed connections

This exercise gives practice with increasing your flexibility and fluency in connecting your ideas. Choose
suitable connections from the alternatives A, B, C, D in the texts below,

MNote that in some instances, there may be more thai_1 one suitable énsv.r:r.

.‘. .J-Eq;.-i::"s ,&ﬁm}.‘{

iy

e TR o
e ?ﬁﬂﬂéw s
i;p"' l'efq &q -.??l' Jql’* L e

e ) ;.' i'

e L
A ﬂ-mww T

S 1%..- T R T S

s G fram MeCaner
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Exercise 20: more mixed connections

This exercise gives more practice with connecting your ideas. Choose suitable aliernatives in the texts
below, Note in some instances there may be more than one suitable answer.

. o
i . Animal welfare is one of today's burning political issues. Nor does it look as if (A.
i the issue B. the subject C. this D, i) will fade from view in the near future.

2. Many people in north European countries choose holidays in Spain. {A. Ik Spain B.

There C. In that country D). Over there) the sun shines uninterrupted for days on

e
Lad

A series of natural disasters followed one another in quick succession. (A, These B.
The event C. These evenis D, [t) happened faster than the emergency services could
cope with.

4. The number of young people staying on in education after the age of 16 has risen
sharply in recent years, but (A. it B. they C. this improvement D, changes) may not
be sustainable,

5. Provided the government increases salaries in the public sector, they will be able to
attract staff of the right calibre. Few ministers, however, will be able to accept (A.
such a condition B. a condition C. condition D. ir).

6. All vehicles except for ambulances and bicycles have been banned from the area,

{A. Thiz B. It C. The ban [ The restriction) will remain in force for the foresesable

future,

7. Deforestation of the area has taken place at a much gquicker pace recenily to make

way for farms. (A. They B. Unforturately, many of the trees C. Unfortunarely, they

| D. Unfortunately, many of them) are rare and irreplaceable.
| 8. Anyone who commits a crime, however minor, ought to be imprisoned (4. It B To
II carry owl such a proposal C. To do such D, The recommendation) would require a

considerable sum of money.
9. While many people object to the legalisation of cannabis, {A. it B. decriminalisation
C. this D. idea) is not as crazy as it first appears.

10. Many elderly people are still living in poverty, (A. a situation which B, this C. but
this D, the situation) is gradually changing.
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Exercise 21: connections for flexibility and fluency

When writing an essay, it is sometimes difficult to avoid repetition and at the same time to write fluenty.
This mquims- i high -ﬂ.‘.‘igl'ﬂﬁ of ﬂ.ﬂ{‘ibillljl' In this EXEICISE, you are Eﬂmﬂ to facus on ﬂ-"ﬂ:ldiﬂg l_-"ﬂPl.'-ﬂ"ll'l!,
yourself while connecting a text.

Look at the list of items A-V below. Then read the text, which follows the list, and choose suitable items
from the list to connect the text. Note that in some cases more than one answer may be possible.

Remember (o avoid repetition.

e

~TIeMmMOOD>

people who make oo much noise
this

it

these

pacple making teo much noise
such anti-social behaviour
naoisy peaple

loud music from neighbours
i= another source of annoyance

if meande lving in flats nlm.lu hifi curotorro

FH'-'F‘H ﬂr“lu ELEBNY LTS

el too loudly, they

. people fiving in flats who play hi-fi syslems
elc too loudly '

VR R S

®IOBOZ EC

< c -

anti-social behaviour of this kind _
flat-dweliers wha play hi-fl systems etc too
loudly

those making too much noise

they

also constitutes a source of annoyance
these curbs

another thing that is annoying

such rudeness in shops or over the
telephone

such rudenass

nuisance

such olfending drivers
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Exercise 21: not encugh spaces

Look at the list of items below and then the text, which follows. You can see that there are 15 items in the kst
wit only 10 spaces (A — J). However, all of the items in the list need to be inserted somewhere in the text. Use
he punctmation and grammar of the items to help you. Note you may use each item only once.

Ine item has been inserted for you.

1. or 9, The same arguments apply
2. but 10. unless perhaps they
3. They point to 11. The obvious objections here
4. which 12. being nothing
5. Moreover, whilst such farms 13. they
6. A further downside is 14. the machines
7. of the opinion ' 15. of bringing the energy back to
8. people, hgwever, the shore
Other are A that wind fanms are ugly, B
more than an eyesore C a blot on the landscape. the fact that
the giant wind turbines, make up the farms are frequently built in remote areas of
areat beauty. D are inaccessible to most people,
E can be seen from a great distance.
| S that wind farms may provide safer alternatives to nuclear
nower or carbon based energy, G_ they cause greater damage
than the pollution are intended to prevent. H to windmills at
sed, 1 are far enough off the coast not to be seen.

J are the cost of siting the wind turbines far out to sea and.
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Exercise 23: essay titles

[t is important that you are able 1o interpres essay fitles in the exam so that you write an essay that answers
the question. Your sentences need to fit logether to form s paragraph and the paragraphs need to fit the essay
question, not just almaost A

Look at the pairs of essay titles below, Decide what the similarities and differsnces are between each essay
in the pair. The first one has been done for you, -

I. A What are the main causes of crime ?
B Crime ix a major problem for man ¥ societies throughowt the world and iy
increasing rather than decreasing. What are the main reasons Jor crime?

There are two basic similarities between the hwo essays. In each essa v, the general subject is crime and the
exsery Iv organised around focus words: causes and reascas for whick both mean the samne thing. The difference
is that the first essay eitle is presented ax @ question, whereas the second one makes o statement about the
present situation as regards crime and then poses a question. In the end, the content and organisalion of the
E55ayy are basically the same,.

i A Onlyeducation can tackle anti-social behaviour, such as fovtball hooli ganism and vandalism,
' Measures such as fines and prison sentences or curfews do not work. How far do you agree”

B Only measures such as fines and prison sentences or curfews can tackle anti- social
behaviour such as' foothall hooliganism and vandalism. Education does not have any effect. To
whal extent do you agree?

3. A How far do you agree or disagree that it is only education and not other measures such as
fines and prison senlences or eurfews that can tackle anti-social behaviotr, such as foothall
hooliganism and vandalism?

B The only way to combat erime is through education, To what extent do you agree?

4. A Charging people for plastic hags in supermarkets and refunding money on glass bottles _
were once the norm in some countries. Do you think that this is the best way to make peoplé
more aware of the damage plastic bags and botiles cause to the environment?

B Discuss the best ways (o make people aware of the need to care for wildlife.

5. A The abuse of animals, both wild and domestic, is ncreasing year by year, The numbers of
species of wild animal are decreasing through pressure on their habitat from man and cruetty
to domestic animals including pets is a serious problem. How can this cruelty be stopped?
What benefits do animals bring the human race?

B The abuse of animals, both wild and domestic, is increasing year by vear. The mumbers of
specics of wild animal are decreasing through pressure on their habitat from man and cruelty
to domestic animals including pets is a serfous problem. Should there be stiffer penalties for
the abuse of animals? What factors are involved in this abuse?

6. A What factors are involved in making people in the modern world feel insecure? :

B People in the modern world feel more insecure than they usad 1o be, Discuss the causes of
this.

T. A People in the modem world feel more insecure than they used o be. Do you 14y ee?

B People in the modern world feel more insecure than they used to be. How fas du you agree or
disagres? :

8 A Modem technology like computers and mobile phones is more of a problem for parents than it
is for their children, How far do you agree? In what ways can adults be encouraged to
embrace new technclogy?

B Violence is one of the major scourges of the modem age, Can anything can be done to tackle
this problem? Or is violence just an inevitable consequence of modern life?

L] ) B Bllod e s
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9. A Itisimportant in today's world to have as broad an education as possible,
Discuss the arguments for o against this issue.
B Success is seen by many as a goal. However, it does have a downside.
What are the major disadvantages of being successful?
1. A More and more people throughout the world are using credit cards in one form or another. So
much so that the end of the cash age is being predicted. Are we moving towards a totally cash

free world? Or do you think that cash is here to stay?

B More and more people throughout the world are using credit cards in one form or another. So
much g0, in fact, that the end of the cash age is being predicted. Discuss the problems that might
arige if this, in fact, happened.

Exercise 24: same information- different paragraphs

When candidates are preparing for the exam, they frequently leam essays by heart and then try to fit them
into the question they have in the exam. It is possible to have an essay, which bas a similar general subject to
one you haye prepared, but which has a different focus. Unless your English is fluent or very competent,
however, it is difficult to fit the paragraphs you have learnt into enother essay.

Read through the text below and then look at the four lists of items, which follow. Wiite out the text and
insert the items from each list 1o create hwdﬂfumtpammplu.ﬂwitmmminth:wdnwhﬁ:hym
should use them. Please note that in some cases you will bave to makes changes to the text, Look at the Key
for the: firs: paragraph 1o help you if :

el W
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Paragraph 1: Example: Some believe that the large number of people ...

Paragraph 1 - Neutral Paragraph 3 - Opinion 1

U Some believe that .. a)  Inmy opinion, ...

1) They think that ... b} The main reason for this is .., which ...
1) For example, on the social front, ... €)  Take, for example,... who ...

[} affecting d}  The consequent effects on ...

% [This...], in turm, ... e) - where ...

] oo Where ... £ Similarly,

0 Secondly, on the purely economie front, . g)  further..,

o which ...

b Sam Mol arter i)
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Paragraph 3 - Cauose and effect Paragraph 4 - Opinion 2
ay  The main cause is ... which ... al My main argument i5 that ...
by  as by  ....toall intents and purposes, ...
ch  First ¢)  For example,...
d) which d) which, as aresult, ...
e and._.also.. g)  They then become ...
f} ...then ... ) owith ...
g} Furthermore, ... g)  Another problem is that ...
hy =a.. hy  which further...
i
-2

1 & Ram MoCart
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g, A Itis important in today’s world to have as broad an education as possible.
Discuss the arguments for or against this lssue.
B Success is seen by many as a goal, However, it does have a downside,
What are the major disadvantages of being successful?
0. A Hmmdmmpenplethwghnuthewmldumusingmditcrd in ome form or another. So

e e | ——— _...-\.u:-.r- trearede o tegalle qach
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free world? Or do you think that cash is here (o stay?

B More and more people throughout the world are using credit cards in one form or another. S0
much so, in fact, that the end of the cash age is being predicted, Discuss the problems that might
arige il this, in fact, happened.

Exercise 24: same information- different paragraphs

When candidates are preparing for the exam, they frequently learn cssays by heart and then iry to ﬁtlﬂ'n:»m
into the question they have in the exam. It is possible o have an essay, which has a similar general subject to
one you have prepared, but which has a different focus. Unless your English is fluent or very competent,
however, it is difficult to fit the paragraphs you have leamnt into another essay.

Read through the text below and then look at the four lists of items, which follow. Write out the text and
insest the iiems from each list to create four different paragraphs. The items are in the order which you

el pnmm tlnmame Dl vt bl don oyl Soomo 'l.nn.nwl" ha :“l.ﬂ'iﬂl!’ R l"i'lFlI'l'ﬂ-l'_ﬂ. K] I.'l-l“' 1ext, T.ﬂﬂ‘: at ﬂ'E Key
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for the first paragraph o help you if necessary.
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Paragraph 1: Example: Some believe that the large number of people ...

Paragraph 1 - Meutral Paragraph 1 - Opinion 1

2  Some believe that ... al  Inmy opiniog, ...

b They think that ... b The main reason for this is ... which ...
¢}  For example, on the social front, ... ¢}  Take, for example,... who ...

d)  affecting d)  The consequent effects on ...

¢} [This...], in wrn, ... e} where ...

) ... where ... ) Similarly,

g} Secondly, on the purely economic front, .. gl further ...

hy  which ...
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Paragraph 3 - Cause and effect Paragraph 4 - Opinion 2
u}  The main cause is ... which ... al My main arcument is that ...
b @5 b} wio 5 to all intents and purposes, ...
¢} Fimt ¢} Forexample,...
dy  which d)  which, as aresalt, ...
&) and ...also ... ¢} They then become ...
fy coodhen L. fl oo With ...,
g} Furthermore, ... g} Another problem is that ...
] -4 ... h} which further...
|
| |
E

L £ Saem McCarior
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You can wse this exercise o help you revise the mechanisms you have learnt in this section of the book, Read through
the maze below and choose the alternative which you like the best at each step. Please note that all the allernatives ane
correct, For example, you can choose 1A and then 2C . and so on. Or, you can choose all of column A,

A

. Travelling is o good examphe
to illustrate how important
nan-school edocation is.

2. A rather sophisticated
learning process 15 taking

mlace for travellerg
place for travellers

3 when they visit new places
abroad as tourisis,

4. They are, for instance,
learming about the culture of
other countries, the
geography elc

5. thereby hopefully broadening
their horzons,

f.  Moreover,
self-

7. travelling builds
conflidence,

B. as people leam to deal with
different challenges.

9. DOnoethey have, say, mastered
simple procedures like buying
a train ticket or changing
CLUITENCY,

10, eavellers are then able o
tackle more complex
STlLLALICS.

11. If, however, people just
remain within their own
narrow circle, then their
EXPCTIENCES 31T NATOW.

B

A good example to illusirate the
importance of non-school
education is ravelling.

People go through a rather
sophisticated leaming process

when visits are made to new places
abroad.

They are leaming about the
peography efc of other countries,

and hopefully broadening  their

horizons.
A further effect is that

traveling helps to build
self-confidence,

by teaching people to cope with
different situations.

When simple procedures
like buying a train ticket
have been mastered,

an attemnpt can be made at waekling
even more complex
situations,

By contrast, remaining within
their own narrow circle, limits
people’s experiences and, hence,
telr expeciations.

C .

Travelling is a good example
to illustrate the importance
of non-school education.

People are being subjected 1o a
rather subtle education process

when new places abroad are being
visited.

They are learning about the
geography, the culture, the history
and language of other couniries,

and hopefully their horizons are
broadened.

Secondly,

travelling is a great confidence
basilder,

as it teaches people to handle
different problems.

simple procedurss like buying a
train ticket having been mastered,

even more complex
situations can be attempted.

(i the other hand, by just staving
put, people’s experiences are
parrow and their expectations
limnited,

Try not to learn the texts by heart, Instead, before you write an essay, read through the maze and as you do
s0, iry to transform the text as you read. This will help you become faster as you write and increase your

fexibility.

s A e
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Exercise 1: speed spelling check

In the IELTS exam, candidztes do not always leave themselves time to check their writing for mistakes sucl
as spelling. This is, however, a habit and a skill vou need to develop.

In the list below, there are 50 words. Read through the list as quickly as you can and find words which haw
the wrong spelling and then commect them.

dramafically motivation peopl experience environment govermen
unfortunatly colleague accommodation seperate plummet thier conectior
conscientous  discreet difference difficult advantage dissappeal
disappointment interested disposess dissolve disuade efficient efficiency
embarrassed dictionary unpleasent secretary comfortable counse
programm parliment interesting psychology simultaneously house televisior
institution inconvinience incapable forecast responsable machine manufacture
scarse scenery vehical sheild

Exercise 2: spelling check - same words different preseatation

Movar look at the same list from Exercise | again below, Note the words have been jumbied, Read through the
list as quickly as vou can and this time find the words, which are spelt correctly, Then correct those words
which are spelt wrongly.

responsible manufacture incapible council programme eficient mashine coleague television

instution INConveanance scarse sCenny motivation peoole nrnnnnnm anviroment qovernmen

A A R N e pre=wpiw P e wr o

unfortunately conection conscentious unplesant discrete diffrence dificult advantige
dissappear dissapointment drammatically Interested dispossess disolve dissuade efficiency
embarassed dictionry secretary comfortible plummet their pariament intresting psichology
simultanously house forcast vehicle shield seperate acommaodation

Being gble to recognise correct spelling as well as mistakes is important; otherwise, you may change something
which is already correct. Read through the lists of words below as quickly as you can and jind only words
which are spelt correcily. Then go through the list again and correct the mistakes.

MNote there may be more than one correct spelling in each line.

l. tomorrow support should recieve proffesional

2. serious salary review receipt feild recommend
3. pronounciation photograph permanent particular

Bf 6 Saen McCarce
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4. organise opportunity neighbour necessary morover
5 misrable judgment interupt interfer height

6.  generous foreign favourite familiar extrordinary

7. mention excellent esential entertainment®encourag
8
9

S Ep—— H Y - Fnr—— E
: - HETC IO i:[llJ.l'.l..IE,ll l.II.LIUI..I_E,.II

potatoe whether wonderfull yesterday atmospher
10.  accurate apparatus chanel chocolate ciggarette
11.  circuit correspondance equivalent hereditry irritate
12.  February vegitable chimeney shoulder cronology
13. circelation campain succesful stationry surroundings

14, nprobabiliv nriceless nrevalent nostoon nleasure

AR LR BT B e R PR T e P e e a.-u

15. phenomenon plentifull personel persistance percieve

Exercise 4: identifying more correct spelling

Lo = Ml . FE___da | e Lelaces aa o faas o

D_‘f’ T R shnouid be a jitthe faster, Reao l-l"w,E,U the NSLE O WOTUS DO 35 l.juu.-u:.' Hy yau Can Hﬂﬂl IJ-II'.-I-
wards which are spelt comectly, When you have checked the whole list and located the correct spelfings, go
through the list again and correct the mistakes,

MNote there may be more than one correct spelling in each line.

Circumstance disease disguis paurantee discriminate
i EpEraie Il}l'pmlll;E-IE themomeier metaphor appropria
Beleive misellaneous concieve mispelling begmmng
Benifit dangrous membrane ceremony droped

Circle citisen clearence trafic co-operate Antartica
Eecomendation commites commitment complementry
Consceince science contrary arguement cultural
Technigu cynical desiccated democracy demographic
Emergenc excesive prerequisite featur ferocious
Flight analisis gallop gratuitous genine great

I T

=

& Sem MicCanier EY
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4. c_mr_v.rs_ wond_rf_ |

5. _nc__r g b___tFt
6. h_zrd fm 1 _r se
7. _ndngr fm_1_
Exercise §: spelling completion 2

ielfsdinhluc.vn

18. hopfl
19, _dv_rt_s_m_nt
200 d e t__n

This exercise gives you more practice in completing words by adding the vowels.

Look at wonds 1 - 25 and write out the correct spelling on a separste sheet of paper. You may find that it is
refreshing to do this exercise again quickly before you write an essay, When you repeat i, it is not necessary
to write it out. You can do it in your head.

Add the vowels aelouor ¥ to make words, e.g. ¢_t. You add the vowel a to make cat.

1.  _nc_d ne_ 10, m_x_m_m 19 r_ck_t

2. c_ns_g__ntl_ Il. m_n_m_m 20, w__gh

3. _nv_r_nm_nt 12, d_el_n_ 2. e nm.g

4, £_v_mim_nt 13, plmm_t 22, cr_m_

5. _mE_rvon_ 14, w_nd 23 pome_Lrl

6. _ntrdc 15.  c_ntr_st 4. pgr_mm_

7. Ll 16, prd ct 25, b_s_n_ss

8§ ltra 17. frest

9. m_gn f ¢ nt 18. plng

] £ Sam MeCarser


http://ieltsdinhluc.vn/

’DOL ENGLiSH ieltsdinhluc.vn

Exercise T: what is it?

This exercise is designed to be done several times. Do not expect wo get all of the answers correct at the first
attempt,

Look at the list of 21 incomplate words below. You can see that most of the consonants have been removed

and it is now more difficult to recognise the words. Add the consonanis: bed fghjik Imopgrstvwxz
tr make words;

Example: e e__o ¢ [ telephone |
If you do ot recognise a word, leave it and go on o the next. If you have 1o, look at the Key and check the

answers, Leave the exercise and do it again another time, especially before vou write an essay. Note that you
may be able to make more than one word in each case.

1. _ea 2. _a_iou

2. I _ea 13. _a_ie_y

3. _ai_ 14. i_te_e__

4, _a_a_a 15, e_ou_ _

5 _ou_e 16, __le__

6. ei__1 17. _ea_u_e

r A - 1 P 18. _ee _i_g
8. __el_ 19. _e_e_i_io_
9. _e_ei_e 20 _e_e_ _o_e®
10. _e_je_e 2. e_o0 0o _ic
1. a_al_a _e

Exercise 8: more difficult words to complete

This exercise like Exercise 7 is designed o be done several times. Do not expect to get all of the answers
correct at the first attempt,

Below 15 another list of common incomplete words, You can see that many of the consonants have been
removed, but there are more consonants than in the previous exercise. Add the consonants: bedfzhjklm
npgrstvwxzmnmake wonds:

Example: _e_e__o_e [ telephone]

If you do not recognise a word, leave it and go on to the next. If you have to, look at the Key and check the
amnswers. Leave the exercise and do it again another time, especially before you write an e=5aY.

© Sam McCareer - 89
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e___oyee 12. e__au_ted 23. exe __Il_o@e
_ente_ce 13. e__iro__e_t 24, _o_iti_tan
_i__ionary 14, bl_y_la 25. pe_mi_sio,_
po__i_i_ity 15. _a_ge_ous 26. _eo_le
st_e_gth 16, _o__ution 27. _eb_uary
_o_a_o 17. _o_fu _ed 28, se__e_ary
li__ary i8. _onge__®&_ 29, _om_u _er
_an_ua_e 18. _oli_ay 30. _ons_ low_
po_i_e_an 20, __ou__ _

po_i_e_o_a_ 21, ou__ _

p_y_ho_o_y 22. dau__ _er

Exercise 9: spelling in senfences

In the sentences below, there are spelling mistakes. Read through the sentences and underline those words
that you think may be spelt wrangly. Then check their spelling in a dictionary. There may be more than one
spelling mistake in each sentence.

In sentence 1, are the words, which are highlighted spelt correctly?

e

10.

LEF

The aceammiciiatiand available to peaple In lower income groups is USUE very InadlgiiEts
A completely new sulte of rooms is esential to house the new eguipment.

Frequently, the planing is not particularly thorough so that when it comes to carrying out any
work, there are invarably delays.

There are not enouh teachers 1o provide adequate cover in schools.
Invensions in the world of technology are now practicaly a dialy occurence.
It is hardly aceptabla to expect private buisnesses to shoulder the whole finantial Burdon,

The remedy applied by most goverments has been to introduce swingeing cuts to thier
manpower enly to hire them at greater cost, once they realise that they have lost personel with
invaluable experience.

Guaging the mood of the electorate requires considerable political skill,

Everyone has benifited from the advances in tha medical faild that we have witnesed in recent
VEars.

News buletins are now transmited round the clock, almost overwelming us with up-to-date
information.

The number of young people entering higher education frem poor backgrounds is a shinning
example of what can be acheived.

ﬂ-&.‘m}.ﬂ'.;n-r
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12. Once the idea has been thouht threw carefuly, it will nol be long befor everyone is taking it up
wholahartadiy,

13. Profesionalism in mast fields of work is now In such short suply that the best one can hope for
5 medocrity.

14, Apropriate measures should be taken 1o insure that rioting does not take place at any sporting
avent,

15, Some people argue that so many old fraditions have been superceded by modem or foriegn
deas that we are in danger of loosing our national identity.

16. Atention should now be focused on equiping as many teriary level studenis as possible with
laptops,

Exercise 10; jumbled words

[n the text below there are 21 words where the letters are jumbled. One of them is marked for you in bold.
What is 1t? Read the text as quickly as vou can, find the other 20 jumbled words and write them out.

We cosaesita being rich with not having a care in the rowld, with tromcof
and feeling safe and secure. thweal is seen as the sanrew to the many
problems in life.

Having huge satumon of money at one’s diospsal is, ironically, a fudilfict
problem to deal with. People are edstepe in the beifle that being rich
represents security. But does it? To protect accumulated isosesspons,
no matter how small the amount, seemingly countless saemuras are
needed by the rich, and not so rich, 1o protect trieh property. The burgiar
malars and security bars on windows and doors of {oday, howeavar, will
seem pirivmite to the security of the future. The very well-off already living
in fortified compounds will have sacecs to hand/iris recognition devices
to enter their property. Yet, every solution tends to bring about another
scenario to be asdit with. So, what if the hand is cut off or the eye removed?
The answer is make sure the device can only gnisereco live irises and
hands. Problem solved. No, not exactly. You can be appedkind. That's
where the body-guards come in. But can you trust them? Perhaps, heert
is only one way out: if something is scunaig you a problam, the sensible
thing to do is to get rid of it!

A e i e m
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Exercise 11: missing words

When candidates are writing fast, it is difficult 10 concentrate on everything at the same time. A commog
mistake is to leave out words for one reason or another.

The text below is an extract from & much longer passage. There are some places where a word is missing
For example, in the first sentence, the words they and are have been lefi aut:

Most, if not all, people have cenain things that they think are impossible wo da.

Read the passage and decide where the other 17 missing words have been left out and write them on a piece
of paper. It is belter not to mark the text so that you can repeat the exercise. This is the kind of exercise you
can do before you write an essay or before you check an essay.

The art of doing the impossible

Maost, if not all, peeple have certain things that think impassible to do. Take dealing domestic chores. For

some of us, summoning enough energy to tidy rooms of flats or sort out months of paper of to change the bed

ﬂ[! Hom ] 1hn It

; _ 1
juiie @ i r o

eiiomn. Al work, also, Wckiing even simplest tasks sometimes seems insurmountable as

mare comples jokbs.

S0 it not exactly surprising that for many people steppin E outside the limits of their experience or beliefs
almost out of the question. It difficult to change people’s habits and views of world. Yet, fortunately, there

have been, and still are, individuals have influenced mankind, because they challenged tradition. Few of us

s
:
B
E

dare 1o hold opinion has no currency within the teachings we have learnt, Original among our peers and
family also sets us apart we then become targets ufj:?h:msy orenvy. Todevelop outlook that is broader than
one’s friends or that is just different is dangerous, but it is something, which must encouraged if we are 10
develop, Wilde said that we all in the gutter, but some of us are gazing at the stars. In modern era, will the

star-gazers prevail?

Exercise 12: checking in waves

This exercise gives you some specific help with checking your writing for different types of mistakes, The
text below contains three kinds of mistake:

- T TILL—

T v TS I
* s T e ‘E‘ﬁ:’lﬁ '.'.-,ﬂ A
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Read through the text below as quickly as you can. Then look for each type of mistake separately.

Noie: when you are checking spelling, do you need to read the text?

AT *&-. -5:!';:":".-'?'.'!. ‘-':'“-:‘::px
Riltakes? Soie piéople believe that e

PRt P e R R . -__‘_. SEELN -

L LU
s

i L T

o b,
el TR

R A

It good to make mistakes inspite of what some people might think. Many of us go through
our lives in sheer teror of doing something wrong, becaus we have taught that evary lask
should always be performed comectly. This is nonsence, however, This is obviously where
ieaching children comes in.

A good part of the problem, | feel, lies not with the mistakes themselves, but with labeling
aspects of the learning process as errors rather seeing them as a natural, and neccesary,
developemant. Doing things in the wrong way should surely be avoided. Take children as
an example. They have to fall down in order to learn to stand again; the same aplies to
everything that they do, including mental tasks. If children at school or at home constantly
harrassed about doing everything correctly, there is a good chancs they will just give up. It
is possible for them then to become afraid of openning themselves up to the censure of
othars. Yet, children need surely to make mistakes in order to see what is right and not to
be constantly snapped at for failure.

Adults leaning to use new technology are also a case in point. Computers are able to
check for spelling mistakes, which is a helpful tool. And what about leaming to drive, which
is also fun? Grown-ups may have dificulties mastering the process and make lots of
mistakes, but thosa who concentrate on their failures rather than aguiring the skill they are
trying to learn tend fo give up. By conirast, those who focusad on the task rather than their
mistakes usually suceed,

And the solution? The simple answer is to trian people 1o treat mistakes and miner hiccups
as natural steps in the process of leaming. Teachars and trainers could point that, although
students should aim to be perfect, they must realise that they are going to make mistakes
and learn from themn. This positive atitude will help build confidence and stop people giving
up. On a general note, if people are constantly making mistakes, new discoverias will not
be made.

o3
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Exercise 13: second wave

[ thiis exercise, you have the same exl as in the previous exercise. All the spelling e correct and there are no
missing words. Without looking back at the previous exercise. find:

',a} 1|}|:1_;rradaﬂ;11tﬂi}.rth.lm{ﬂ"e} ;
B 2 ml:l-ﬂﬁﬂ x’ei‘bu .:.hlch ﬂTE-‘i‘i:mﬂH el

|t is guu:rd to maka m1stalr.es In spria L']f what same people should think. Many of us go
through our lives in sheer terror of doing something wrong, because we have been taught
that every task should always be performed correctly. This is nonsense, however.

A good part of the problem, | feel, lies not with the mistakes themselves, but with labslling
the aspecis of the leaming process as errors rather than seeing them as a natural, and
necessary, development. Take the children as an example. They have to fall down in order
to learn to stand up again; the same applies to everything that they do, including mental
tasks. If children al the schoot or at home are constantly harassed about doing everything
correctly, there is a good chance they will just give up. It is possible for them then to
become afraid of opening themselves up to the censure of othars. Yet, the children need
surely to make mistakes in arder fo see what is right and not to be constantly snapped al
for failure.

Adults learning to use the new technology are also a case in point. Computars are able to
check for spelliing mistakes, which is a helpful tool. Grown-ups must have difficulties
mastering the process and make lois of the mistakes, but those who concentrate on their
faitures rather than acquiring the skill they are trying to learn tend to give up. By contrast,
those who are focused on the lask rather than their mistakes usually succeed.

And the solution? The simple answer is to train the people to treat mistakes and the minor
hiccups as natural steps in the process of leaming. The teachers and trainers could point
out that, although students should aim to be perfect, they must realise that they are going
to make mistakes and learn from them. This posunre attitude will help build the confidence

and stop people giving up.

Exercise 14: prepositions at speed

Anaother area of language where candidates frequently make mistakes is when vsing prepos.tions. This is
sometimes becouse a canddate does not know which preposition to uge, but it also ocours, bect use candidates
o not check their work.

Fead the sentences below and decide whether the prepositions in each sentence are correct. If you think they
are wrong, cormect them. Some sentences may have no mistakes,

Cid D Sarn bodartae
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% 1|,l|."]:|113 I tﬂﬁ'ﬁ 'L‘Aﬂﬂﬂldﬁ'-ﬂbk- E}'Tﬂpﬂ:ﬂl}' t{! 'ﬂ'lls JdE:El ﬂl:m are: clm‘,am aspl:l::lfs ﬂ'mt Il.‘n::l m:nt Elppm',.re

at.
2 AL E{HJ{?I people were ﬂ]la:lmur m‘:wngmnusm B, : S S :'_;; ;
3. It isnot really sensible to rely on data, 1o r::au::wh:m the_r,.r corne fh:-m ;
4. There has bm1mﬂﬂid¢mbtc Lmnmumr:nt unt1-._| tlw- Wiy l_-n'n_:tmr_-gl_e i Lu;uj:jl_
- }'pﬂ_]’ﬂ L .
5. The success for any ventire [hpends i'a hl:rst ,Jhammeg_ SIS et
6. The money should not be spent ﬁxv-ﬂpnnsbutfurndumum,m IELﬁ'Eslm{:TulE, em
7. Dur attitade to work needs fo change; otherwise; more jobs will be lost. - o
8. thtle this may h-ﬁ an adﬂ.'antage: i some, 3 cmmdsmh[e ru.tmher ﬂfp:up]c ml] an: im‘.lc bmnﬁt :
ofit, . ; T e
9. No n:-mmttj' khn-uld ml:-:rﬁ!:]'t: mtﬂ Ehe nﬂhts ufﬂnudit: nﬂ.tmm - i 1Rl
1. Few people believe that the iv:ga]wamn “of soft dt"llgs ;s &mﬂpmwmt omi 1]:1: r,:umzut snma]ian_
11, F‘uﬁp!& £ yrisaahs fl."‘n.l."' the 51 q.|,|.|,-_|;|;|-|.=.|. arg d'u‘hyu]i i E.uu_; L e e g o Pl
12. S:l:lm-: pnu-plu argu: ﬂm sy 1

13, Althoughl nhjeclmsnmn 23]
djffiarfmnnhewntcru.- *?_:-; Wil

14, Many qualified teachers are still laehaguf]:gaip iﬁllﬁmﬁﬁ m;masf-_;-. R i

15, Itis well known that m&:mgers have enonmous _ﬁh m'ﬁé}l mh&t. s FRIEEIRAA

16, There is a serious lack in q_ual:ﬁud tﬁh.r:hemm’ ﬂﬂd it £s "_' S BT

17.  This is, however, dependent on mmmmmﬁhm i’iﬁﬁllad. A R I

18. People in general do not think carefully muughafmc cnns-:qumlaﬂs uﬂhalr acnﬂﬂs S Rt
‘19, Some people, by contrasy, are struggling daily in ﬁr.u:]mg tfm:'tmsm neads in order to s-.n-.-we

20, Iiﬁgﬂwﬂmﬂﬂnymwﬁﬁmﬁm@ﬂnﬂﬁr wEamgtE e 1?_:;5
‘21, The government has succeeded to alienste the alectma’.re very qulcld U

22. The city conncil needs to t]unlr uf lhlE ma!te:r mg:l-re carefuﬂ}r gtfqm lt prnt.: :ds qn ;h-:

' pcdr.:shau:saucru of the.&mtm. . ;
23. ° The key to this problem is ::Ht as ubwnus as ]I ﬁrat appaﬂrs

-..-Z!".

Exercise 15: language for graphs and charts efc - revision

A this and the following exercise, the sentences have been adapted from the first section on graphs and
‘harts efc. Read the sentences carefully and see if you can find the mistakes. There may be more than one
nistake per sentence. In the first sentence, for example, there are four emmors.

“ote that you need to fook at all the information.

A e e T e Ly Y T T T P T T
e e ——— T

I During October, visitors numbers fell off their seplember peek, they dropped over 40,000
visitors by (he end of the vear.

2. The data shows that the rend was obvinosly upwards.
3. Picking up numbers at 1999, it leapt censiderably.
4, The improvement in year 2001 was marked by sells surge to 5 millions evros,

e ST —
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5-  Number of people visit the museum rised approximatly 30,000 2 month throuhout the
year 2000,

6. The visitor numbers rise in July was gradual.
7. In 2001, 20 millions copies of the book were sold.

8. The steady increase in attendances from 30,000 o around 45,000 in the first four month
followed by a sharper rise in May.

| 9. Inthe year 1990, sales shot significantly.

10.  The map show the changes took place in the ares spaning a peroid of 235 years.

! 11, The airport considerably enlarged by the buyving of two bits of land.
i 12. In 1986, an expansion was build to the house. |I
13, According to the table, show the % of women in gove posts in years 1960 to 2000,

14, the trend was fairly erattic, with a 2% drop (o 13% in 1965, and followed by a raise of 1% _
five year latier. 5

15. By contrast, sales increased to 13%, doubled 1o 26 per cent by 1975,

Exercise 16: more revision for graphs and charts ete

in this exercise, the sentences have been adapied from the first section of the book on graphs and charts ete.

Read the sentences carcfully and see if you can find the mistakes. There may be more than one mistake per
sentence.

L. ‘T bar chart show the presumed profits in thousands of dollass.
2. Growth are expected to slow untill 2004, after which it estimated that they will even

By contrast, it is forecasted that the sales of computer pames will outsiripped music CDs in the
coming fubire,

DIY sales will nise fitfuly, rising at rate of L0 percent per month,
Sales are projected to remain steady for the remaining three years.
Wers Lid is expected to make a lose of 2 million euro in it's first year of trading

prs ]

A

According to the chart, from 2007 until 2009 inclusive, the town expecied o experience negative

population growth,

The population will fall dovwn gradually over the next five years from 2010 to 2015,

, The people numbers will grow up with 20%.

10, As far as hotel ocupancy rates, if is expected that over the period they will excede all expectations.

1. Falling initialy by 10% in the last quarter of the year, growth in sales will pick next year.

1Z.  Thereafter, however, the population’s growth in London will be anticipated to be much slower.

13, After that sales went up and down wildly, first doubling to 400 units, and subsequently falling again
to the march level. Those flucmations followed by relatives stability.

4. From this level, the number of motorcycles sold jumpt dramatically, hiting a peak of just under 100,

15, This was followed by a sharp drop of about 80 % in the number of purchased videos.

¥ @
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Exercise 17: right place?

In the text below many, but not all, of the verbs in various forms are in the wrong place. Can you find the
correct home for the verbs?

[ = [, . P LT e

——. oyl
S0mE people Betieve that

== P, [, cos dhin e FOTE il
[ i

“ﬂlﬂ‘ng '--UHIU--"F o IilLI'LI.'i-' Lll.llm CT LiF DUl i
way to encourage the problem of illiteracy. They think that the pictures discourage
readers from using for themselves and so thinking comics is another step in the
reading down of the educational process. However, nothing skould be encouraged
further from the truth. Anything, comics included, which induces children, or indeed
adults, could be to read. For my own part, I are released to some of the classic tales
through picture books telling stories as indeed were many of my friends. soar the
example of films made on books. When such films was introduced the sales of the
books invariably Take, The same applies to books based into TV series. With comics,
it are really no different. They s just one step away from dumbing a book. .

HI!-

& il A
ﬂlh

Exercise 18: connection revision

The passage below is taken from the second section of the book. Read through the text and you will be able
to understand the writer’s ideas, but you will not be able to see clearly how they fit together. Each section
marked 2-14 has a problem relating to connection in the text. Improve of correct the connections.

MNote that you may have to change the punctuation and add or delete words. Make as few changes Lo the texl
as possible. Note there are no spelling/grammar mistakes etc,

1. Sport has s wide range of benefits. 2. First, at an international level, football
encourages people from different cultures to come into contact with each other. 3.
Which then helps to break down barriers between different countries, 4. but furthers
international cooperation. 5. For exampie, amateur sports meetings between schools
and universities in different parts DF the wuﬂd 6. M&ny countries arrange contacts, 7.

el e Qe i :‘!-FH p..] l'i-1'|- ' IJ"l"-.i""'l' I""H"Il‘"l-l']q
Li v iefigs de LR

& r

8. namely cultural exchanges or t trade links. 9. It is obviously of murual benefit to all
concernad.

10. While some people are reluctant to take up any kind of Spﬂrﬂng activity, 11.

There is, however, overwhelming evidence that playing sport can have & very positive
effect on health. 12. Activity improves coordination and, on the other hand, increases
well-being. 13. It helps fight against disease. 14. Enhancing the quality of people’s

lives.

a7
£ Saen MoCarher
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Exercise 19: punctuation check

Candidates sometimes do not realise that punctuation in their writing is important. In the paragraph belo
all of the punctuation marks are in the wrong place and so the text is nonsense. Therefore, you need to mov
the puncteation marks around the text to make it read sense. Note that you will have to remove and ad
capital letters as you move full stops.

Example: the comma after the word righe in the first line should e after the word
Admittedly, and the full stop after sure should be afier the word purposes in the
second line. You should then remove the capital Jetter in the word thar and put a
cepital letter at the beginning of the word Whilsy.

Admittedly employers do have the right, to make sure. That the people wh
work for them are not using their work time for their own purposes whilst it i
impossible to deny the truth of this, opinion | personally feel that the invasiot
of an individuals' privacy by, allowing employers to check on employees e
mail’s and electronic work is, unacceptable employers. Can now track. even
piece of work done. for example they can check everything, workers do or
their computers what :work they have done what games; they have playe
what; they have looked at. On the internet they can also check whether the e
mails are related to their work. Or whether they are private surely all, of this

amounts to an invasion of the individuals privacy’

Exercise 20: agreement and singular and plural

Some of the sentences below are correct and some have problems with singular and plural or agresmen
between subjoct and verb. .

You cannot add or remove any words except to change a pronoun, e.g. it to them or a singular verb o s
plural e.g. is to are.

Look at sentence 1:
There is, however, several reasons why the situation need to be dealt with as a soon as possible.

Is there anything you would like to change?

1. There is, however, several reasons why the situation need to be dealt with as a soon as possible.
2. Many people evidently agree with this point of views.

3 These new toys, which come on the market at regular intervals, puts enormous pressare on parent
with voung childrens.
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4, Few are able to understand the complexity of this concept, but it do npot mean that it should be
igmored.

3. Beautitul surroundings are important for people’s sense of well-being,

L The compuier, whether in the field Gf works or in the home, are the source of as much good as they
are of harm.

7. Being in beautifu] surroundings are impotiant for one’s sense of well-being,

B. self-awareness do nof & a rule come easily o evervone.

Q. As far as safety and comfort on public transport is concerned, there is surely no room for equivocation

on the part of the powers that be,

10,  More attention than necessary have been devoted Lo this issue already.

T1.  Inrecent year, people have been more willing to accept greater siress at work than pm-.riuuﬁil',r,

12, The future of the car industry is certainly secure, because people will always want to trave] by private
transport rather than a public system which are ai the mercy of lack of funding and poor management.

13, At first glance, it woold appear thai all the available avenues has been exhausted, but there are a raft
of measures that can be implemented.

14, The growth of e-mail and the increasing flexibility of employers means many people are tumning o
kzle-working. T

15,  More than one in four of the workforce now works from home.

16, About two thirds of the workforce in this field are woman.

7. We must ask oursell whether it is scceptable for money to be poured into the arts when 20 many

peopie are living below the poverty lines.

18.  Ewropean painters such as Leonardo da Vinci, Raphael, Van Gogh eic is often more widely known
than more Contemporary artist,

19, The use of mobile phones are spreading rapidly among young people.

20, Politician need to pul greater effort into sorting out the mess in the education world.

21. Another problem here are the cost 1o the poor, once the measure have been introduced.
Informations hike advice depend lurgely on the expenence of those that one obtains them from.

2% The covernment are now in 3 auandary over this sitation.

o 2R R |- § : hpee el g

24, There are littke to choose between the tewo answers.

€ Sam MeCaner i
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Writing Task 1

You should spend about 20 minutes on this task,

The bar chart below shows a survey of a group of young professionals aped 20-30 years who were asked to
state which factors motivated them to succeed.

Write a report for a university lecturer describing the information shown below,

You should write at least 150 wornds.

Factors motivating people to succeed

Fear of failure E¥
Envy/jealousy
Rivalry ;

Personal satisfaction

Family pressure [§
Peer pressure H

Ambition

144 5 fam MeCaner
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Writing Task 2
You should spend about 40 minutes on this task.

Present a writien argument or case to an educated ‘reader with no specialist knowledge of the following

More and more qualified people are moving from poor to rich countries to fill vacancics in specialist areas
like engineering, computing and medicine. Some people believe that by encouraging the movement of such
people rich countries are stealing from poor countries. Others feel that this is only part of the natural movement
of workers around the world.

* What is your opinion?

& Do you think rich countries should pay poorer countries for the people they encourage to come?

¢  What other measures could rich countries take to encourage qualified people to stay and help develop
their own countries? \

You should write a1 least 250 words.

Use your own ideas, knowledge and experience and support your arguments with examples and with relevant
evidence,

i Bmrn Rdet ™ rlarr "}j s
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Writing Task 1

You should spend about 20 minutes on this task.

The bar chart below shows the results of a poll of theatre-goers on what disturbs them during performance
at the theatre,

Write a report for & university lecturer describing the information shown below,

You should wrte at least 150 words.

Iritants for theatre-goers

Big hairdos
Sneezing

*Armrest hogging
Tall people
Arriving late
Whispering

Snoring

Rustiing sweet papers

Bleeps
Maobile phones

*Armrest hogging: taking more than one’s share of the armrest

10 & San Mol
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Writing Task 2
You should spend about 40 minutes on this task.

Present a wiillen argument or case (o an educated reader with no specialist knowledge of the following

tl:rm,t:-:

One day the world's oil and gas reserves will run out. The scarch for altermnative energy sources like wind

power, solar power, burning waste, and water power are causing as much environmental damage as the oil
and nuclear power sources they are intended to replace.

How far do you apres with this latter statement?
What possible benefits do the alterative energy sources bring? OR What damage do they cause?

You should write @t least 250 words.

Use your own ideas, knowledge and experience and support your argaments with examples and with relevant
evidence.

3 B MetCarior i
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Writing Task 1

You should zpend abouwt 20 minutes on this task.

The graph below shows the value in thousands of dollars of three companies selling farming equipme
every five years from 1960 and their projected value from 2007 to 2012, Farm Implements Lid did not st

trading wntil 1930,

Write a report for a university lecturer deseribing the information shown below,

You should write at least 150 words,

4500 — Company values .

4000

A3500 +
- s I B - s | t

L
=
=

"00ds of dollars
Pt
=
=]

1800

1000

500 T

THENRRRRRY

1960 1965 1970 1975 1980 4985 1990 14995 2000 2007 2010 2012
Yaars

e

il Greenacres Ltd —1Famm 1mpleme¥:|ts Lid —— Carsons Lid

10  Sam MeCa
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Writing Task 2
You should spend dbout 40 minutes on this task,

Present a written argument or case 1o an educated reader with no specialist knowledge of the following -
topic:

Omly formal examinations, written or practical, can give a clear picture of students’ true knowledge and
ahility at university level. Continsous assessment ke course work and projects are peor measures of student
ability.

& How far do you agree with this latter stalement?

You should write at least 250 words.

Use vour own ideas, knowledge and experience and support your arguments with examples and with relevant
evidence. :

® Sam MeCarter : 109
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Writing Task 1
You should spend abowt 20 minotes on this task.

"The table below shows the percentage of pupils who entered higher education from five secondary schools
between 1995 and 2000 inclusive.

Write a report for a university lecturer describing the information shown below,

You shouwld write at least 150 words,

1995 50 90 30" 65 60
1996 52 80 35 70 59
997 54 75 40 75 60
199& 54 73 50 75 61
*IEEE 60 72 60 70 60
2000 60 70 80 Y
Writing Task 2

You should spend about 40 minutes on this task.

Present a writlen argument or case to an educated resder with no specialist knowledge of the ﬁ.‘r].lu'!ving
topic:

Althcugh tourists in many countries are a significant source of revenne, they are frowned upon for varous
reasons, For the tourist, however, ravelling is supposed to broaden the mind and be an educational experience.,

* In what ways do you think wravelling does this?
#  And in what ways do you think mravelling does the opposite, i.e. narrows people minds?

You should write at least 250 words,

Use your own ideas, knowledge and experience and support your arguments with examples and with relevan:
evidence. :

LR & Saen MicCartor
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NMriting Task 1
‘o should spend abowt ) minwtes on this task,

he diagram below shows the results of a survey of a sample of 1,000 people-on the different sources of
oise which cause anuisance. The severity of the nuisance is measured on a seale running from Not annoying
» Extremely annoying.

o
¥rite a repost for & university lecturer describing the information shown below.

‘ou should write at Beast 150 words.

Iot annoying Fairly annoying Annoylng Very annoying Extremely annoying

S MicCarier (1]
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Writing Task 2
You should spend about 40 minutes on this task.

Present a written argument or case to anseducated reader with no specialist knowledge of the following
topic: -

As populations grow and cities become more crowded, there is pressure throughout the world 1o construct
ever taller buildings to provide a-ccnrmnndamm and offices. Many people object to such developments,

St lhi- |.ru-|u.| 1 1l.l|il-|| ac tha l"||"|'|.|'E i3 MoeTs
"-\.IIIII,E. EEFL=g Lkl LR gl f S .-..-..... "'b -1

J What benefits do skyscrapers bring?
# Do you agree with the objections to skyscrapers?

You should write at least 230 words.

Use your own ideas, knowledge and experience and support your arguments with examples and with relevant
evidence,

&5 Sam Abri ardad
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Writing Task 1

you should spend aboot 20 minutes on this task.

he maps below show the changes in the size of West Farm and in the value of the land per hectare over a
reriod of 90 years from 1900 (o 1990,

Write a report for a university lecirer describing the information shown below.

Fou should write at least 150 words.
West Farm 19200 - 5,000 hectares
Valve per hectare: 1 deoliar
West Farm
fﬂf’ f{?;,‘
West Farm 1925 — 850 hectares
Value per hectare: 20 dollars

P i 13
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West Farm 1940 - 1700 hectares

v-ﬁlug nar hacrlars: 758 dollaee
" mEE r"-' B - AN N F e LELFAASE N OF

West Farmm

West Farm 1970 - 500 hectares
Value per hectare: 100 dollars

West

West Farm 1990 - 3,500 hectares
Value per hectare: 125 dollars

i Samn McCarter
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Writing Task 2
You should spend about 40 minutes on this task.

Present 2 wnitten grgument or case 1o an educated reader with no specialist knowledge of the following
topic:

Trees are essential for the existence of the human race as they provide the oxygen that we need to survive,
Yet, daily all around the globe large areas of woodland are being destroyed. Many people feel that they as
individuals can do nothing and that only governments and large companies can halt the destruction,

L How far do you agree or disagree with this?

Uze vour own ideas, knowledge and experience and support vour arguments with exarnples and with relevant
evidence. i

-

A Sane hlel arter LL L]
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Writing Task 1
You should spend shout 20 minutes on this sk,

The charts below show part of the results of an extensive public survey on people’s attitude to a range of
[HELLES.

Write a report for a university lecturer describing the information shown below,

You should write st least 150 words,

Do you think more money should be invested in
education?

1! Yes ONo O Don't Know

Do you think more money should be invested in haaith
than education?

30%

30%

ll Yes £ Mo O Dan't Know

116 i Sam MeaCarter
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Do you think more money should be invested in public transport
rather than education?

5%  10%

85%
B@Yes ENo [1Don't Know|

Do you think taxes should be raised te pay for public services such as
education, ealth and public iranspori?

Dom't Know

Mo

Yes

Writing Task 2

You should spend about £0 minutes on this fask.

Present a written argument or case for an educated reader with no specialist knowledge of the following
Topic:

In the future, we will have more and more leisure time as machines replace many of the tasks we do at home
and at work. Discuss the benefits this will bring and also the problems it will cause.

~ You should write at least 250 words.

Ulse your own ideas, knowledge and experience and support your arguments with examples and with relevant
evidence.

£ Sam MeCarter 117
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Writing Task 1
You should spend about 20 minutes on this task.

The table below shows the percentage of the rooms occupied in six hotels during May to September between
1985 and 2004, The table also indicates the star rating of each hotel,

Write a report for & university lecturer describing the information shown below,

You should write at least 150 words,

‘Stars 2000
#rae 66
sras 70
A 85
- 95

| -4-_' 100

Foin i

Writing Task 2

You should spend about 40 minutes on this task.

Present & written argument or case to an educated reader with no specialist knowledge of the following
topic: '

Th_a Internet is becoming more and more central to our lives, as it provides more and more information, acts
as interactive entertainment, and as a means of voting, etc, These functions have obvious benefits, but there
are dangers involved in the control the Intemnet is exerting over oor lives.

® What benefits are involved?

¢ What dangers are involved?

¢ How far do you agree or disagree with the opinion expressed?
You should write at least 250 words.

Use your own ideas, knowledge and experience aad support your arguments with examples and with relevant
evidence.

Lia & Sam MoCaner
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Writing Task 1
You should spend about 20 minutes on this task.
'_]'11rr: chart below smws the actual and estimated number of visitors to a new art gallery from its opening date
in 1990 up to and including 2001. It also indicates three events in the gallery's life. Below the chart there are
* two pie charts which show the Satisfaction rating of visitors to the gallery in 1990 and 2001,
Write a report for a university lecturer describing the information shown below.

Yﬂ ; 2hil 1d weriie ar lamet ljﬂ werrwrrie

L LR FrAaiie s dnonEael B L B

4000 g —
3500 -+ Actual numbars
_ A
3000 -+ - - Mew Director appointad
o 5 s
E 2500 + Director aackad Shop opened
E
w 2000 +
g M
ﬁ 15m T = - ':. ! ' . :
1000 + : :
R o +
Estimated numbers
0 — - } } i } o s s } ]
1990 1991 1992 1993 1994 1995 41996 1997 1998 1999 2000 2001
Years

0 Sam MoCarer bl
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Satisfaction rating in 1990
30 —l .30

40

COSatisfied B Dissatisfied
B Don't know

Satisfaction rating in 2001

[JSatisfied Ed Dissatisfied
& Don't lmow

Writing Task 2 :

You should spend about 40 minutes on this ask.

Present a writlen argument or case o an educated reader with no specialist knowledge of the following
Lopic:

High technology is now being harnessed to help the elderly by providing monitoring, tracking and, perhaps,
onc day robots as companions. Whilst there are obvious benefits for the elderly in these developments, some
people are uneasy about the social consequences.

#  What are the negative consequences?
¢  What s your opinion on the matter?

You should write at least 250 words,

Use your own ideas, knowledge and experience and support your arguments with examples and with relevant
evidence,

120 . & Sam MclCaner
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Writing Task 1

T

You should spend about 20 minutes on this task,
Tl.‘negrq:lhbelﬂ"ﬁ'ﬂnwsImmmﬁmﬁn;ufﬂusmﬁinfmmlhﬁfmm]?ﬂlmm.

Write 2 report for 2 university lecturer describing the information shown below,

You should write at lease 150 words,

1891 1982 1993 1994 1995 1996 1997 1998 1999 2000 2001 2002

© San McCarter 12
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Writing Task 2
You should spend about 40 minutes on this task.

Present a written argument or case to an educated reader with no specialist knowledge of the following
bopic:

The wealth of a nation is said to depend on the health of its citizens. Yet, in the modem knowledge-based
economies of the world, education is more and more being seen as the main foree in the development of all
COountries,

$ Do you share this view?
4 Are there other factors involved? If sa, which?

Yo should weite at least 250 words.

Use your own ideas, knowledge and experience and support your arguments with examples and with relevant
evidence, )

12 & Samm MeCaner
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Exercise 1

|. False -1 True 12. True
L True 8. False 3. False
5. False 9. True i4. False
£ True 10, Troe 15, True
3. False I1. False. Note the phrase

5. True Juxt short af,

s of the sentences are general statements, e.g. 2.
cic. Statement 1, however, starts off generally and en

L AL

6, B, etc. Oihers contain specific detsil, e.g.
ndds with spec

ecifie inforrmation,

Exercise 2

&  The number of books sobd was fairly sicady over the first few weeks of the year with a slight rise to 200
per day. [4]

&  Afer that sales wend up and down wildly, first doubling 1o 400 units, [T¥]

¢  and subsequently falling back erratically again to 200 books. [C]

&  These Muctuations were followed by a period of stability as sales hoverad around the 200 mark. [E]

¢ Book purchases, however, proved very erratic again, but the trend was up'-'rard this time, reaching the
400 per day level. (V]

&  The number of books sold then plunged dt‘amaul:ally. hitting a low of 100, only to bounce h.—.'H:l‘. to 500
books 2 day. [1]

&  The recovery was short-lived, however, as sales fell back again to 200 [B]

% around which they remained for a short time [E]

4%  before climbing again, aﬁml fitfully to 400, [D¥

*

Book sales then plummeted 1o a new low of 50 a day where they stabilised for a period before shooting
up again to the 600 mark. [G]

4 This was followed by a sharp drop of approximately 80 % in the mumber of books purchased. [H]
Motice:

€  the variety in the noun phrases used 1o avoid repetition: The number of books sold! sales! books! sales!
Book purchases/ The number of books sold/ sales! Book sales/ sales/ the number of books purchased.

#  repetition is not about avoiding the same word altogether, but alternating it with other words and phrases

%  the other attempts Lo avoid repeating the same words, e.g. hovered, remained, stabilised and the sales
went up and down ... these fluctuations ... .

Compare Exercize 108

© Sars McCarter 125
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Exercise 3

i. . . F 1. B. 6. K
2. Q. 1. A 12, H. 7. 1,
3 E 8. L 13, L i8. 0,
4. M, 9 R 14. P o 5
5 D 1 N 15, 0.

As in Exercise 2, notice how the passage avolds repetition through phrases like: the mumber of houses bui
the number of houser thal were érected’ new house construction, What other words and phrases can y
find?

Exercise 4

[

With this kind of bar chart there is no tread. The items listed can be compared by putting them in

groups or categories, if it is possible Lo do so.

The horizontal axis lists the factors about which the survey sample was questioned. The vertical ax

gives ihe percentage of the sample who cited the factors as causing stress. It is worth noting that ¢

percentages do not add updo 1009, 45 in a pie chart. Also members of the sample are likely 1o ha

quisted more than one factor, For example, in the case of Getting divorced 600 people said thar this w

a stress factor, whereas 300 people cited Noise problems. We do not know if the latter 300 all quod

Getting divorced as a fsctor or whether 150120 or none quoted it

Because the fuclor with the highest percentage does not go above 80%. 5o there is no need to go up

100F%:, This is commaon in graphs and bar charts,

You could put the fackars into three groups those that are work related: Geiting fo work, New technoloy

Werrk relased woreies; those thit are family related: Gerring divorced, Chifdren s future, Home securi

Maoving howse, Problems with neighbowrs amd Noise problems; and personal factors: Worries abo

own futire, You could put Getting divorced into the last group. You could also have other groups,

By putting the factors into these groups, it is easier to compare and contrast the factors. You can comps

the groups and you can compare the items within each group and across groups,

You could write: € the adulrs polled, maore than T0% cited Moving house as the main stress factor.

Amang the factors relating to the home and family, Moving howse was the highest at over 70%. {

Moving house was given by more than 70% of those polled ar cauging the most stress, There are al

other ways, -

You could write: The stress factor with the lowest rating in all three categories was Problems wi

neighbours at approximately | 5% of the sample. Or you could write: Problems with neighbours isfwe

areiwere rated/givensoited/mentionsd/quoted as the foctor creating the least stress ar approximate

15% of the sample,

There are not many words that you could use as aliematives here, you could have: contributing facto

cause; reason for; reason why; source of.

They should read:

& wanfs cited... [ weredare cited. It depends whether you consider Worries ... as an ttem or a plus
word, The tense depends on whether you look at the chart as it is now or as the result of a past surve

& ... Work relared worries ar a factor....
% ... 40 per cent of those sampled .....

. The information is organised in different ways in each sentence. If all of your sentences have the san

pattern, the examiner will think that vour range of grammar is limited. It is not enough just to have
range of vocabulary. In the first sentence, the percenitage is the subject of the verb: 30% _., cite worri
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11.

about the fieture of their children. In the second, worries is the subject, In the third sentence, 30% is
again the subject and stress the object. There is a further difference worth noting, The verb in 10a is in
the present tense and the others are in the past. You can tallc about charts like this in the present, &s you
are looking at them & 4 fact now. You can also talk about them in the past as the survey has already been
conducted, Note that the verb cite is in the pl&ral.

wocauseld) stress; arefwere quotedicited as a cause off a5 causing siress/ as a comtributing factor to
JHrEXE,

12. It is generally easier (0 describe rends and changes from one time o another, Also the items on bar
charts like this are sometimes difficult to use in sentences as they tend to make long noun phrases as in
9 ubove. Note also that here the writer has used capitals to guote the items on the chart, e.g. Moving
houge, but when putting the items into a sentence as in 10a above, remember you are not quoting the
item directly: ...cite worries abowt the future of their children ..... You are putting the item into the
grammar of the sentence and capitals are not necessary. You may also find that the different items in
charts are presented with or without capitals or all in capitals,

Exercise 5§ '

. February 7. May

2. February 1o April 8. June; August

3. February w April 9. May; November; December

4.  May, August, May 10. August December

5. January 1. August

6. January, April; February, April

This exercise like the previous ones makes you interact with the chari so that you can relate to graphs eic

maore easily.

Exercise 6

1. I 7. B
2. F 8 C
3. ] 2. M
4, E . K
5 H 11. G
. |

s

Note how you can predict the next part of the text using the grammar. For example, 2. F(... TV and ...} 3.
D ...allfour...;4.E{... people ... play ...); 5. H{( ... in Reading, 25% i ...) and so on.

Exercise 7

R e

10 years of age.

When he was about 25 years of age, .

1040 years of age.

From his mid-twenties to the age of 70; from his early 80s until he died at 100,

In his early 40s.

After they were published for the first time, none of their writing went unpublished.
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7. The novelist,

8. They both died at the age of 100,

9. He wrote for a longer period than the others before his work was published - between the ages of 20 anc
approximately 35; he was the only one who died while his work was not being published; he had the
shortest publication tirme; he died before the others.

10. You could put the two academics together and the novelist and sei-fi weiter together. Or you could pui
the: Sci-fi writer and the two academics together in one group.

11. The first group in 10is logical becawse of the type of writing. The second group is logical becanse of the
nature of their published work. The publication record of the Novelist is noticeably different from the
other three.

Exercise 8

A. Thameshart . G.  TewkesMart M. 10

B. FineMmart H 17 M., 20

C. TewkesMart L. Electrical 0. Toys

0. 0005 of euros | I |

E. daily sales (figures) K. Compuier

F.  percentage L 13

Exercise 9

1. FinGroup Ltd 19. FinGroup Ltd

2. Man Lid 1. Man Lid

3. Bluebird Lid 12. Bluebird Lid

4.  Maoan Lid 13, Man Lid

5. FinGroup Ltd 14.  FinGroup Lid

6.  FinGroup Lid 13. FinGroup Ltd

7.  FinGrouwp Lid 16, hdan Lid

E. bian Lid

2. Bluebird Lid

Exercise 10

1. [In 201, there were wild flectuations in personal computer sales at YH Warchouse.

2.  Dwring the three-year period, there was an obvious downward trendftrend dowmward.

3. Picking up aggin in the first quarter of 2000, sales rocketed by more than §1005%,

4. There was a marked improvement in computer sales in the first quarter of 2000 with a surge of more
than 100% [or with a more than 100% surge]. Or There was & marked improvement in ihe first quarter
of 200 with computer sales surging more than 100%.

3, From the first quarter of 2000 through fo the Nest guarter of 2001, there was a fall of ot least 1,000 in ithe
number of computers sold quarierly. Or . there was a [all in the number of computers sold quarterly of
at least 1,000.

6. PC sales declined gradually during the first three guarters of 1999,

7. Alier 'Fnllln-: gradually from 14,000 w0 approx ll!'!ﬂ‘l‘.i"h.l 6 0 i e Firea o ur guarters, guarterly compaster
sales mLH‘:-Ilsud sharply in the first quarter of 2000 to 12,000

8. Between the first quarter of 2000 and the first quarter of 2001, sales decreased at a much slower pace
than in 1999,
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9, Over the vear as a whole, there was a significant decrease in computer purchases
10, Im the third quarter of 2001, there was a dramatic jump in the volume of sales.
11, Declining dramatically to arcend 2,000 machines in the second quarier of 2001, computer sales suddenly
leapt to B,000 in the third quaner, _
12, After soaring in the first quarter of 2000, purchases then fell back again the following month
Exercise 11
£
"
E =
s e
E| o]
i 4]
Sy
s
g
Ih;l Actisl Mumbers —e— Estimated.Humbers
Exercise 12
L. wiii
2 ix 7. = 13. -
3K 8. xii 4. i
4 - 9. v 15, -
5. =il (Note that to avoid the 10 - 15, xv
repetition of the word recedve 110 Xi (IUis better to use handles 7 v
in the first paragraph, it is here in order to avoid the |8 xvii
better to use takes here.) repetition of the word fake. 10
G, = See B above.) o
B2, i 21. xiv
o Baen MieCurser 17
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Exercise 13
Read the text and find where the words and phrases have been added, The first one has been done for you

The pie charts show the market share of grashing machines made by four companies over the period 1990 to
2000 and the resulis of a survey on whether custorners would consider buying the new Dyton washing
machine over the same period.

During the first year of sales of the new Dyton machine in 1990, its market share stood at 2 percent as
opposed to 60 percent for the MMC product, 20 for the Corr washing machine and 18 for that of Obecalp. In
1993, howeves, MMC Ld lost ground to its three other competitors. While Corr Lid and Obecalp Lid both
increased their market share to by one percentage point each in 1995, Dyiton Lid captured 8% of the market,

a rise of 3005,

L]
In 2000, Divton's market share had

Lid, Obecalp Ltd and Corr Ltd falling to 39 percent,

The bar chart shows that the Dyton machine exceeded its
1995 to 40 percent in the year 2000,

TR
noreased o 32% at

1 . oo

t the expense of iis three main competitors with MMC
17 percent and 12 percent respectively.

popularity rating in each year, rising from 5 in

It is clear that the sales of the Dyton washing machine were on the increase over the period,

Exercise 14

As you build the text, you can use the grammar
a similar process is taking place.

Paragraph LEIFPDHRMGBCNAJOQKL
Paragraph 22 UVTSY WX

Exercise 15

1.

A, Alternative A avoids ihe
repetition in B and gives
more information than D As

correct grammatically, but do
not express the information
quite 50 neatly,

3

o predict the next section you need. When you are writing

A. Note the repetition in B.
The word say in C is not
suitable here., The word

for C, using the noun here 5. B. See IC. As you predice in A is okay here as it
feels awkward, and it repeats concentrate on the immediate is now a long way from the
the beginning sentence. text, it is easy to forget words first sentence

2 A. Alternative B is not that have been wsed before. 9. B, Notwe the grammar of the
comrect, because it is nol a The word predicrion is no other alternatives.
matter of losing people (that that far away! I I3, MNote the grammar in
you cannot find); in C the 6. B. relgtion to the previous
word down is wrong; and D 7. B/C. Both are correct and B section of text,
i too informal. might be better if you wanted 11, C, Altermnative D is possible,

3. A Alternatives B, C and D to avoid the repetition of the but AB are less likely as you
are repetitive. Also using the construction with + Hown as would need the word and at
preposition with followed by in JA. A is possible, but ot ifie beginning,
anoun is more sophisticatad, a3 good as the other two, Note 12, B,

4. D. The other alternatives the repetition in D of forecast- 13, D,
mean the same and are see 5H.
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Exercise 16
The changes are marked in bold. o

The bar chart shows the predicted profits for nextwear in thousands of eurss for three companies, two of -
il i Lo

which will not start trading until April,

Tardy’s profits are forecast to come in at the 180,000 level in January and are then expected to remain there
uniil March, following which it is estimated that they will shoot up sevenfold in one month, to 700,000
eurcs in April. After a modest rise in May to 800,000 euros, profits are set to remain stable for the rest of the
year. -

By contrast, it is projecied that the profit for Martfirst will operate at a loss of 100,000 suros in the first
month of trade in Apeil. Thereafter, however, there is anticipated to be a steady increase in profiis, which
will climb at the rate of 200,000 euros per month until they reach 800,000 euros in August, Profits will then
remain steady for the rest of the year.

As regards Finenet Lid, a Joss of 300 000 euros is expected in its first month of trading, but then from May
1o Sepiember, profits will climb quickly to | million euros, before falling back slightly in the subsequent
three months.

A% can be seen, the overall trends for the three companies are upward.

Exercise 17
The Ml text iz as follows:

The bar chart shows the results of a performance assessment by the colleagues and subordinates of four
managers. [n the assessment, the performance of the four managers was rated on a percentage scale,

Omne of the most striking features of the chart is the ratngs scored by Mr Chandra, who consistently achieved
T0% or above in all categories with the highest being the Ability to command respect at 90% and the lowest,
Management Mair. at 70%. Mr Chandra also came out top in seven out of the ei ght categories

Mr Forrest, however, was at the opposite end of the seale. Out of the eight categorics, he scored only 105 in
five, managing to gain higher ratings in only three categories, of which the top was 5% for General
appearance. For the other two, Punctuality and Staff management, Mr Forrest gained 30% and 15%,
respectively.

OF the other two managers, Mrs Monroe's scores ranged from 809, her highest rating, for Puncteality to 5%
for General appearance, the lowest of all four managers in this estegory. Likewise, Mrs Whithread scored in
the range of 70% for Organisational ability to 30% for Staff management.

D Sam MoCanes
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Exercise 18
1. of changes took place 5. was effectively doabled by the
2. plotz of land enlarged the garden/made the g another/a plot (of land)

garden larger. 7. was extended on the southern side
3. adjacent to the southern border was bought 8. planting of an orchard
4. almost equalled. [Note the word and connects 9 added to the garden

two main verbs was bought and equalled. Note | 4 vegetable garden [was added]

I

==

the tense in the second paragraph. You could lines of trees were planted [Maybe, to avoid th
write the whole text in the present. | repetition of the word plant { sec 8 above) i
this version you could use erected here.]

Exercise 19
Macrohard [ed Barnes Ltd Eastman Lid
% % %

196 2 B 15
1965 2 10 13
19740 13 12 14
1975 26 14 Y
1983 32 6 19
2000 63 45 23

Please note the following:

Aveidance of repetition:

Mote how the text tries to avoid using the same verb each time. Note also that the verb kel is repeated, but
the second is far away from the first use of the word and it is passive, whereas the first is active.

-+« IMONE WOMEDR Were in senior positions ...
- waomen keld 7% more top management jobs than in 1970.
- top posts were filled by women ...
o 2% of senior posts were occupied by women ..
-oo there was & 6% increase in female senior management jobs ...
.- the percentage of senior posts held by women was 8% ...

& A i B B B

General to specific

The trend was fairly erratic (General], with a 2% drop to 13% in 1965, followed by a rise of 1% five years
later, [Specific]

13z 0 Sam McCane
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Comparison and contrast

Mote the different ways that comparison and contrast are used in the text,

#  While at Eastman Ltd ... than the two companies in 1960 at 15. In 1975
¢ After a slight drop back to 19% in 1985, by 2000 25% of ...

$ -..women held 7% more top management jobs than in 1970,

@ By contrast, at Macrohard Lid women fared much better,

L
L]

... 63%, the highest for the three companies,
The situation was less remarkable at Barmes Ltd than the other two firms except for the year 2000,

Exercise 2
Text 1. A 2. A 3. C 4 B 5, C 6. B 7. A

Pictures 1. ] 2. 1 3 A 4. D 5. C 6. H 7. E

3 B 9. G 10. F 1. ]
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Exercise 1
L a cor i 13. d. If you replace the
2. b. Note that this is theoretical : f fg.:tlr AR exclamation mark with 2 full-
possibility. We do not know 5 b stop, this sentence becomes a
whether it will be built or ot 8. o Nom o past possibility
3. b.Compare number 2. This is Eﬁ;ﬂ,ﬁiﬁ,ﬂ;ﬂ;iﬁf}f_ 14, ald
practical poasibility: It is Copare number 9, 5 a
physically possible to build o _ Compare Sc. 6. ¢
the motorway. 0. b 17. ¢
4. d 1. hid I8. afe
£ @ 12 b i% a. The word criminal
indicates the writer’s opinion.
Exercise 2
1. (c) a result, Note the refationship: condition/ 7. (a) an exampledic) a tentative proposal
result. 8. (d}a condition
. [a) a result, Mote the relationship: condition’ 9, {a) a reazon. Note how the reason is eXpressed;
result. Also note how the verb 4+ ing is used 1o Being aware .... Compare numbers & and 1.
give the result, 10. {2} a contrast
3. {a) examplesi(b) an explanalion, Note how the 11 (o) a reason, MNoie now the reason is expressed:
lext in italics explains how young people are 1o Knewing ... Compare numbers 6 and 9.
be encouraged. There are bwo exampies, 12. (a)a conclusion,
4. (byaproposal. Note the relationship here: reason/ 13, (b) & concession. Note how the concession is
proposal. expressed: ...may ..., bur .., Compare number
5. ic)aconcession. The contrast is in the other part 5 above,
of the sentence.
fi.  (h)a reason

Note how a result is expressed in different ways: compa
also the different ways that reasons are expressed

Concessions are expressed in sentences 5 and 13.

Exercise 3

1,

ia} a proposalfih) a recommendation:
(d) a reasonfie} a result

(o) a purpose;

{a} a proposal\b) a recommeandation
(a) an opinion/(h) 2 measure;

{c) an explanation{d) a reason

(&) a suggestion;

{c) a tentative resulthd) an effect

(2) & suggestion;

(b) a resulifid) an effect

(@} a sugpestion;

(C) a purpose

{1}

1.

12,

re sentences 1, 2 and 8 (the main clause) Compare
i sentences 6, 9 and 11. Note also the different ways

(b} an ohlization:

(d}a result

(b} a conclusion (&) & conse:
(o) an effact

{b) a concession:

{a) a contrast

id) a reason {e) a cause:
(b} an effect (c) a result
(d) a reason (e) 8 cause;
i) @i effect {¢) 2 result
{a) & reason;

{c) an expectation
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(&) a coneession,

(c])a conlrast

Ix} a general statement;
(a}an explanation

. () a general statement,

(d) an example

Exercise 4

ieltsdinhluc.vn

If you find the exercise difficult, check some of the answers in the key. Then leave it and try it again another
ime. The sentence pairs are as follows:

*

g e B

18 or 1871 ] 749

M4 % R/16

13/3 & 917 or 1749
4700 or 1144 $ 20012 or 12720
25 L ] 10F15 or 15510
2200

MNote how it is possible to write some of the sentences in a different order.

Exercise 5

Remember the sentences in each pair should have the same meaning.

e
e

Exantple: A (xifi) moveover

Example: B {xvii) as well as

A (viy although (xviii) though [{xxii) is
awkward here because of While whar ...)
B {xvi} bul. You cannof use although or
fheugh here,

A (x) although .. yet

B (xiv) even so {xxi) nevertheless (xi)
however, The word Aowever here 15 nol
a3 strong as the first two and probably
does not have the force of altheugh ...
yelinm A

A (xv) o that

B (xix} in order 1o

A (1) mowch as (vi) although (xvik)
though (xxii) while

B (xxiii) despite

=l
v

10.

A (1) otherwise

B (xx]} so a5 not

A (xi) however (xiv) even so {xxi)
nevertheless

B {xvi) but {vi) although (xviii} though
& (xwviil) though (ix) as

B (i) although (xviii) though (xxii)
while

A Uxil) 50 moch s0

B {v)so ... that

A (v} having

B {iv) once

A (vii) therefore

B (ii1) so

. Adxxy) For example

B ixxiv) Take .... This

4 Sam McCarier
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el LEST o

The government plans to help poorer countries by cancelling 2ll third world debt. Or ... by the
cancellation of ... Or; By cancelling/the cancellation of ..

2. Immediately the rules were introduced, congestion was increased/they increased congestion/congestion
increased.

3. Governmen officials have consiantly been denying charges of cormuption, while secrefly accepiing
bribes from businessmen and lobbyists alike. (Or While constantly denying ..., government officials
have secretly been accepting ... .)

4. The government plans to boost renewable energy generation will be announced today by Geoff Healey
in his first pelicy move since becoming environment minister,

3. Being acrime against humanity, the destruction of historic buildings for whatever reasons is repellent to
iy people.

6. Charges for entering city centres will be introduced shortly. raising the cost of motoring.

7. The-local autherity wanis to improve the area by knocking down old wwer blocks. OR: By
knocking ...

. The project. opposed by both big companies dnd government departments, aims to regenerate afl slem
areas in the next decade.

8. The decision morks the beginning of real competition in the electricity market, which was a monopoly
for maore than a hundred years, uniil new rules wok effect in January, allowing ElectCom to license
competition.

1k All car companies are now expected to face stiff competition following a damning report from the EU
Competition Commission,

L1. The fares have risen substantially over recent years putting people off public transport,

12. Companies need to play on their strengths putting more effort into successful areas, while reducing
investment in failing ventures,

13. The government could force through the construction of cheap houses for essential workers by purchasing
ull the brown-field sites in major cities, '

Qr: By purchasing all ..., the government could ... Ge: By the purchase of .., the government could ...

Exercise 7

L. Mr Forest, president of the company, has upset the vice president and the directors by proposing to sell
the firm to one of their rivals in the feld, allowing the president to keep his job, but removing the other
directors.

2. The drop-in centre offering counselling and supported by the local church is a testament to the
government’s weakness with the church outdoing it in providing contraception.

3. Mrs Dunn, chairperson on the commitiee, has alarmed other members with her bid/by bidding to change
the constitution of the committee, allowing the chair more powers.

4. The government plans to extend a proposed renewable energy scheme, which will include development
of all new hydro projects, may upset environmentalists, who claim that larger prajecis damage eco-
systems and threaten wildlife. [Nose the verb plans in the exercise has been changed 1o a noun here!)

3. The government is expected (o face stiff opposition 1 its proposal to ban smoking in all public places
for the first time from the antumn, following a report by health experts, demning present government
policy.

6. The licences to provide the rail service, which will last 10 years, are intended to help rail companies to
secure financial backing by improviag punciuality and the standard of service,

7. The govemnment has refused to accept responsibility, while trying to smooth things out behind the
SCenes.
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8. Charges for entering all museums and art galleries will soon be dropped, hopefully leading to an increase
in visitor numbess,

9. The report, strongly supported by patients and medics, stated that hospitals should tighten up their
appointment procedures.

10. Some people think that pollution will be reduced by recycling materials like bottles and paper.
11, The government plans to boost voting in elections were announesd last week by the Home Office

Ministcr immediately afier he took up office. o P L

Exercise 8

! 1ﬂll.:hll-u.r'| af fnebkling ihe paciili rha --.-l.-.-lnin.n mnprne s g b aodl A ol
- : OF TCRIME N8 s, NS UnGenying Cause neads b0 e addressed.

2. The proposal o legalise cannabis was rushed through resulting in the number of social problems
inereasing. [Or: .. resulting in an increase in the number of social problems, |

3. Mot having been thought thiough carefutly enough, the venture Failed.

4. With more people using it {Or: . _the system], the system [Or: ...it] will fall apart soon.

3. The government needs to recruit more police officers to patrol the sireets; otherwise, the crime rate will
increase.

6. Despite having a number of objections 1o the intreduction of higher taxes on petrol, on balance, 1
support the policy.

1. Much as'1 have some objections to the introduction of higher taxes on petrol, on balance, | support the
policy.

8. The law having been relaxed, we can focus resources on more serious matiers,

9. This is an idea with 2 number of bad points and a number of good poinis,

10. Though causing some inconvenicnce to the public, the idea will be implemented,

Exercise 9

1. as/since/because 6. Despitefln spiie of Though

2. Planning 7.0

3. Having taken/Taking 8. &0 as not! in order not

4. Making/Having made 9. otherwise

3. thoughfas 10, Once/Tmmediately/After/When
Exercise 10

Unless money is invested in the infrastructure of the country like the transport system, a number of problems
will arise. For emmp}r. the sj-stcm will wear oul and break duwn, causing serious inconvenience to the

ll'ﬂ.'l-".'}llll'lg PIIIJII'.'.! This Wwill nave a l.ﬂl;ﬂ:ﬁ.-ﬂﬂ E'.I'[IECI O LI']E: coonamYy ||'|_ E:ml H"“l e FIED_FHE- tﬂl’l'lll'l: o
cars and the roads becoming more congested, which, in turn, will slow the economy down,

Mote that the paragraph contains 68 words.

g BB e e
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Exercise 11
Please note that there are other possible ways to conneet the text. This is just an example.

Uniess public funds in many rich western nations are invested in skills shortages in certain areas, lik
teacher training and teaching, there will be serious repercussions, First of all/For examiple, the educations
system will deteriorate further and simply collapse, seriously affecting the whole of society. This will hav
serious consequences for companies, which will turm to other countries where there are no skills shortage
i set up new ventures. In my home country, for example, factories are being built in areas where there is
surplus of skilled computing staff. As a result, governments in mare developed countries will have les:
money from taxes o fund training.

Maote that the paragraph contains 107 words,

Exercise 12

I ! 6. G . A
2 E .. F 1. G
i 8. [ 13. G
4 C 9. B 4. C
5 0 1. H

TYou might wish 1o write out the functions for one of the two paragraphs on a piece of paper and then write
a paragraph of your own with the functions as your guidelines.

Always remember that functions may be combined in many different ways to form paragraphs. The paragraphs
in this exercise are only examples of many different combinations.

Exercise 13

The order of the text is:

& i1 ¥ 2
& 1 & 4
¢ 10 ¢ 3
L ] i L ] il
¥ 5 L 0
® 7 # 14
LI 'l 13
Exercise 14

1 A 5 C
2 D 6 B
1 D 7 B
4 A
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Exercise 15

. g 5.
2 h &,
3. =] 7.
4, a i,

e -

ieltsdinhluc.vn

As in the previous exercise you may want o use the questions for guidelines when YOl Wile,

Exercise 16

! 2
2 d
SO
4 f
] 1

= WD =] R
& =

Exercise 17

5ch
TFiv
fHav
2hwi
4 e
g vii
3di

i@ ol W B B

Exercise 18

(=2 T Rl

The sequence of the first section of the text is: 1 3 5 2 6 [Note text 4 is irrefevant]

The sequence of the second section of the text is: 6 11 10 12 14 [Mote texis T8 9 13 are irrelevant]

Exercise 19

—

B. This, however,

B. Were the government to do this, it I,
To do so

B. They are both C. Both are

A, it B, the findings

A. S0 much so C. It has slowed down so
mach

T

b Lo

Be Mt mn

9.

1. This sensational event

B. it

B. the increase/ C. the rise — but nole the
repetition of the word rose,

A it B, the venture,

10. C. Having D. Once they had

& Rurn B M ardeer
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xercise 20
B. the subject D. it 7. B. Unfortunately. many of the trees
B. There 8. B.To carry oul such a proposal

9. B. decnmmmalisation C. this

AL These C, These evenis, . ; g
10, AL g situation whick C. but this

T dbsia §nvn P A P i
LR R R LR SRR T

A sueh a condition
. The ban: D The restriction
[ This may alse be possible. ]

xercise 21

B/L. Mot €. bevause you do not know exactly what it refers o) and not F because of the repetition of
such.

ANCIEMGIE/MIN. FH/L are almost acceptable, but they involve some repetition, which it is better to
avoid. For example, F repeats the word such; H is straight out of the first sentence; L is not quite
acceptable because the repetition of the word fhis would seem awkward if we use B at 1.
ABMGHITRIMIN. Note we need to avoid repetition if the item has been used before. Mote A/E/GE/M/
N in 2 above,

P

. Mote E und G are perhaps too general here, but N may be scceptable. Again, we must bear in mind

the roemodspamme s 1 ogmel 1
Lo TREHDULADR IN £ J3T 5.

- Mate that the ward behaviour in this sentence and the grammar rule out the use of F/L here.

H S SO0

xercise 22
e inserted iterms are marked in bold:

her people, however, are of the opinion that wind farms are ugly, being nothing more than an eyesore or
it on the landscape, They point to the fact that the giant wind turbines, which make up the farms are
squently built in remote areas of great beauty. Moreover, whilst such farms are inaccessible to most
ople, the machines can be seen from a great distance, A further downside is that wind farms may
ovide sufer alternative energy than nuclear power or carbon based energy, but they cause greater damage
m ihe pollution they are intended to prevent. The same arguments apply (o windmills at sea, nnless
rhaps they are far enough off the coast not to be seen. The obvious objections bere are the cosl of siting
¢ wind wrbines far cut 1o sea and of bringing the energy back to the shore.

xercise 23

Ea_campl-er There ars two basic similarities between the two essays. [n each essay, the general subject is
crime and the essay is organised around focus words: causes and reasons for, which both mean the same
thing. The difference is that the first essay title is presented as a question, whereas the second one makes
B statement abaut the present situation as regards crime and then poses a question. In the end, the
orgsnmisation and the content of the essays are the same.

£ Sam MeiCamer
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The questions: How far do you agree ? To what extent do vou agree? basically mean the same thing. The
main difference here is that the emphasis in A is on education and in B measures sich as fines. You have
to be careful with thas, especially when you are writing vour introduction. You might write: fagree with
Hhe above statement. For essay title A, this meéans thatl you agree that only education will help and for B
that only measures such as fines will help,

Eromur rila A 2o the comn a1 ahoasam Tha 6

e bt dd= B e e s sl s
EESEY UDLD A S5 T REIME 85 o BoUvVe

< ract tnal the l.|l.Ll:-.."|l.Il..lII asks i D GENSE OF QISZETTC Mielnds 0o
difference If you are asked how far you agree and you answer not at all; then you disagree. The
organisation of B here s the same as 3A: How far do vou agree? Note, however, that the general subject
of the question here has changed. The main subject has changed from fighting an aspect of crime i.c.
anti-social behaviour through education o crime in general. It is so easy to misread essay questions and
wite the wrong answer.

Obviously, both casays in A and B are organized around the word ways and various synonyms, iLe.
dreasures, steps ¢, In answering A, vou could state that charging people for plastic bags in supermarkets
and refunding money on glass bottles is the best way to make people more aware of the damage they
cause the environment, but it is sasier o say it is one of the ways and describe other measures. This
latker option makes the organisation of the question the same as in B. The subject of essay title B is,
however, different.

The general subject in each essay title here is the same. However, the organization of each is different
In essay A, the organization is based around measurcsfways etc (How can ... 7) and bencfits. The

second essay s asking vour opinion about stiffer penalties for abusing animals and what factors are
involved in the abuse,

The general subjects here are the same, and the focus of each essay is also the same. Both essays are
organised around causes of and faciors causing the situation.

The general subjects here are the same, The only difference is that the question in A s asking you if YOl
agree (or disagree]. You then give your opinion. Title B is telling you that there is a scale 1w your opinion
and zsking you where you are: 60% for and 40% against or vice versa.

The peneral subjects of the two essay titles are very different, but the format of the presentation is the
same. In both you are given two statements followed by questions directing you 1o give comments. In
essmy title A, vou are asked o give your opinion and the suggest ways/measores eic, [n B, you are asked
if anything can he done about the situation presented, ie. violence. ... You can siate that something can
be done, followed by ways/measures etc. or you can answer the second question and state nothing can
be done and say why.

The general subjects here are again difTerent and so is the organisation of each. In the first essay, the text
is organised around either the arguments for or against, not both. Mote the word Discuss 15 asking you
to describe one or the other, The second essay is similar in that it is asking you o look at one side of the
issue in guestion, i.c. the disadvaniages.

. The general subjects are the same, but the organisation in each case is different. Essay title A is asking

for your opindon and gives you both sides 1o choose from. Essay B s organised arcund the word probless,
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Exercise 24

1. Some believe that the large number of people living in poor accommodation only stores up problems for
the future, They think that poor housing is a major breeding ground for a vast array of social as well as
economic ills. For example, on the social front, those living in poor conditions are caught in a cycle of
despair affecting both their physical and mental health, This is, in turn, a burden on any country’s resources
where the health and other services have to deal with the sitation. Secondly, an the purely economic
front, poor housing requires continuous costly repairs to the buildings, which is a further drain on resources.

2. In my opinion, the large number of people living in poor accommaodation enly stores up problems for the
future. The main reason for this is poor housing, which is 2 major breeding ground for a vast array of social
a5 well as economic ills. Take, for example, those living in poor conditions whe are canght in a cycle of
despair. The consequent effects on both their physical and mental health are 2 burden on any country’s
resources where the health and other services have to deal with the situation. Similarly, poor housing
requires continuous costly repairs o the buildings, further draining resources.

3. The main cause is the large number of people living in poor aceommodation, which only stores up
problems for the future, as poor housing is 4 major breeding ground for a vast array of social as well as
economic ills, First, those living in poor conditions are caught in a cycle of despair, which affects both their
physical and mental health and s also a burden on any country’s resources. The health and other services
then have to deal with the situation, Furthermore, poor housing requires continuous costly repairs to the
huildings - & further drain on resources.

4, My main argument is that the large pumber of people living in poor accommaodation only stores wp
problems for the future, Poor housing, to all intents and purposes, is a major breeding ground for a vast
array of social as well as economic ills. Fer example, those living in poor conditions are caught in a cyele of
despair, which, 2 a resuit, affects both their physical and mental health. They then become a burden on
iy country's resources with the health and other services having to deal with the situation. Ancther problem
s that poor housing requires continuous costly repairs to the buildings, which ferther drains resources.

Exercise 25

“ode that at each step in the maze you are making choices. Look at the different ways that the information is
wesented. At number 1, for example, look at the order of the information; Travelling is @ good example, ...
| good example to .05 traveliing.

‘v help you develop the same range and flexibility in writing, cover columns B and C. Now in your head
zad and try to transform each step of the text into one of the other texts, Now cover columns A and B and do
e same and repeat the exerclse for column C. A variation of this is 1o mix the columns. Por example, cover
a1t 1-3 in columns B and C and columns A and B for 6-11.

4 © Saen MicCarter
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Exercise 1

The words in bold below are spelt correctly. The other words are spelt wrongly in the exercise, but they are
now cormect.

dramatically motivation people experience environment government unfortunately colleague
accommaodation separate plummet their connection conscientious discreet difference difficult advantage
disappear disappointment interested dispossess disselve dissuade efficient efficiency embarrassed
dictionary unpleasant secretary comfortable counsel programme parliament interesting psychology
simultaneously house television institution inconvenience incapable forecast responsible machine
manufacture scarce scenery vehicle shicld

Exercise 2

The words in bold are spelt wrongly. Check the spelling of the other words in the Key for Exercise | or in a
dictionary, :
responsible manufacture incapible council programme eficient mashine coleague tclevision instution
Inconvenence scarse scenry motivation people experience enviroment government unfortunately conection
conscentions unplesant discrete diffrence dificult advantige dissappear dissapointment dramma tically
interested dispossess disolve dissuade efficiency embarassed dictionry secretary comfortible plummet
their parliament intresting psichology simultanously house foreast vehicle shield seperate acommodation

MNake the word discrete here and the word disereet in Exercise 1. Both spellings are correct, as they are
different words.

Exercise 3
The words bn bold below are comect-

tomorrow support should recieve proffesional

serious salary review receipt feild recommend

pronounciation photograph permanent particular

organise opportunity neighbour necessary morover

misrable judgment ioterupt interfer hebght [Judgement with an e is also cormect]

generous foreign favourite familiar extrordinary

mention excellent esential entertainment encourag

elswhere sieze therefor although thorough

% potsioe whether wonderfull vesterday atmospher

10, accarate apparatus chanel chocolate ciggaretie

1. circuit correspondance equivalent hereditry brritate

12. Febroary vegitable chimeney shoulder cronology

13. circelation - campain succesful siationry serroundings [Stationary and stationery — what is the
difference?)

14, probabilty priceless prevalent postpon pleasure

\3. phenomenon plentifull persone] persistance percieve

B9 od gk Lh b b p

Jow that you know that the words which are in ordinary type are wrong, can you cormect them? If not, check
he spelling of these words in a dictionary.

& Bam MeCames


http://ieltsdinhluc.vn/

’DOL ENGLiSH ieltsdinhluc.vn

Exercise 4
The words in beld are spelt incorrectly. Can you correct them?

Circumstance dizeaze disguis gaurantee discriminate
Disperaie hypothesis themometer metaphor appropriate
Beleive misellaneous concieve mispelling beginning
Benifil dangrous membrane ceremony droped
Circle citisen clearence traflc co-operate Antartica
Recomendation commitee commitment complementry
Consceinee science contrary arguement cultural
Technigu cynical desiceated democracy demographic
Emergenc excesive prerequisite featur ferocious

. Flight analisis gallop gratuitous genine great

A B =] L i Ik
SE R AP e

FExercise 5

1. television 1. wonderful

2. telephone 12.  beawtiful

3. bicycle 13, familiarise

4, controversy 14, family

5 ENCOUTAEE 153, information
. hazard 16,  pguldeline:

7. cndanger 17,  conscientions
8 potato 18, hopeful

9. endless 19, advertisement
10, worthless 20, education

fxercise &

I. incidence 0. marin 18, plunge
2. consequently 11, minimum 19, rocket

3. environment 12, decline 20. trough

d.  goverment 13, plummet 21. coonomic
5. inlervene 14, trend 22, cine;.ma

A, introdece 15. contrast i: g:’g”hf'}
7. largel 16, wct ! TR
£ fr;?ﬂ-:m 17, E?dﬁﬂast 23, baminess
9. magnificent

When you find words that you have difficulty remembering how to spell, you could keep a list of them
without the vowels as in this exercise and the previous one. For example, the word receive, you could add in
your list and then wrile the full word opposite:

r_G__¥_. - FECEIVE

Then you can test yourself for your own particular mistakes!!
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xercise 7
seaften’pes 1d.  various
idea 13, variety
main/pain/rain/vain/fail/sail e 14, interest
banana 15. enough
housa/mouse I6. shield/friend
eight I7.  measure
weighthetght 14, feeling
their 19, repetition/television
recaive 2. telephone

|, believe 2. economic

. available

kercise §
employes 16, pollution
sEntence 17.  confused
dictionary 18. congested
possibility 19. holiday
strength 20. thoughtbrought
patatofomato 21, oughe
library 22, daughter
language 23, exercise
policeman 24. politician
policewoman 23, permission
paychology 26, people
exhausted 27. February
EMVIFCM et 28, secretary
bicyele 29, computer
dangerous . 30 conscions
ercise 9

& words in bold were spelt incorrectly in the exercize.

The accommodation available to people in lower income groups is usually very inadequate.

A completely new suite of rooms is essential to house the new equipment.

Frequently the planning is not particularly thorough, so that when it comes to carrying out any work,
there are invariably delays.

There are not enoogh teachers to provide adequate cover in schools.

Inventions in the world of technology are now practically a daily eceurrence.

Itis hardly acceptable to expect private businesses to shoulder the whole fimancial burden,

The: remedy applied by most povernments has been to introduce swingeing cuts (o their manpower
only torehire them again at greater cost, once they realise that they have lost personmel with invaluable
BXpEfience,

Gauging the mood of the electorate requires considerable palifical skill.

Everyone has benefited from the advances in the medical field that we have witnessed in recent years,
News bulletins are now transmitted round the clock, almost overwhelming us with up-to-date
information.

5 San MeCarter
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1. The number of young people entering higher education from poor backgrounds is a shining example of
what can be achieved.

2. Once the idea has been thought threugh carefully, it will not be dong before everyone is taking it up
wisoleheartediy.

3. Professionalizm in most felds of work is now in such shont sepply that the best one can hope for is
meediocrity.

4. Appropriate measores should be taken to enswre that rioting does not take place at any sporting event.

5. Some people argue that so many old traditions have been superseded by modem or foreign ideas that
we are in danger of lesimg our national identity. _

6. Attentiom should now be focused on equipping as many tertiary level students as possible with laptops.

lote the word swingeing in number 7.

Tode that in namber 16 you can have focised or focussed.

ixercise 10
‘he unjumbled words are in bald.

Ve assoclate being rich with not having & care in the world, with comfort and feeling safe and secure.
Vealth is seen as the angwer (o the many problems in life.

[aving buge amouats of money at one's disposal is, irenicelly, a difficult problem to deal with. People are
teeped in the belief that being rich represents secarity, But does it? To protect accumulated possessions, no
watter how small the amount, seemingly countless measures are needed by the rich, and not so rich, to
rotect their propecty, The burelar sdarms and security bars on windows and doors of today, however, will
cem primitive to the security of the future. The very well-off already living in forified compounds will
ave access 1o hand/iris recognition devices o enter their property. Yet, every solution tends to bring about
nother scenario 1o be dealt with, 5o, what if the hand 13 cut off or the eve removed? The answer is make
ure the device can only recognise live irises and hands. Problem solved. No, not exactly. You can be

Idpapped. That's where the body-guards come in. But can vou trust them? Perhaps, these is only one way

o L R GARSAF R AEde At e 5 5 SRS A el

ut: if something is coansing vou a problem, the sensible thing to do iz to get rid of it!

fxercise 11
he missing words are in bold.

Aost, if not all, people have certain things that they think are impossible to do. Take dealing with domestic
hores. For some of ug, summoning enough energy o Udy our rooms or flats or son out months of paper or
» change the bed all require a lot of effort. At worl, also, tackhing even the simplest tasks sometimes seems

& insurmountable a5 more complex jobs,

o it is not exactly surprising that for many people stepping outside the limits of their experience or beliefs
i almost out of the question, Ttis difficult to change people’s habits and views of the workd. Yet, fonunately,
ere have been, and still are, individuals who have influenced mankind, because they challenged tradition.
‘ew of us dare to hold aa opinion that has no currency within the eachings we have leamnt, Belng original
mong our peers and family also seis us apart and we then become targets of jealousy or envy. To develop
m outlook that is broader than one's friends or that is just different is dangerows, but it is something, which
et be encouraged if we are to develop. Wilde said that we are zll in the gutter, but some of us are gazing
t the stars. In the modern era, will the star-garers prevail ?

+ Fam MeCarser


http://ieltsdinhluc.vn/

’DOL ENGLiSH ieltsdinhluc.vn

Exercise 12

It fis] good to make mistakes in spite of what some people might think. Many of us go through our lives in
sheer terror of doing something wrong, because we have {been] taught that every task should always he
performed correctly, This is nonsense, however. This is obviously where eaching children comes in.

A good part of the problem, I feel, lies nat with the mistakes themselves, but with labelling aspects of the
learning process as errors rather [than ] seeing them as a natural, and necessary, development. Egmg_qhmsa

in the wrong way should surely be avoided, Take children as an example. They have to fall down in arder to
learn to stand fup] again; the same applies 1o everything that they do, including mental tasks. If children at

school or at home [aref constantly harassed about doing everything comrectly, there is a good chance they
will just give up. It is possible for them then to become afraid of opening |hem5elv&-s up to the censure of
others. Yet, children need surely to make mistakes in order to see what is right and not to be constantly
snapped at for failure.

Adults learming 10 use new technology are also a case in p-mnt ’Eumpun:rr are able w check for spelling
mistukes, which is o helpful tool. And what af : : also fun? Grown-ups mey have
difficulties mastering the proess and make Tots nf mistakes. I;rut those who concenirate on their failures
rather thun acquiring the skill they are trying to learm tend to give up. By contrast, those who [are [ focused
on the wek rather than their mistakes usvally succeed.

Amnd the solution? The simple answer i to train people to treat mistakes and minor hiccups as natural steps
in the process of leaming, Teachers and trainers could point [owi] that, although stedents should aim o be
perfect, they must realise that they are going (o make mistakes and leam me them. Th:a pcrsmw a*llludﬂ
will help build confidence and stop people giving up, On a gencrs ) i ;
mistakes, new discoveries will not be made.

Mote that in English spelfing labelling is spelt with double *1" and in American a single 'I°.
Mote that in the fourth sentence of the second paragraph it is probably more precise to write stand up than
just stand. '

You can see from this exercise that it 15 difficult to look for different mistakes at the same time. While you
arz practising for the exam, look for each type of mistake separately and then gradually try to look for all the
mistakes simultaneously.

It is difficult sometimes to see spelling mistakes in a longer text as the mind is concentrating on various
things at the same time. Cne technique is to scan the line backwards checking the word for spelling rathe:
than reading it. You can also do this in a zigzag up and dowa the paragraph from left to cight or right to keft
With these methods you may not find all of the mistakes; see the word leaningflearning above, Here you
have to stop and look at the contexty

Exercise 13

It is good o make mistakes in spite of what some people [should: might] think. Many of us go through ow
lives in sheer terror of doing something wrong, because we have been taught that every task should alway:
be performed correctly. This is nonsense, however.

A good part of the problem, [ feel, lies not with the mistakes themselves, but with labelling the aspects of th
learning process as errors rather than seeing them: as a natural, and necessary, development. Take the childrer
as an example. They have to fall down in order to leam to stand ep again; the same applies to everything tha
they do, including mental tasks. If children at the school or at home are constantly harassed about doing
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everything -mtm:tty there is a good chance they will just give up. It is possible for them then 1o become

afraid of opening themselves up to the censure of others. Yet, the children need surely to make mistakes in
order to see what is right and not 1o be constantly snapped at for failure.

Adulis learning to use the new technology are also a case in point. Computers are able 1o check for spelling

mwtnkﬁ whu:h % a hl"lnﬁll tol, T!'!H' I =i I'I:hr] have diffeuities masterine the nrocsce and make lorg of

e R===a=sil= F AR L R AR, LR P AR AN S AR

the mistakes, but those who concentrate on Ihm fnl]un:a rather than acquiring the skill they are trving to
learn tend o give up. By contrast, those who are focused on the task rather than thelr mistakes tend w
suoeead,

And the solution? The simple answer is to train the people to treat mistakes and the minor hiccups as natural
steps in the process of learning. The teachers and trainers could peint cut that, although students should zim
to be perfect, they must reslise that they are going o make mistakes and leam from them. This positive
attitude will help build the confidence and stop people giving up.

Exercise 14

The corrected prepositions are in bold.

While [ have considerable sympathy with this idea, there are certain aspecis that [ do not approve of,
im 2000, people were filled with new opiimism.

. s
Tt ig mb soallu comnoilalo e smolise e dlade s secarise caaen ibais seammm Frveee
AL b3 AL DLy sadiaiihi G fLay Ui D, SR SERALICT WD iy COinc (IO

There has been considerable improvement in the way business is conducted over the past few years.

The success of any venture depends om a host of variables,

The money should not be spent on weapons but om education, the infrastructure, elc.

Owr attitude 1o work needs to change; otherwise, more jobs will be lost

While this may be an advantage lo some, a considerable number of people will see linle benefit

from i

9. Mo country should interfere withfin the affairs of another nation.

10,  Few peoplc believe that the legalisation of soft drugs is an improvement on the current situation.

Il. People's views omthe subject are difficult to gange.

12, Some people argee that there is no point in the government putting more money into public services
ufiless efficiency 15 increased.

13.  Although | object to some aspects of this argument, my views on this matter generally do not differ
from the writer's,

4. Many qualified teachers are still lacking in basic skills and training.

15, Itis well known that teenagers have enormous influence over each other.

6. There is a serious lack of qualified teachers in this field.

I7.  This is, however, dependent on certain criteria being fulfilled.

I8. People in general do not think carefully enough about the consequences of their actions,

9. Some people, by contrast, are struggling daily to find basic needs in order to survive,

20, 1largely agree with you on the above marter.

21, The government has succesded in alienating the electorate very quickly.

22, The city council needs to think about this matter more carefully before it proceeds with the
pedestrianisation of the centre,

23, The key 1o this problem is not &5 obvious as it first appears.

23 =i Oh LA e Lk b=
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Exercise 15

The corrections are in brackets [ ] and in bold.

i.

fad

6.
7.
8

9

10,

.
12,
13
14.

15.

During October, visitor] | numbers fell off their [Sjeptember [peak], [dropging] over 40,000 visitors
by the end of the year, [Note the secoftd verb in the -ing form |

The data show] | that the wend was [ebviously] upwards, [Note that the word data is plural!]

Picking up [in] 1999, [sumbers] leapt considerably. [Mote the two verbs have the same subject. If the
~ing form of the verb is first, the subject relating to both goes with the main verb.]

The improvement in [the] year 2001 was marked by [sales surging or & sales surge] to 5 million{ ]
EUrs.

[The] number of people [visiting] the musewm [rose] [approximately] 30,000 a month [throughout|
the vear 2000,

The rise [im visitor numbers] in July was gradual.

In 2001, 20 miltion[ ] copies of the book were sold.

The steady increase in atendances from 30,000 to around 45,000 in the first four month{s] [was] followed
by a sharper rise in May,

In the year 1990, sales shot [up] significantly.

The map show{s] the changes [that] took place in the area [spanning] a [period] of 25 years.

The airport [was) considerably enlarged by the [purchase] of rwo [areas] of land.

Inn 1986, an [extension] was buil(t] to the house.

[The table shows] the [percentage] of women in [government] posts in [the] years 1960 1o 2000,
[The trend was fairly ferratic], with a 2% drop to 13% in 1965,] ] followed by a [rise] of 1% five
year[s] [later). [Note the word was is not needed here, The second verb is a past panticiple. ]

By contrast, sales increased to 13%, [deubling] to 26 per cent by 1973,

Exercise 16

The corrections are in brackets [ ] and in bold.

The bar chart show{s] the [projected/estimatedianticipated ete] profits in thousands of dollars.

2. Growth [is] expected to slow [antil] 2004, after which it [is] estimated thai [§i] will even [out.]

1. By contrast, it is forecasted that the sales of computer games will [outsirip] music CDs in the [near or
put no adjective] future, [Note you can write forecasted or forecast. |

4, DIY sales will rise [fitfally], [increasing/climbing efc to avold repetition] at [the] rate of 10 percent
per month. :

5. Sales are projected 1o [stay/remain] steady for the [remaining/next) three years. [Choose one or the
other wo avoid repetition).

6. Wyers Lid is expected to make a [loss] of 2 million euro[s] in [its] first year of trading(.)

7. According to the chart, from 2007 until 2009 inclusive, the town [Is] expected to experience negative
population growth.

8  The population will fall [ | gradually over the next five years from 2010 to 2015

3, The [number of people] will grow [ ] [by] 20%.

10, As far as hotel [occupancy] rates [are eoncerned], it is expected that over the period 1he y will [exceed]
all expectations.

11. Falling [initially] by 109% in the last quarter of the year, growth in sales will pick [np] next year,

|2, Thereafier, however, the [population] growth in London [is] anticipated to be much slower,

13, After that sales went up and down wildly, first doubling to 400 units, and subsequently falling again o
the [March] level, [These] fluctuations [were] followed by [relative] stability,

14, From this level, the number of motoreycles sold [jumped] dramatically, [hitting] a peak of just under
100,

b5, This was followed by a sharp drop of about 80 % in the number of [videos porchased].
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Exercise 17
The verbs which are in boid, are in the correct place below.

Some people believe that using comics to encoursge children o read more Is not 2 good way Lo lackle the
peoblem of illiteracy. They think that the pictures discourage readers from thinking for themselves and so
wsing comics is another step in the dumbing down of the educational process, However, nothing conld be
further from the truth. Anything, comics included, which induees children, or indeed adults, to read should
he encouraged. For my own part, | was introduced to some of the classic tales through picture books
teliing stories as indeed were many of my friends. Take the example of films based on books. When such
films are released the sales of the books invariably soar. The same applies to books made into TV series.
With comics, it I8 really no different. They are just one step away from reading a book, ...

|. Sport has a wide range of benefits. 2. First, at an intemational level, it encourages people from different
‘cultures to come into contact with each ather, 3. which then helps to break down barriers between different
countries, 4. and furthers international cooperation. 5. Take [for example/for instance] amateur sports
mectings between schools and universities in different parts of the world [, for example/for instance]. 6.
Many countries arrange contacts like thisfol this kind 7. so that people at different levels in their respective
societies develop closer bonds, 8. such asflike ::u!lmral exchanges or trade links, 9. This is obviously of
mutual benefit o all concerned.

10. While some people ars reluctant to take wp any kind of sporting activity, Il. there is overwhelming
evidence that playing sport can have a very positive effect on health. 12, PhysicallAll physical activity
improves coordination and, st the same time/also increases well-being, 13, as it [Or in faed, it] helps fgh
against disease, 14. thus enhancing the quality of people’s lives,

Mates

The spieoed fo il tn fmm e mafeem s Wian mmad nonemre] thad creerl rafare baslko e ples aesed ©eaer
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The word which cannot begin a sentence like this. Note the change in puncivation after the word other.
Both parts of the sentence are equal. There is no contrast,

Mote that this part of the text is an example. It cannot stand as it is without a verb. You can add the word
forke an 10s ownoor vou can add the adverbs as shown i bold,

You need some Kind of connection between this sentence and the previous nne Can vou think of any
others?

7. Mote that the text in 7 is a purpose, not a reason. MNote thit there is no comma after the word king.

8. These are examples, not a finite list,
a

I

bl ol o

<

. The word {f is confusing here. What can it refer 10?7
0, And 11. Note that While iz a conjunction, which means that the textz in 10and 11 form one sentence
without the word however. This is a common mistake.
12, The word Acrivity on its own is too general. You need to relate Eh:scnlcm:c 1o the context, mnmhuw e
the other hand is obviously not suitable, as there Is no contrast, |
I3, This part of the text can be a reason, I you look at the original ext in Section 2 Exercise 12 you will see
it is presented as an explanation. Both are acceptable.
14. This is a result.
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Exercise 19

The text with the punciuation in the correct place is as follows:

Admittediy, employers do have the right 1o make sure that the people who work for them are ot using their
work time for their own purposes. Whilst it is impossible to deny the truth of this opinion, [ personally feel
that the invasion of an individual's privacy, by allowing employers to check on employees’ e-mails and
electronic work, is unacceptable. Employers can now track every piece of work done. For example, they can
check everything workers do on their computers: what work they have done; what games they have playved;
what they have looked at on the intermet. They can also check whether the e-mails are related to their work
or whether they are private. Surely, all of this amounts o an invasion of the individual’s privacy.

Exercise 20

15.
153
17,

18,

[

S
&

71

al.

22,

3.

24,

There are, however, several reasons why the situation needs to be dealt with as a soon as possible.
Many people evidently agree with this point of view/ these points of view,

These new toys, which come on the market at regular intervals, put enormous pressure on parents with
young children.

Few are able 1o understand the complexity of this concept, but it does not mean that it should be ignoned.
Beautiful surroundings are important for people’s sense of well-being.

The computer, whether in the field of work or in the home, is the source of as much good as it is of
harm.

Being in beautiful surroundings is important for one's sense of well-being,

Sell-awareness does not as a rule come casily o everyone,

A far as safety and comfort on public transport are concerned, there is surely no room for equivocation
on the part of the powers that be.

More attention than necessary has been devoted to this tssue already.

- In recent years, people have been more willing to accept greater stress at work than previously.
. The future of the ear industry is certainly secure, becanse people will always want 1o travel by private

iransport cather than & public system which ks at the mercy of lack of funding and poor management.

. At first glance, it would appear that all the available avenues have been exhausted, but there is a raft of

measures that can be implemented.

. The growth of e-mail and the increasing flexibility of employers mean ma ny people are ming to tele-

wotking. .

Maore than one in four of the workforce now works from home.

About two thirds of the workforce in this field are women.

We must ask ourselves whether it is acceptable for money to be poured into the arts when so many
people are living below the poverty line.

European painters such as Leonardo da Vinei, Raphael, Van Gogh etc are often more widely known
than mare contemporary artists,

The wse of mobile phones is spreading rapidly among young people.

. Politicians need to put greater effort into sorting out the mess in the education world,

Another problem here is the cost to the poor, once the measure has been introduced,

Information like advice depends largely on the experience of those that one obtains it from.

The government are now in a quandary over this situation. [Note in British English government can be
singular or plural.]

There is little to choose between the two answers,
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L The Key in this Section contains s a sselection of model answers, 21 1n total, with -

~ possible band scores. Note that the Key does not contain answers for all the

- fests. However, in some cases, there are several versions of an answer, with =
i 'Elifferfﬂ_t. _5':.:":"_1.'&.3'5 -_':-:'.;1'.;.:_ b et G S L R e B i e

el SR e, e D e
i N et oyl T .

- The possible band scores are mostly in the 6 - O range with one cxample ofa
‘band 5, All of the téxts with the exception of the Band § are free of mistakets,
Obvionsly, if any of the texts contained mistakes, this would affect the score.

Test 1 Task 1 Version 1

The bar chart shows the results of a survey of voung professionals aged 20-30, who were asked 1o state
which factors they thought gave them an incentive Lo succeed.

The faciors divide into three main growps, These are personad (both positive and negative) and external, and
the personal group is the larges: In the first group, Personal savisfaciion and Ambition are mentioned by 804
of the people who were asked and 50% of people give Desive for material things and 45% give Money. Of
the maore negative personal things, Rivelry is mentioned by 30% of the people in the sample a5 a factor tha
motiviies them to succesd, Other factors that are in this second stb-group are Feeling inadequare, Envy/
Jealousy and Fear of failure, which are given as 39%, 30% and 25%.

Turning now to the exrernal factors, the highest smount goes to Family pressure, which is stated by T0% of
the pall sample, followed by Pressure fiom sociery at 60% and Peer pressure af 45%.

It is clear that success among yeung prefessionals depends mainiy on self-molivating factors.
Word Count: 79 words

Possible Band: 7

Test 1 Task I Version 2

The bar chart shows the results of a survey of young professionals aged 20-30, who were asked o state
which factors they thought gave them an incentive to succeed.

The factors divide into three main groups, namely: personal (beath positive and negative) and external, with
the fonner being the larger of the twa. In the first group, Personal sarisfacrion and Ambition are mentionsd
by BO% of those surveyed with Desire for material things and Money being given by 50% and 45%,
iespectively. OF the mose negative personal Factors, Rivelry is cited by 50% of rezpondents as being a factor
motivaling them te suceeed, Other factors that make up this latter sub-group are Feefing inadequate, Ergy/
Sealousy and Fear af failure ;1 3%, 30% and 25% respectively.

Among the external factors, the highest rating goes to Farmily pressure, which is quoted by 709 of the poll
saraple, followed by Pressure from sociery at 60% and Peer pressure at 45%.

It is cleer that success among young FF-E.TES.EIL.U-HEI[S depends mainly on self-motivating factors,
Word Coant: 170 worpds

Passihie Band: &
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Test 1 Task 2 Version 1

The so-called *brain drain’ from poor to rich couniries is now robbing pocrer countries of essential workers
like doctors, nurses, engineers, and the trend will continue, if not to Zet worse.

Some people say this movement of people around the world is not new, People have always been attracted
by U wider choice of employment and greater Opporunity in big cittes in their own countries and abroad.
As the technological age advances, richer countries do not have encugh workers to keep up with the
development. So they tum to other parts of the world to find the workers they need. Many richer European
countries, for example, are now trying to atirsct skilled IT workers from my home country India by offering
higher salaries than they could pet st home. With globalisation, many people feel that the process cannot be
slopped,

Others like myself think that measures should be taken 1o improve the situation. For example, rich countries
could compensate poorer countries for the loss of investment in the people they have irined, like doctors,
nurses, teachers and dentisis. However, this may be diffieult toorganise, but an attempt could be made to get
i started. Another step, which has aiready begun to happen, is to use the forces of globalisation itself.
Western countries could encourage peopie to stay in their own countries by direct investment in projects like
compuier factories. Or they could send more patients abroad for treatment, as is already happening.

1t is obviously difficult to siop the movement sround the workd and it is probably foolish to try w0 stop it, but
aitermnpts should be made to improve the situation.

Woid Count: 273 words
Possible Bapd: 7

Test 1 Task 2 Version 2

The so-called "brain drain” from poor o rich countries is now robbing poores countries of essential personnel
like doctors, nurses, engineers, and the trend is set o continue, 1f nod o zed worss,

Some people say this movement of people sround the world is net a new phenomencn. Migrant workers
have always been attracted by the wider choice of employment and greater opportunity in major cities in
their own countries and abroad. Recentiy, as the technological age has advanced and as richer countries fing
themselves with not enough workers to feed their development, they have had to turn to othes parts of the
worid to find the necessury manpower, Many richer Huropean couninies, for example are now trying o
attract skilled IT workers from my home country India by offering higher salaries than they could hope 10
earn af home, With the giobalisation of the world cconomy, many people feel that the process cannot be
stopped.

Others, myself included, are of the opinion that messures should be taken to sddress the problem, by
compensating poorer countries financially for the loss of investment in the peeple they have irained, like
doctors and nurses. Admittedly, this may be cumbersome to adminisier, but an attempe could be made to et
itoff the ground. Another siep, which in part has already begun to happen, is (0 use the forces of globalisarion
tiself. Western countries could encourage people to stay in their own countries by direct investment in
projecis like computer factories or by sending patients sbroad for treatment, as is aleady happening.

fi iz obviously difficuli 1o restrict the movement of people aroand the world and it is probably foolish to try
10 stop it, but attempts should be made o redress the imbalance. :

Word Coent; 201 words
Presible Band: 0

5 Ram Mol srter 157


http://ieltsdinhluc.vn/

’DOL ENGLiSH ieltsdinhluc.vn

Test 2 Task 1 Version 1

The chart shows the results of a survey of theatre-goers about what anpoys them most during a theatre
performance.

As can be seen from the diagram, there are two main groups of irmtants: thase which are related to noise and
non-noise imitants, and of the two the second is the larger. Rustling sweet papers is the most irritating actios
for 90% of those in the sample, and Ceowughing is the next at 75%. Whispering comes next at 60% and
Sneezing at 45%. In this group, Snoring is mentioned as annoying to 30% of those in the sample. Mobile
phones annoy 505 of the people and Bigeps 40%,

As for non-noise irritants, Arriving lafe at TO% is the main one. The next highest in this category is Tall
people who disturb 30% of those in the sample and Big hairdos next at 23%, Flash phorography disturbs
25% of theatre-goers, but the lowest in this group 15 Armrest hogging at 20%,

Word count: 159

Posaible Band: 7

Test 2 Task 1 Version 2

The chart shows the results of a survey of theatre-goers 25 to what annoys them most during a theatre
performandce.

As we can sec from the diagram, there is a number of irritants for theatre-goers. Rustling sweet popers is the
most irritating action for 30¢% of the people who were part of the survey of theatre-goers and Coughing i3 the
next highest at T5%, Whispering comes next at 60% and then Sneezing ar 45%. Of this group, Snoring is
annoying to 30% of the theame-goers. Mobile phones annoy 50% of people and Bleeps annoy 40%. These
are all aboul nose,

There are also some irmitants in the survey of theatre-goers that are not about noise. Arriving late at 70% is
the main one, The next highest in this growp is Tall people who disturb 30% of the theatve-goers and Big
hairdos is next at 239, Flash photography irritates 25% of people, but the lowest in this group is Armirest
hogging at 20%. '

Word couni: 162

Possible Band: 6

Test 2 Task 2

The criticism that alternative energy sources such as wind power ete. cause a8 much environmental damage
as fossil fuel has some justification Some people, for example, are strongly against the use of wind power.
Indeed, the large wind farms in some European countries have come in for strong criticism and not just from
environmentalists. They are very ugly, even if they are in the sea far away from the coast. Bumning household
waste for fuel also causes problems, because of the harmful fumes that are the by-product of the process. So
while the amount of waste put into landfill sites is reduced thus preserving the environment, the air is being
pelluted instead! However, in my opinion, such sources need to be encouraged as a means of replacing fossil
fuel as they have considerable advantages,
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First of all, 25 the technology for using altemative sources of energy 13 becoming more and more sophisticated,
any harmful by-product will be minimised. Moreover, the cost of producing the necessary equipment will
decline. Take solar energy, for example. In the past, the panels that were needed to utilise energy from the
sun were huge and not very environmentally friendly. Now, however, the same panels are small encugh not
to ke noticed or are made to look fike say roof tiles or normal parts of vehicles. The same will apply to wind
farms as the giant wrbines become smaller and less obvious,

Energy from water also comes in for a lot of criticism. This has come about from the many high profile dam
projects around the world where huge areas have been destroyed both for people and local flora and fauna.
However, it is a safer alternative (0 nuclear energy and a price that has io be paid.

Whilst any form of encrgy that we seek 1o utilise is going to cause some damage, [ feel that wind, sun and
water have to be harnessed for the good of the environment.

Word count; 325
Possible Band: 8

Test 3 Task 1 Version 1

The chart shows the value in dollars of three companies selling farming equipment every five years from
1960 until 2000 and their projected value up to 2012,

Greenacres Lid increased its value by more than double between 1960 and the vear 1990, The value rose
from 2 million dollars o over 4 million dollars. The value dropped by about 25% by 1995 and thken by
another million by the year 2000, Then it was valued at 2 million dollars. The trend for Carsons Limitted was
steady and upwards with fluctuations and it doubled its value from 500,000 dollars to one million dollars by
2000, Farm Implements Lid, existed for the first time in 1980, However, by the year 2000, its value was
about 2 million dollars, which was up from its valoe of 1 million dollars in 1980, Farm Implements Lid, will
increase in value gradoally until 2012

Greenacres Lid and Carsons Lid will both increase in value until 2012 and Greenacres Lid will recover to
the peak of just above 4 million dollars in 1990, And Carsons Lid is expected to continue its increase to a
value of I.5 million dollars by 2012

Wiord count; 194

Poszible Band: &

Test 3 Task 1 Version 2

The chart shows the value in dollars of three companies selling farming equipment every five years from
1960 until 2000 and their projected value up to 200 2.

Whilst Greenacres Lid nore than doubled in value between 1960 and the year 1990, rising from 2 million
dollars to just over 4 million, the value dropped by approximately 25% by 1995 and then by another third by
the year 2000, when it was vatued at 2 million dollars. In contrast, the trend for Carsons Limited was steadily
upwards with some fluctualions and a dowbling in value from 500,000 dollars to one million by the year
20060, The third company, Farm Implements Ltd, was not sot up until 1980, However, by the year 2000, its
value stood at approximately 2 million dollars, doubling from its 1980 value of 1 million, Farm Implemenis
Lid, iz expected 1o increase in value gradually until 20072,
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Until 2012, Greenacres Ltd and Carsons Ltd are both expected to increase in value with the former recovering
to match the peak of just above 4 million dollars last seen in 1990, Similarly, Carsons Lid is set to continue
its steady increase reaching a valve of 1.5 million dollars by 2012,

Word count; 200

Test 3 Task 2

The debate about how to assess students at university has been raging as long as such institutions have
existed. In one group are those who believe that the only sure way to test the ability to study or achievement
is through formal examinations,

The increased use of the internet has shown the difficuily that teachers have in assessing their students’
course work, Students can download vast amounts of material from the web. In fact, it is impossible for a
teacher o know whether the student did, in fact, do the work himself, The student may have done part of the
work for a project, but it is difficult for the tutor to assess the student properly. The problem then is that if the
teacher ignores the possibility that the sdent stole the ideas from somewhere clse. a body of workers will
be produced who are not really up to the job.

in the other group, are those who feel that formal written exams are wrong and that assessment should be
continuous throughout & course. There are students who do not perform weii undey pressure in exams. They
may know the information that they are ssked to write about very well, but may not be able to perform. So
it would be wrong to destroy someone's career just because of this, Furthermore, the numbers here are not

inzignificant, s0 the effect on the job market would be high.

The answer, [ feel, lies somewhere in the middle, A university degree should be based on a combination of
both forms of assessment. The proportion of marks given (o each type of assessment could depend on the
nature of the course. For example, a particular course, say an MA, may be more research based work, which
would be better assessed by course work like essays etc, In this case however, it is still wise to have an
exarmination like an oral or a viva where the swdent is examined in detail about the content of what they
have written.

Woard count: 336 words

Possible Band: 7

Test 4 Task 1

The table shows the percentage of pupils who secured places at higher educational establishments from
1995 to 1996 inclusive.

Of the five schools, Harble Secondary made the most significant improvement, with the percentage of
higher education entrants increasing from 30 to 80 students by the end of the period, Greystone High, on the
other hand, which sent three times the number of entrants on to higher education as Harble Secondary in
1991, experienced a significant drop in percentage terms to 40 in 2001,

The other three secondary schools followed similar patterns with numbers from Fairfield Girls on the rise
fmﬁm??mdﬂmmhnd:myc]inﬁn;ﬂ-nmmmﬁﬂﬁmmm
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Crackend Boys was the only school where the number of entrants to higher education remained approximately.
at the same level throughout the period, ending up just two percent in 1995,

-

Generally speaking, four out of the five secondary schools increased the number of pupils they sent on to
higher education over the period.

Word count: 166 waords

Possible Band: 7 [Note that the data in the deseription is factually incorrect. If the data were corrected, it
would be a possible Band 9. Does the table give numbers or percentagesT]

Test 4 Task 1

Travelling like everything has two sides, For some peopie, it enly serves io confinm their prejudices, whereas
for others it acts as a means of education and broadens the mind.

First of all, visiting other countries abroad can help people of all ages learn languages, so that they broaden
their experiences. For example, leaming a language in the country in which it is spoken is very different
from studying it in one’s home country. For myself, coming to this country has enabled me to improve my
English and meet new friends, Similarly, while moving around a cooniry, travellers can learn about the
geography and local culture rather than relying on books or other media as sources of information. For my
own part, having first hand knowledge of the United Kingdom has been invaluable. T understand the culture
more and can make decisions for myself rather than have them made for me by other people.

Unfortunately, there is a downside o traveliing. People frequently feel nervous when they travel, cither
through excitement or through anxiety about what is to come. In such circumstances people tend Lo be more
crifical of the treatment they receive. How ofien has one heard: where | come from it isn't done like this or
we do it this way? It is hardly surprising that this happens when the same thing occurs with people visiting
others in different parts of their own country. Think what happens when people get married:

sill continte to ennch the minds of soime, bul, unfortunately, i

rs. This is human nature.
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Word count: 265 words

Possible Band: 7

Test 5 Task 1

The diagram shows the results of a survey carried out on a sample of 1,000 people on the different sources
of mose, which are a nuisance.

The information may be divided into four categories according 1o their degree of annoyance. There is nothing
in the Mot annoying category. Four sources of noise fall within the largest category, Extremely annaying. Of
these, the noise source which people found the meost imitating was Barking dogs, followed closely by DIV
and then Mobile phones. The least annoying cause of noise in this group was Music.

Moving on o the second category, Very annoving, il contains two items: Radies and Aeroplanes with the
first causing more of a disturbance than the second.
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In the third category, Annoying, it can be seen that TVy cavse more of a iaisance than Radios, As for Pianes,
they were considered as only being Fairly annoying by those in the sample.

It is clear that Barking dogs is the most annoying noise source,
Waord Count: 164

Possible Band: 7

Test 5 Task 2

Throughout the world, the populations of the major cities are increasing at a fast rale and where land for
building is not available, there is enormous pressure 1o baild upwards rather than sideways.

The main advantage of building higher buildings is that they can take the pressure off the need to build just
outside large cities, thus preventing the spread outwards and the destruction of the countryside. In smaller
countries, land is very expensive and so it makes sense o build npwards. In London, for example, property
prices are rising rapidly and will continue to do so for vears to come unless more homes are built, Both
options, building in the greenbelt around the city and constructing skyscapers are controversial, but tall
buildings are the less damaging aliemative.

Another benefit is more accommadation and workspace inside cities, as it shortens the distance that people
have o travel to work. Stress is reduced by this and people feel healthier. Moreover, as it is possible o
provide more accommodation in a smaller ground space by building upwards, the cost of living is cheaper,

However, some people are against the idea of building skyscapers to solve the lack of space problem. High
blocks of flats in the past have been the source of a lot of social ills. People feel cut off from the environment
and feel better if they have a garden, however small. People also object to tall buildings, because they feel
trapped in them and they worry abowt escaping if something goes wrong. Although [ undersiand the
reservations that people have, I feel that it is better to preserve the couniryside and build upwards rather than
sideways.

Word Count: 277
Possible Band: 7

Test 8 Task 2 Version 2

MNowadays the populations of the major cities are growing fast. Where there is no land for building, there is
big pressure to \build up and not sideways.

The first benefit of bullding higher buildings is that they reduce the need to build outside big cities. This
stops the spread outwards and stops the destruction of the countryside, In smaller countries, land is very
expensive. It makes sense to build upwards. In London, for example, property prices are rising rapidly and
will continue. More homes need to be built. Building in the greenbelt around the city and building high
buildings is controversial, but the tall buildings are less damaging.

Another benefit is more accommodation and workspace inside cities, It shortens the distance that people
have to travel to work. Stress is reduced by this and people feel heaithier. Moreover, it is possible to provide
move accommaodation in a smaller ground space with tall buildings and so the cost of living is cheaper.
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But some people are against building skyscapers to solve the lack of space problem. High blocks of flais in
the past were the source of a lot of social problems. People feel separate from the environment and feel
better if they have a garden, even if it is small. People also do not like tall buildings, because they feel
trapped in them. They also worry about escaping if something goes wrong. I understand why people do not
like tall buildings, but | feel that it is better to keep the countryside and build upwards.

Word Count: 255

Pas=zible Band: 6

Test 6 Task 1 Version 1

The maps show the changes in the size and in the value of the land per hectare of West Farm over a period of
90 vears from 1900 (o 1990,

In 1900, the arca covered by West Farm was 5,000 hectares and the value of one hectare was one dollar, By
the year 1925, while the size of the farm was 850 hectares, the value of the land had leapt wo 20 dollars a
hectare, which gave a 1otal of 17,000 dollars. Fifteen years later, however, the farm had increased in size to
1,700 hectares, but the value of & hectare had only increased by 25% to 25 dollars. The properiy was,
nevertheless valued at 42 500 dollars.
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The size of West Farm had jumped to 3,500 hectares by 1990 with the valee per hectare climbing by 25% 1o
| 25 dollars, totalling 437,500 dollars.

It is clear that the value of West Farm increased significantly over the period.
Word Count: 191 words,

Puossible Band: 7

Test 6 Task 2

Mowadays woods and forests in all countries in the world are losing trees as more land is needed for building
and farming and more wood 15 needed for the construction industry, for fuel and for paper. However, we

need trees and plants to provide us with the oxygen we breathe. So the destruction of trees is a threat o our
survival.

The matter is not just in the hands of governments and big companies. The solution to the problem is one of
parinership between governments and big companies and ordinary individuals. Take newspapers, for example.
Newspapers are made from paper which comes from wood pulp. However, there is little need for them to be
made todally from wood pulp. In fact, in many cases, papers are now made from over 60% recycled paper.
This has come about through pressure from the government to encourage recycling and from the
environmentalists made up of individuals. Stricter controls could be placed on companies to ensure that the
remaining 40 percent comes from more recycled paper and from forests that are renewed. However, the final
responsibility here is on individuals to put pressure on the governments and big companies and in the end 10
collect paper for recycling,

& Sam MeCaner 165


http://ieltsdinhluc.vn/

’DOL ENGLiSH ieltsdinhluc.vn

A very simple measure is for individuals, groups like schools and companies o sponsor the planting of new
trees, Whea a lot of people come together in this way. it can be very effective. Trees could be planted in
schools and children could be taught to look after and care for them By appreciating the value of trees,
voung people will learn to respect them more and, therefore, not want 1o destroy them.

It is, therefore, clear that individudls hiyve as much a part o play as larger organizations in préserving
wondlands and forests.

Waord Count: 298

Possible Band: 7

Test 9 Task 1

The graph illustrates the actual and estimated visitors to a new art gallery between 1990 and 2001 and the pie

charts give their satisfaction rating of the gallery in two years 1990 and 2001,

It was estimated that visitor numbers would be just under 500,000 in the first year rising gradually to doonble
that number by the end of the penod. While there were some fluctnations in the actual number of people
visiting the gallery, attendances more than doubled from 1.5 million to just under 3.5 million in 2001.

Yisitor numbers were influenced by three events duning the period. In 19291, the director of the gallery was
sacked with numbers dropping from approximately 225 million in 1991 © under 2 million the following
year. By 1954 numbers had dropped to their 1990 level, when they started Lo nise. In 1995, when a new shop
opened, numbers had gone up to almost 2.5 million. By the time the new director was appointed in 1995,
numbers had rezched 3 million. After that thev slipped back, but then rose again.

The pie charts show that the Sanigfaction rating for the gallery increased from 309 to T0% between 1990
and 2001 )

It is clear from the graph that the actual number of people who visited the gallery exceeded expectations by
a wide margin.

Wird Count- 219

Passible Band: 7

Test 1() Task 1 Versiom 1

The graph shows the satisfaction rating of the staff in four colleges from 1991 to 2002

Of the four institutions only one, College C, improved its rating significantly over the pericd from just
helow 29%, the lowest rating, in 1991 to 80%, the highest rating, in 2002, Between 1991 and 19935, the
rating for College C hovered below the 30% level, falling to a low of just over 104% in 1993, In 1999, the

rating rocketed to just under 70%, rising gradually thereafter to finish the period at 80%.

The satisfaction trend for College B over the period flucteated. but was still upward, climbing from just over
50% in 1991 w0 70% in 2002, College A, by contrast, showed a gradoal decline over the period from a 60%
salisfaction rating in 1991 to 40% in 2002, Similarly, the fourth institution, Coflege D's rating after hovering
around the $0% level aneil 1997, declined gradually to 20% by 2002,

Word Count: 156,
Possible Band: 7
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Test 10 Task 1 Version 2

The graph shows the satisfaction rating of the staff in four colleges, College A, College B, College C and
College D from 1991 to 2002,

Only one college, College C, incressed its rating over the period from about 29%, which was the lowest
rating in 1991 1o B0, which was the highest rating, in 2002, Between 1991 and 1995, the rating for College
C stayed below 30% and fell to a low of just 109 in 1998, In 1999, the rating of College C rose to just under
T, and it rose gradually to 80% m 2002,

The satisfaction rating for College B aver the period went up and down., It was still upward. It climbed from
Just over 50% in 1991 to T0% in 2002, College A went down gradvaliy over the period from 60% in 1991 o
40% in 2002, The fourth institution, College D, stayed around 40% until 1997, and then it went down
gradually to 20% by 2002,

Word Count: 162,

Possible Band: 6

Test 10 Task 1 Version 3

The graph show the satisfaction rating of the staff in four colleges, College A, College B, College C and
College Id from 1991 o 2002,

Ome college, College C, increased rating over period from about 29%, which was lowest rating in 1991 1o
80%, which was highest rating, in 2002. Between 1991 to 1993, rating for College C stay below 30% and
fiell to low of just 10 in 1998, In 1999, the rating of College C rised to just under T0%, and it rised gradualy
o B0 1n 2002,

Satisfection rating for College B over the ]'n:rind go up and down. 1t was still upward, It climb from just over
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college, College I, stay around 40% vntil 1997, and then it go down gradually 1o 205% by 2002,
Word Count: 151,

Pogzible Band: 5

Mote that this version comtaing mistakes. Can you find them?

It i= better for you touse these sample answers as standards against which to measure your own writing, It is
pointless learning them by heart and then trying to fit parts of them into answers in the exam.
S
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